Man - Mercedes
Knorr Sensor Test Cable
Testing Device

Scania
Test Cable

Brake Caliper Repair Kits

ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES.

www.mycaliper.com




MYCALIEeR

Brake Caliper Repair Kits

ABOUT US

AY-SAT OTOMOTIV NAKLIYAT GIDA ITH. IHR. LTD. STI. was founded in 2009 and it is manufacturing Brake Caliper
Repair Kits for heavy vehicles with european quality like KNORR, MERITOR , WABCO, HALDEX , BPW ,SAF , Z-CAM
IVECO, BREMBO, HYDRAULIC, CARRIER, SENSOR CABLES and CALIPER CONNECTING BOLT.

Over time by performing innovation”MYCALIPER” become a biggest brand in automotive sector. Standards of

AY-SAT are confirmed by ISO-9001:2008 / CE & GOST quality certification.
AY-SAT OTOMOTIV NAKLIYAT GIDA ITH. IHR. LTD. STI. exports products worldwide and customers are always

satisfy with it's Quality, fast shipping and assurance in products.

MISSION STATEMEN

Providing sustainable benefit to our customers thanks to the innovative business models in which we integrated
the technology abd our powerful human resources in our sector.
1. To carry out our manufacture on time without any damage or fault.
2. Toincrease customer satisfaction continuously.
3. To carry out improvement activities for an increase in performance throughout the service delivery process
4. To improve Quality Management System continuously.

* Relaibility

* Fairness

* Honesty

* Creativity

* Service Orientation

* Sensitivity to the Environment

* Team Spirit

* Respect for Humans

VISION

To be the most preferred brand in our sector, creating a difference with our service, quality and strives for the best.

www.mycaliper.com




o ®
AY-SAT Otomotiv Nakliyat Gida ith. ihr. Ltd. Sti. m H G " I | I'. e “
[ |
—

Brake Caliper Repair Kits

SERT' Fi KA ‘Eﬂ_;\.ﬁ.ﬁ'asis CE

EC Declaration Of Conformity

Manufacturer / Oretic !
AMICALIrER

Caliper Repair Kits
AY-SAT OTOMOTIV NAKLIYE GIDA [TH. IHR. LTD. §T1.
Dopargacilar Bit Fatih Mah. Komy Sokak, & Bok, No 28, Selgsiu¥onya TURRVE
Tol: +80 332 234 20 20 - Faks-+90 332 234 20 27
wib: WwWw myCcalioer. com - & posta: m miycaliper. com

Beyan ederiz ki,
We herenusich declure,

that the following Brake Caliper Repair Kits complies with the appropriate
basic safety and health requinements of the Autemative Directive 71 f 320 / EEC
Directive based on its design and type, as brought into circulation by us. In cass
of alteration of the machine, not agresd upen by us, this declaration will iese its
walidity,

agadiida tanrmlanmes bufunan Hawval Fren Sistemberl-Valfler pazara siriioigo
haliyle, Déomotiv Direktifi 71/320/EECnde tamimianan tamel &adlk ve givantik
Ihbivaclanna, tasanm ve tp olarak vpguoivk saflamaktad. Bizce onaylanmanmis
montef degisikiiklen halinde, be uyguniuk beyannamesd geceriigi kaybeder.

Brake Caliper Repair Kits
Fren Kaliper Tamir Takimlan

And that the standarts referencod bolow have been applied.
Asafudaki standartiara gice uyumbistindmeptir.

= TS 10790 - Road I
Karayolu Tagitlan-Havah Fren Sistemleri-Valfler

Sertifka Nos TH -9 91
Corrifivsy No
Brate: Augusi 36, 3001

B s b vty L Pyt e s T g T
T s o o 3 ] e (s R

CHCTEMA CEPTHOURALNH IrocT P
‘III'.UI‘LIMII e v\I‘l‘lll\'lIllJ IllJ Il'.\lill‘ll‘l IilN) I’f Y THPOBAHHHR) I METPOUIONHH

wage. CEPTUOUKAT COOTBETCTBUA

b N POCC TRANELIWTIN

CERTIFICATE oo e e

orrau o cn-nw:nmumi per. % POCC RU0NLLTADS L
CEFRIIC
56402 mwmmnmmxmaﬂm&mm
napest D, IH599, 1. Mockan, y1. Kpacnunsposan 2. 74 kopa 2, now. X11.
mlﬂﬂﬂl“lﬁm[‘”ljﬂdl-ﬂ

This certificate was glven to the below stated company by UBEM intemational Certification

Audit Traning Cent. Ind. Co. Ltd | JZ’-QAm 1¥-Mmmwta“m*rnlﬂlnmmlmmm
SEIUTIN, SEAETIT, UEATTIN, SNATIY, (AT, D80T, ORITAL, BUTAN, DMITA, RAIAL, 08SET4, BN,

mucmeren AY-SAT Otomotiv Nakliyat s e o e A S R
SEARNE Gida ith. ihr. Ltd. Sti.

Otopargaciar Sitesi Fatih Mahallesi Koray Sokak A Blok No:28 Selguklu
KONYA [ TURKIYE

I1S09001:2008

Scope: Manufactune, export and Import of Butomotive spare parts, brake caliper repair kits, MW ks Bk Dhr. s S0
prodisction of pors containet and calss of spate parts (lof mining. geology and sxcavation companies)

wow, DK 008 [ORTT)
A

COOTBETCTEVET TPERORAHMAM HOPMATHRHLIX ADKVMEHTOR
Umaietp s n sassna-arrerTmnrE won, TH B3,
AN 20 W

Fhlove: 239 CEPTHOHKAT BRAAL
TAYEAT Odarnatly Nokdiyal B B KA ST, Typuse
o, o

SELOURLLKONTA -TURKIVE
Certification Audit D 04.02.2014 ey

ertification Au ate e
Decision Date 07.02 2014 m&wm‘:‘wwwmum
Reissue Date 03.02.2017
Expiry Date :D6.02.2018

UBEN intarmatona | Centfieation HREL G‘
Audis Training Comt. ind. Co, Lit UDEM ACHOAHITTEALHAL HH POPMALIHA

ey, UDEW MTIMATion s ChTTRERnnn At Tipsssng Conl W=t Co. UL cartn IRt tha alimwe Btated (Ve Nave 108 sssecprints

EITETE BItE WCESTIENG 10 1he esoremesti of the ebaw ferderd TR cortficaie & el for | yeer since e decwiee sete s
AT 81 19 TVTIE 8 PRI TATVBIEAS et LPeriiRis it 8% 3 e 2us The saidiy f S corticat ca e chached Tl e v
Fin smrtificans i the premerty of UDEW interational Carttizasne Al Tryiming Cont g | ¥ < || Pymonoynreas vprasa 100, ¥

e it coom i, wew laiaes eraive ]
[T T T p— e

Addrews: Mttt Mghabrs: 2073 Souak 1S 53 okak) Mo 1S Carbas - hsdary - TURKEY Icuepr MG Fuayten
T 55 112 441,13 50 s s S 311 44303 18 t Ea-hrup

o ADBECHINL Wt . o
- CPTHAIAT Wi TRANERTeTeR npi Sfaarea LAt copTRdumEaTsng

ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES.

www.mycaliper.com



m (ONTENTS m——

CROSS REFERENCES 1 _21 1. Knorr Cross References .........cceeevceeeeevcnnne. 1-3
2. Meritor Cross REferences .........occeeerevsiennnes 4-8
3. Wabco Cross References ........ceeeeeeeceenane. 9
4. Haldex Cross References ........eeecceecenerennn. 10
5. Bpw Cross References .........coveveveeeeenenieenennns 11
6. Saf Cross References ..........ceeeeceveceeevsieninn 12
7. Hydraulic Caliper Cross References .................... 13-15
8. Iveco Cross References ..........eneereeeneeerenenns 16-18
9. Z- Cam Cross References .........c.ceveveeeneeereneens 19-21
KNORR 22_1 52 L. KNOIT SB5 TYPE ..o 22-33
2.KNOIT SB6/SB7 TYPE ..o 34-63
3.Knorr SB7 Radial TYPe ......covveveerrerrrrreieieieeens 64-85
4.Knorr SL7 (KO17549M2-M1) TYpe ..covvvvvevrnnn. 8690
5.KNOIM SM7 TYPE vt 9197
6.KNOI SN5 TYPE .o 98-106
7.Knorr SN6/SN7/SK7/NA7/ST7 TYPE ....cuveeee. 107-130
8. KNOIT BENIX ..ot 131-132
9. KNOIT CAITIEIS ..o 133-138
10.KNOrT CabIES ..o 139-143
L1 KNOIT SELS ..o 144-152
MERITOR 1 53_360 1. Meritor B DUCO TYPE ...ovveveririeeeeicseees 153-160
2. Meritor C/LE DUCO TYPE .o 161-170
3. Meritor D Duco AXial TYPE ....cccvevvververereerereinne 171-181
4. Meritor D Duco Radial Type......ccccoeevervevereernnnee. 182-191
5.Meritor C Lisa TYPE ....veveeereeeeeereeceeeeeeeeeseeseneenas 192-198
6. Meritor D LiSa TYPE ..vceeeeveeeeeeeeeeeeeeee e 199-204
7. Meritor D3 TYPE ..o esesesens 205-221
8. Meritor DX 175 TYPE ..veveeeeeeeeeeeeeeeeeeeereeenes 222-233
9. Meritor DX 195 TYPE .....oecveeeeereereeeeeeeeeeeseeienans 234-247
10. Meritor DX 225 TYPE .o, 248-262
11. Meritor Elsa 1 Radial/Axial TYP€ ....ocovvevvrveerenee. 263-285
12. Meritor Elsa 2 Radial/Axial Type ......ccccccverennn.. 286-304
13. Meritor 195/225/EX225 Radial/Axial Type ....... 305-320
14. Meritor Carfiers .....oeeeeeeeeeeeseeseeesesses o 321-323
15. Meritor Cables ..., 324-329
16. METItOr SELS ....oeveveeeeeeee e, 330-360
WABCO 3 61 _429 1. Maxx 22T (SCHMITZ SCB430W1) Type ......... 361-366
2.\Wabco Maxx 22 TYPE ...coeeveereeeerererreeierienseeres e, 367-375
3.Wabco Pan 17 TYPE ....cuveeeeeeeeeeeeeeeeeeereeenienn. 376-387
4.\Wabco Pan 19-1/22-1 TYPE ..o, 388-399
5.Wabco Pan 19-2/22-2 TYPE c..ovveeeeeereererernn. 400-409
6.Wabco 1000 V-G TYPE ..ovveeeeeeereeeeeereeeereeeneenn. 410-412
7.\Wabco 1300 V-G TYPE .o, 413-414
8.Wabco Carriers ..., 415-419
9. WabCo SEtS ... 420-429

www.mycaliper.com



HYDRAULIC CALIPER

IVECO

Z-CAM

SENSOR CABLES

CARRIERS

539-558

559-597

598-605

606-615

616-643

1. Haldex Mark II-11l (2-3) TYPE ...cooveeveriererrieeeae 430-441
2. Haldex Mark IV (4) TYPE .c.cueveeereerreereeeeeee. 442-453
3. Haldex Modul X-Gen 1 TYpe .......cccoevevererrerecnane. 454-465
4. Haldex Modul X-Gen 2 TYPE ....ccvvveveeererrerereanns 466-475
5. Haldex Modul X-Gen 1 Other Type ................... 476-482
6. HaldeX Carriers ... 483-484
7. HAldEX SELS ... 485-488
1. Bpw TSB 3709/4309 9 Ton (With Pin) .............. 489-497
2. Bpw TSB 3709/4309 9 Ton (Without Pin) ........ 498-507
3.Bpw TSB 4312 12 Ton (With Pin) .....ccccceeueneece. 508-516
4. Bpw TSB 4312 12 Ton (Without Pin) ................ 517-524
5. BPW SELS ..o e 525-527
1. Saf SBS 2220 (Modul T-Haldex) Type ................ 528-536
2. Sl SEES e 537-538
1. BrembO s 539-548
2. Meritor HydrauliC .........cvvevevveereeeeeeeeeeeeeeces 549-558
1. Iveco 360 Perrot Series........cceeveeernrenreneennen. 559-563
2. Iveco 394/381 Duplex Series.........ccocveeeeeernnne. 564-571
3. Iveco 410 DUPIEX SEMES ....c.cvvveeeevererrerereriseaenans 572-580
4. Iveco 410 Perrot SErES ......cveeeeeenenrensereennes 581-588
5. Iveco 410 Simplex Series ........coeeeeevcereerreennns 589-597
1. 7-Cam SEIIES ..o seessesseees 598-605
1. KNOrr Cables ... 606-609
2. Meritor CabIes ... 610-615
1. Knorr Caliper Carriers .......coeveeeeeeeeeeeeeeeenaa 616-622
2. Meritor Caliper Carriers ......eeeeeeeeeeereenne. 623-627
3. Wabco Caliper Carriers ........ccceeererereerrerernns 628-633
4. Haldex Caliper Carriers .......cooereeeeerreenneernnnen. 634-636
5. Saf Caliper Carfiers .......ceeneseeieseseeees 637-638
6. Caliper Connecting Bolt ........cccovveeieirieeieinne 639-643

www.mycaliper.com



KNORR
MERITOR

WABCO

HALDEX

BPW

SAF

BREMBO & HYDRAULIC
IVECO

ECAN MYCALIPER
REFERENCES

AY-SAT Otomotiv Nakliyat Gida ith. ihr. Ltd. Sti.

ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES.

www.mycaliper.com



s KNORR CROSS REFERENCES

(1))
MYCALIPER

KNORR

MB

MAN

SCANIA

NEOPLAN

MY-100101

K001929

000420 4282

81.50822.6027

MY-100102

11369100062

000420 1282

81.50822.6009

1390427

1142142

93162048

11015565

11339680062

2121643

1198153

1198154

1448915

MY-100102-1

11328090062

2121642

09.801.02.58.0

85317002100

09.801.02.88.0

85317002200

MY-100103

K001532

1472919

09.801.06.31.0

MY-100103-1

K001274
K002716

MY-100104

K001301

81.50822.6025

1439494

2121839

MY-100106

11368470064

2121840

1448910

3434380100

MY-100110

2001548

HENDRICKSON
5-29152-5

MY-100115

11179320065

1390429

11304130065

MY-100116

K000944

000420 0682

81.50822.6007

1743421

1448913

93162050

09.801.02.63.0

3434380400

K010604

000420 3982

81.50822.6022

1746824

1623221

85317002 800

000 420 4882

81.50822.6032

1756389

1759811

1723414

2121859

MY-100117

K000375

000420 2982

81.50822.6023

42538002

09.801.06.24.0

MY-100117-1

K048371K50

81.50822.6036

2121648

MY-100118

K000696

0024200383

3434380500

11310370066

MY-100122

K000935

3434380200

MY-100123

11358510062

0004201182

1415149

050 121 1047

1415154

1415515

MY-100124

11179320062

050121 0167

B230397

MY-100124-1

11197330062

MY-100125

K000132

000420 2182

1390426

000420 1082

1798063 - 2121644

MY-100126

1139769F0063

34343806 00

MY-100126-1

11328090061

001 420 5283

81.50822.6008

1415150

1448914

93162049

09.801.06.11.0

MY-100127

1139769F0062

2121645

42537451

MY-100128

K000133

000420 2582

MY-100135

(73158

MY-100139

K017707
K000472

000420 3482

81.50822.6019

1723416

42541412

09.801.06.33.0

3434381200

MY-100139-1

K067417K50

2064260
2292232

3434382000

MY-100140

K001915

000420 4682

81.50822.6034

1477675

1639100

K048389K50

81.50822.6037

1527631

PAPALT

MY-100143

2002965

MY-100144

2002881

MY-100144-2

2002881

MY-100146

K100259

1480809

K000250

www.mycaliper.com

1480810

ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES.

1

REFERENCES

CROSS




KNORR CROSS REFcRNCES mummmme

CODE
WLpER | KNORR MB MAN SCANIA NEOPLAN OTHER

ENTROLINER
Left K100190 | BUS CITARO | L81.50804.6657 |BUS 3 4 SERIES CENTROLINER OMNIDERKA
. BUS LIONS CITY A25
Right K100189 s

REFERENCES

CROSS

MY-100146-2

EVOBUS
CITYBUS A20 S3

MY-100161 | K046523K50 |000423 0316

K001300 0004202382 81.50822.6020 | 1723417 |1616894 HENDRICESon

MY-100227 | KO010603 (0004204082| 81.50822.6031 | 2121858 |(1622785|42541413 09.801.06.32.0| 34343814 00
K000366
K090y 0004204982 2198394 1689313

K004100 (000 420 5082 1748131 34343815 00 | HENPRCKSON

MODEL
MY-100264 K004168 PAVALTY) ADB22X

803114
K010766 2198395 1008450

MY-100267 K000945 81.50822.6024 2121868 |1439493 85317002 500

MY-100268 K000029 |000 423 4687 81.50822.6021

2121869 1008453
MY-100268-1 | K003902 000420 3248 2198536 802643

MY-100288 (73164

MY-100305 K001928 0004204182 81.50822.6026 2121650

K000365 000420 0782
MY-100317

000 420 2282

MY-100318 2002962

MY-100354 K010813 81.50822.6033

MY-100355 09.801.06.91.0 | 34343813 00

MY-100355-1 K000698 09.801.06.90.0

MY-100355-2 K000697

MY-100411 K000687 1603326
1119712004 000 420 2682 85317002 600

1130679004

MY-100474
11197120061

K000129

MY-100479 2033222
K031844K50 1756390

MY-100494

K011117 1906779

MY-100894 | K052759K50

MY-100897 | 11350470061 |001 420 6683| 81.50822.6005
MY-100898 K013007
MY-100898-1 K012912

MY-100898-2 K003800

K012619 01.303.88.56.0 2006715
MY-100951

SB4309T

MY-100963 K004099 PAPIY

MY-100964 381.391 BENDIX 93161189 ADB: 3700 - 4300

MY-100965 381.413 BENDIX 93161192 ADB: 3700 - 4300

MY-100986 | K048396K50 PAPATTY]
MY-100994 | 11197140062 81.50822.6006

MY-100995 | 11197140063

MY-100996 | 11344730063 81.50822.6010 1448600

MY-6501 02.0314.06.00

MY-6505 02.0316.97.00

I|| ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES. www.mycCa li per.com




s KNORR CROSS REFERENCES

CODE

INEALIPER SCANIA NEOPLAN |  BPW
MY-6507 02.5015.73.15
MY-6511 02.5015.78.16
MY-6514 02.5015.72.15
MY-6520 02.0315.56.00
MY-6521 02.0315.36.00
MY-6522 02.1410.21.00
MY-6524 02.1410.22.00
MY-6531 | K019508 02.1011.24.00
MY-6531+

N8t 09.801.06.34.0
MY-6532+

Mv-e232* | 1350470063 3434380300
MY-6533 02.0608.14.00

MY-6533+MY-
6537+MY-6520

MY-6534 02.0608.15.00
MY-6537 02.0611.06.00
MY-6538 | 2000519 02.0611.05.00
MY-6350-MY- | 11344730063 81.50822.6010 1448600

REFERENCES

CROSS

11370760065 (000 420 1382

MY-6541 02.1827.06.00
MY-6542 02.1827.07.00
MY-6543 02.0601.19.00
MY-6544 3434381700
MY-6551 02.5683.74.00
MY-6553 02.5677.98.00
MY-6557 02.1827.08.00( 3 4343816 00
MY-6558 1117934004 81.50822.6004 1390430 (1448912
MY-6563 02.2400.11.00
MY-6648 K007197
MY-200129 K001278
MY-200137 2000702
MY-200138 | 449756 0200
MY-200139 | 449756 0350
MY-200179 2019053
MY-200180 2046338

K052379K50
MY-200181 7025197 MB 000 423 1006

MY-200182 2017557

K010765

MY-200211 1756388

K001337

MY-200212 SN7138

1612741

or1as s
DAF CF 75 IV
1689314 DAF CF 85 IV
85 CF
050 iy
DAF XF 105

MY-200213

MY-200226 1884529

wWww.myca [ per.com ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES. II




REFERENCES

CROSS

CODE
MYCALIPER

MERITOR

DAF

MERITOR CROSS REFERENCES mummmn

VoLVO

RENAULT

DENNIS

SCANIA

NEOPLAN

MY-100144-6

$J4108

1522167

3092260

21109755

85109977

MY-100144-7

$J4096

3092258

MCK1398

85109975
21109753

MY-100144-8

$J4097

3092259

MCK1399

21109754

85109976

MY-100147

MCK1192

1489991

AMMCK1192

5021170886

SCANIA 1034001

ASTRA
98133544AS

CATERPILLAR
2799674

FRUEHAUF
CF104388

MY-100147-2

MCK1191

MY-100148

MCK1171

1489989

AMMCK1171

5021170 885

ASTRA
98133542AS

CATERPILLAR
2799440

FRUEHAUF
CF104387

MY-100162

$J4052

1522192

5001 845 385

NISSAN
69029720

MY-100165

MCK1127

85102097

85109978

MY-100166

MCK1128

85102098

85109979

MY-100167

MCK1102

81.50802.6017

1522034

VAN HOOL
10770779

ST1157

81.50802.6020

ZF 0501213164

81.50802.6021

35.50310.9496

MY-100169

ST1156

81.50802.6016

5001 849 886

VAN HOOL
N508026022

35.50310.9502

ZF 0501211883

MY-100170

SJ4112

1522169

3092329

MY-100179

68321678

81.50822.0006

ZF 0501318076

MY-100183

$J4011

000 420 0276

81.50802.6008

65507911

MCK1213

81.50802.6009

MY-100198
+
MY- 9629

$J1212

000 423 0082

81.50802.6007

1522063

5001831176

6535631

KASSBOHRER
8285388441

65507910

RABA 650459

ZF 0501208810

ZF 0501209883

MY-100208

MCK1118

85102092

MY-100208-1

MCK1135

1522166

3092256

$J4107

3096788

85103891

MY-100208-2

MCK1134

1489198

3092255

$J4094

3095627

85103892

AMMCK1134

MY-100211

BN

MCK1139

MCK1288

81.50802.6024

1487339

85107913

5006028 414

ZF 0501215022

68324854PK10

35.40311.2182

5021179 952

ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES.

www.mycaliper.com




s IERITOR CROSS REFERENCES

CODE
WEALIPER | MERITOR MAN DAF | VOLVO | RENAULT | DENNIS |SCANIA [ NEOPLAN

REFERENCES

CROSS

MCK1116 STRMCK1116 | 1489197 | 85102094 (5021202776
MY-100209

AMMCK1116

MCK1065

MY-100210
MCK1066

MCK1238 STRMCK1238 | 868378 3092264 | 5021202828
MY-100212

AMMCK1238

MY-100213 MCK1236 3092262

MCK1237 3092263
MY-100214

MCK1239 3095642

MY-100215 MCK1067 3095626

$J4103 3092266

MY-100218
MCK1112 85102096

$J4102 3092265
MY-100219

MCK1111 85102095

MY-100223 68322900

MY-100224 $J4109 1522168 [ 3092270

MY-100225 $J4105 3092269

MY-100226 MCK1041 3095669

3098108
3097542

MCK1104 85103129 6565644

$J4076 1522184 5001837006 | 6553777

MY-100228

MY-100229 $J4073 3098110 65656410

MY-100230 $J4074 3098111 [ 5001845387 | 6565652

NISSAN
514113 3092763 | 5001856319 | CASS}4113 69039730

LEYLAND
DEP100073 XBU1066

SJ4114 3092764 | 5001856320 ( CASJ4114 NISSAN 69030020

LEYLAND
LBSJ4114

MCK1140 81.50802.6025 85107912 | 5001860 791 IVECO 42555201

PACCAR
1522058

ZF 0501215220

MY-100231

MY-100232

DEP100074

MY-100233 MCK1243 35.40311.2205 MMCK1243

MY-100236 68324625

MY-100241 MCK1103 81.50802.6022

68915080 DENNIS 6464646
MY-100837

68915081 DENNIS 6565645

MY-100242x5 | 68324854PK10

MY-100294 MCK1309 85109891 | 5001 866 398

$J4117
MY-100295 68321441 3092765 65537714 NISSAN 69029810

MCK1244 5001858718
MY-100296-1

5001 860792

PACCAR

68322655 81.50810.0005 3092282 | 5006 028 417 1489071

MY-100297

AM68322655

MY-100297x10 | 68322655PK10

NISSAN

$J4031 8550893 6553778 69029760

MY-100298
6553778

MY-100299 68325646
MY-100860 68321502 81.50812.0009 10552713
MY-100203 68320133
MY-100358 MCK1311 85109893 | 7485 109 893

wWww.myca [ per.com ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES. ||I




MERITOR CROSS REFERENCES mummmn

((1])]3
MYCALIPER MERITOR VoLvo RENAULT DENNIS | SCANIA | NEOPLAN

REFERENCES

CROSS

$J4078 3097526 6553773

MY-100300 $J4032 3098113 6565643

8550895 DEP100080

MY-100323 MCK1086 2G002950002 | 1522185 5001858717

NISSAN
MCK1021 85104827 6553776
MY-100328 69029750
MCK1151

NISSAN
MCK1022 85104828 6553784
MY-100329 69030040
MCK1152 CAMCK1152

MY-100342 68323746 20706975

68323746PK10 35.50307.5642 20706975 | 5006028 416 PACCAR 868304
MY-100342x10

81.50901.0015 ZF 0501322343

MY-100356 $J4098 3092261

MY-100357 SJA1N 3092283

MCK1240 N2509990107 5021177 423
MY-100358-1

33.50307.5665

MCK1160 N2509990221 | 1675768 | AMMCK1160 | 5021139 150

MY-100362
STRMCK1160 5021170882

MY-100367 68323564

MY-100368 MCK1289 81.50802.6026

IVECO
MCK1174 81.50822.0014 | 868303 | 85107958 | 5001858719 503131342

MY-100401 06.01771.8107 AMMCK1174 | 5001 866 486 ZF 0501321591

35.50307.5700

x FRUEHAUF
MY-100403 DSB5R CF104619

2 FRUEHAUF
MY-100402 DSB5L CF104620

ASTRA
MCK1344 98133545AS
L CATERPILLAR
MY-100412 3429202
BREDAMENARIN
1BUS 193107

MY-100431 MCK1317 85109889

MY-100435 MBA100

MY-100442 68322563 3092280

MY-100443 68322562 3092281

MCK1254 STRMCK1254 AMMCK1254 PACCAR: 871054

MY-100444
26070160007

MY-100445 MCK1253 STRMCK1253 | 884368 | AMMCK1253

a PACCAR
MY-100446 MCK1298 85109890 | 5001866 989 9500931

MY-100447 MCK1310 85109892 | 5001 866 400

- NISSAN
MY-100838 $J4061 69029770

L BREDAMENARIN
MY-100843 MCK1193 IBUS 193102

L BREDAMENARIN
MY-100844 MCK1172 IBUS 193101

MY-100886 MCK1048

MY-100887 MCK1050 3095646

MY-100888 68322485

MY-100889 | MCK1129 85102099
31932070 81.50812.0011 2111686 KASSBOMRER
MY-100822 68321507
68321508

nl" ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES. www.mycCa [ per.com




s IERITOR CROSS REFERENCES

CODE
MYCALIPER MERITOR MAN DAF VOLVO RENAULT DENNIS SCANIA | NEOPLAN OTHER

REFERENCES

CROSS

PACCAR
MCK1299 STRMCK1299 | 1522170 | 3092268 07100312

3095628

MY-100901 3096769

85107718

AMMCK1299

$J4001 5001 822 994
MY-100902

5001 822 998

MY-100903 $J4021 8550881 65537710

MY-100904 DSB6L

MY-100905 DSB6R

MY-100906 MCK1292 876052 | AMMCK1292

A CATERPILLAR
MY-100907 MCK1293 876053 | AMMCK1293 2799439

N2965026008
MY-100908 MCK1088 35.50307.5636

MY-100909 MCK1087 35.50307.5607

MY-100910 MCK1290 AMMCK1290

2 CATERPILLAR
MY-100911 MCK1291 876051 | AMMCK1291 2799438

MCK1294 1689883 5021202 850 IVEC0 2995922

BREDAMENARIN
MCK1168 1BUS 193100
MY-100912
MCK1169 1508
98133541AS

CATERPILLAR
2799441

MY-100971 MCK1170

MY-9581 68320499

MY-9582 68323751

MY-9583 68321674

N2509990263 3092272
MY-9584 68324854 STR68324854 20777352 PACCAR 9500643

68322651 N2509990263 3092272 PACCAR 9500643

MY-9585 STR68324854 20777352

20706973

MY-9596 68321676

MY-9596x2 $J4053 NISSAN

69029910
MY-9596x2 +
MY-9582x2

$J4077 1524607 | 3098109 DEP100072

MY-9608 68322783

MY-9609 68322783

MY-9628 68322297

MY-9628x10 | 68322297PK10 20706977 | 5001866 415

68320507 | 000 420 3044 RABA 650458
MY-9629

ZF 0501313854

MY-9728 | 3280-Z-9360-B

MY-9729 | 3280-C-9241-D

KASSBOHRER
68320912 | 000 423 0062 | 81.50822.0003 5001 822 997 8285388449

MY-100302 68321272 RABA 746871

ZF 0501314109

MCK1264 3092276
3092277

MY-100472

wWww.myca [ per.com ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES. ||I




MERITOR CROSS REFERENCES mummmn

CODE
MYCALIPER MERITOR MAN DAF VoLvo RENAULT DENNIS | SCANIA | NEOPLAN OTHER

REFERENCES

CROSS

N2509990223 g
MCK1161 STRMCK1161 | 1675766 | AMMCK1161 ASTRA:98133540AS

MY-200133 FRUEHAUF:CF103650

RVI: 5021139151
5021170883

MY-200153 5001 856 032

MY-200154 5001856 034

MY-200155 5001856 031

MY-200156 5001 856 033

MY-200157 7420928 560

MY-200158 7420928 553

MY-200159 7420928 559

MY-200160 7420 928 552

MY-200161 20928533

MY-200162 20928532

MY-200163 81.25937.6015
MY-200164 81.25937.6041

MY-200165 81.25937.6044

MY-200168 21390375

21390376
MY-200169 20928545

21390372
MY-200170 20928356

21390373
MY-200171 20928537

MY-200173 20928548

MY-200174 20928563

MY-200176

MY-200183 MCK1252 883186

MY-200228 68322778 1489072 | 3092253

MY-100473 MCK1262 81.50822.0007 503128759

KASSBOHRER
68320550 | 356 4210046 | 81.50822.0001 8285388450

MY-100966 68323027 81.50822.0010 DENNIS 6550793
DENNIS 6550795

68320507 000 420 3044 RABA 650458

ZF 0501313854

“I" ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES. www.mycCa [ per.com




CODE
MYCALIPER

WABCO

m \WABCO CROSS REFERENCES

DAF

RENAULT

IVECO

NEOPLAN

OTHER

MY-100243

12999 699

1436853

42536957

OTOKAR
13(3508276AA

12999702

MY-100255

12999738

1505890

3434382701

MY-100256

12999776

1628065 | 85108166

5001 866 626

3434382800

KOGEL 6500700

MY-100271

12999 746

1440505

5001858 722

MY-100304

12999 580

81.50822.6003

1517407

MY-100370

12999729

81.50800.6023

1517354

11015566

N1011015566

82139200

MY-100450

12999 678

865966

5021170 488

MY-100853

6403229272

81.50822.6039

MY-100854

640322 650 4

MY-100856

6403229262

81.50822.6038

MY-100919

12999 677

865965

5021170487

MY-100920

12999704

1519363

5001 852 880

MY-100939

12999 551

000420 0982

N1.01101.5717

AMPA137

11015717

SOLARIS
0870008000

MY-100940

12999 552

000421 0880

AMPA141

MY-100997

6403229282

441039001 04811

MY-8531+MY-
8551

6403229322

81.50822.6042

MY-8582

897290 2612

MY-8583

8971100004

MY-200217

6402250310

MY-200218

6402250300

MY-200220

640222 928 2

MY-200230

6402227406 D1-6J20

MY-200231

6402227406 D3-6K25

MY-100962

640322 9282

81.50822.6040

441039001 043811

www.mycaliper.com

ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES.

REFERENCES

CROSS




REFERENCES

CROSS

CODE MYCALIPER HALDEX RENAULT SAF MAN | scANIA | DAF | NEopan | BPw | IvEco | oTHER
89794
MY-100335
94662
MY-100335-1 94665
MY-100345 92909
MY-100347 92700
90693 5021174163 |3 434 385502
MY-100350
89926
MY-100351 89541
MY-100352 91012
MY-100353 93299
MY-100420 205089611
MY-100425 90673
MY-100455 87406
MY-100890 420389611
MY-100921 94664
MY-100922 92731
MY-100923 91011
MY-100924 91013
MY-100925 91014
MY-100926 87405
MY-100927 89723
MY-100928 87680
MY-100900 87408
94661 5021174 076| 3 4343203 00
3434385400
3434385401
MY-100929
34343856 00
3434385700
3434385800
94660 5021174 174| 3 434 385402
3434385601
MY-100930
3434385702
3434385801
MY-100931 91216
94659 5021174162 3 434385101
MY-100932
5021174180
MY-100933 94663
MY-100945 70207
S Y
MY-7541x2 89927
MY-7542x2 91019
MY-7551x2-+MY-7553x2 89925
MY-7531 89619
MY-7532 81938
MY-200184 90636 - 92502

'IO OR AL PAR BER AR AND MOD ONED ARE O OR D RIPTION PURPO 3



: ] » . ) D
CODEMYCALIPER BPW MB MAN SCANIA DAF IVECO NEOPLAN SAF RENAULT OTHER

MY-100182 01.127.38.02.0
MY-100371 09.801.07.62.0
MY-100372 09.801.07.61.0
MY-100374 09.801.07.63.0
MY-100374-1 09.801.07.63.1
05.801.50.90.0

MY-100452 05.010.95.31.0
MY-100823 03.001.00.54.C
MY-100935 09.801.07.68.1
MY-100936 09.801.05.81.0
MY-35010 05.001.00.41.0
MY-35020 03.001.00.35.0
MY-35030 02.5016.70.16
MY-35050 05.130.08.27.0
MY-35060 03.310.11.19.0
MY-35070 03.112.33.13.0
MY-35080 03.112.33.14.0
MY-35090 02.5679.98.40
MY-35100 05.001.00.45.0
MY-35120 03.127.18.02.0
MY-35130 05.130.07.07.0
MY-35140 03.121.30.15.0
MY-35150 03.001.57.01.0
MY-35180 02.3704.69.00
MY-35190 03.127.18.03.0

05.127.18.04.0

11

REFERENCES

CROSS



REFERENCES

SAF CROSS AEFEAENCES mum—

CROSS

CODEMYCALIPER | HALDEX SAF SCANIA NEOPLAN |  RENAULT
MY-100456 95397 |3434386100
MY-100462 94700
MY-100493 95535
MY-100937 95399 |34343863 00
MY-100938 95398 |3434386200

MY-45030 95182
MY-45040 94951
MY-45050 94910
MY-45070 95063
MY-45110 94700
MY-45120 94504
MY-45130 94932
MY-45200 95074
MY-45210 95535
MY-45240 94652

II| ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES. WwWw.myca | i per.com




REFERENCES

mmmmm HYDRAULIC CALIPER CROSS REFERENCES

CODE MYCALIPER MERITOR IVECO

CROSS

MY-100551 253421

SP8570
MY-100553

$J1032

93161759
MY-100560

42534122

$J1037 93161028
MY-100565

SP8597

93162193
MY-100568

42555416

93161847

MY-100569
42555416

93162192

MY-100570
42555416

000420 0054
MY-200101

0004210850

MY-200102 000 423 0663

MY-200103 $J1022 93161475

SP8564 93161552 1522160 270527 RVI: 5001014701
MY-200104

3090937 RVI:5001 829 895

MY-200105 SP8566 1522175 3090852 RVI: 5001 829 894

MY-200106 SP8565 8124737 522081 3090851

SP8567 1522161 3090938

MY-200107
270531

SP9669 1522162 271163 STRSP9669

MY-200108 3090356

3090939

MY-200109 SP9670 1522163 3090940 STRSP9670

$J1034 93161037
MY-200110

93161473

wWww.myca | per.com ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES. |II




REFERENCES

CROSS

CODE MYCALIPER

MERITOR

HYDRAULIC CALIPER CROSS REFERENCES Num—

IVECO

MY-200111

$J1030

93161036

93191505

MY-200112

$J1037

93161028

93162075

MY-200113

SP8597

1522174

0004201344

RVI: 5001014 679

RVI: 5001 829 892

MY-200114

$J1035

93161029

1522179

000420 0476

ST1153

93161472

MY-200115

$J1033

93161471

93161034

MY-200116

SP8902

1522173

000421 1463

MY-200117

ST1154

0004218386

MY-200189

LRG612 68032210
LRG613 68032211

LRG614 68032208
LRG615 68032209

MY-200190

LRG612 68032210
LRG613 68032211

LRG610 3091727
LRG611 3091728

LRG634 68032615
LRG635 68032616

LRG614 68032208
LRG615 68032209

MY-200191

LRG600 68032190
LRG601 68032191

LRG608 68032206}
LRG609 68032207

LRG620 68032198
LRG621 68032199

LRG602 68032188
LRG603 68032189

LRG610 3091727
LRG6113091728

LRG634 68032615
LRG635 68032616

MY-200192

LRG612 68032210
LRG613 68032211

LRG614 63032208
LRG615 68032209

MY-200193

SP8563

270526

MY-200194

LRG502 68032320
LRG503 68032321

LRG608 68032206}
LRG609 68032207

LRG514 68032086
LRG515 68032087

LRG600 68032190
LRG601 68032191

LRG620 68032198
LRG621 68032199

MY-200195

LRG600 68032190
LRG601 68032191

LRG608 6803220:
LRG609 68032207

LRG620 68032198
LRG621 68032199

MY-200196

LRG600 68032190
LRG601 68032191

LRG608 68032206'
LRG609 68032207

LRG620 68032198
LRG621 68032199

LRG602 68032188
LRG603 68032189

LRG610 3091727
LRG611 3091728

LRG634 68032615
LRG635 68032616

LRG612 68032210
LRG613 68032211

LRG614 68032208
LRG615 68032209

MY-200199

93162193

ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES. www.mycCa | per.com

N




CODE MYCALIPER

MERITOR

IVECO

mmmmm HYDRAULIC CALIPER CROSS REFERENCES

VOLVO

OTHER

MY-200200

LRG600 68032190
LRG601 68032191

LRG608 68032206
LRG609 68032207

LRG620 68032198
LRG621 68032199

LRG602 68032188
LRG603 63032189

LRG610 3091727
LRG611 3091728

LRG634 68032615
LRG635 68032616

LRG612 68032210
LRG613 68032211

LRG614 63032208
LRG615 68032209

MY-200203

42548197
42555416

MY-200204

LRG612 68032210
LRG613 68032211

LRG614 63032208
LRG615 63032209

MY-200205

SP8570

LRG602 68032188
LRG603 68032189

LRG608 68032206
LRG609 68032207

LRG620 68032198
LRG621 68032199

LRG600 68032190
LRG601 68032191

LRG610 3091727
LRG6113091728

LRG634 68032615
LRG635 68032616

MY-200206

LRG600 68032190
LRG601 68032191

LRG608 63032206
LRG609 68032207

LRG620 68032198
LRG621 68032199

LRG602 63032188
LRG603 63032189

LRG610 3091727
LRG6113091728

LRG634 68032615
LRG635 68032616

LRG612 68032210
LRG613 68032211

LRG614 68032208
LRG615 68032209

REFERENCES

CROSS

wWww.myca | per.com ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES. ||I




REFERENCES

CROSS

CODE MYCALIPER

IVECO

MERITOR

VANHOOL

IVECO CROSS FEFERENCES mummm

OTHER

MY-100600

42536194

RBSK1255.M

DAF: 1258802

42537942

RBSK1573.M

93161621

RBSK2051.M

MY-100601

IVECO: 93161768

MY-100602

7980407

RBSK0250B.M

BREDAMENARINIBUS:
192756

93161353

ZF: 0501298159

AWD: A4022499

MY-100604

93161627

RBSK2128.M

93162113

MY-100605

93161260

MY-100607

42480059

A164002

1696537

634321222

NISSAN: 69028770

A229713158

PACCAR: Y07088205

MY-100608

42480058

328058131

MY-100609

42488737

1205C1667

1696219

634321228

MAN: ST1205C1667

1205B2004

MY-100610

42488736

1205B1666

82DB2B009AA

1696218

634321223

MAN: ST1205B1666

3351848R1

1205€2005

NISSAN: 69028780

PACCAR: Y03018404

MY-100612

42480060

3280Y8163

634321225

MY-100613

42488735

A22297U4597

VANHOOL: 634321229

MY-100614

42558430

RBSK1408.M

93161622

93162114

MY-100616

328078964

6C462B003AA

MY-100617

42531677

1205X2000

6C462B009AA

1698588

MAN: 8600569

NISSAN: 69026590

MY-100618

3280W8369

6C462A170CA

sl

ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES.

www.mycaliper.com




REFERENCES

. |\VECO CROSS REFERENCES

CROSS

CODE MYCALIPER MERITOR VANHOOL

MY-100619 A2297U4597

MY-100622 42531676

MY-100624 42536193

93161627 RBSK2128.M
MY-100631

42538063

MY-100632 42536192

42531676 A229758287
MY-100633

42537758 A22297E5907

MY-100634 42537841 1205E2683 6C462B009BA

MY-100635 42063178 165005

MY-100636 4756032 165017

MY-100637 7984217 22974820

MY-100638 7984216 2297K4821

MY-100639 42488739 A1779M195 1695050 634321230

BREDAMENARINIBUS:

7980405 RBSK0248B.M 192754

MY-100642

AWD: A4023357

BREDAMENARINIBUS:
192755
BREDAMENARINIBUS:
192752

MY-100643 7980406 RBSK0248B.M 10610921

MY-100644 42491974 RBSK0549B.M 272857 634321204

42488484 2257D108 82DB2B026AA 6770266 634321233 NISSAN: 69028800
MY-100646

2257M1001 PACCAR:Y03018809

MY-100650 2258F1306

MY-100651 2258Y1507 6C462L371AA

42536194 RBSK1255.M DAF: 1258802

MY-100653 42537942 RBSK1573.M

93161621 RBSK2051.M

MY-100656 2996557

MY-100659 93161625

1518475

MY-100662 93161267

wWww.myca [ per.com ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES. ||I




REFERENCES

IVECO CROSS FEFERENCES mummm

CROSS

CODE MYCALIPER IVECO MERITOR VANHOOL

93161257
MY-100663

12999404

MY-100664 42537364 2297H8354 6C462A170BA

MY-100665 42537365 2297)8356 6C462A170AA

MY-100666 A1229758287 6C462A105AB

42537363 RBSK1599.M
MY-100670

42537365 RBSK1606.M

42537364 RBSK1600.M
MY-100671

42537366 RBSK1607.M

7980408 RBSK0251B.M BREDAMENARINIBUS:
192757
MY-100672

ZF: 0501298164

MY-100674 A2297)8798

MY-100675 93161863

MY-100682 93161864

MY-100683 93161257

MY-100690 42536197

MY-100691 42531676

I|| ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES. www.mycCa li per.com




REFERENCES

. 7-CAM CR0OSS REFERENCES

CROSS

CODE
MYCALIPER | Z-CAMVOLVO MB MAN DAF RENAULT IVECO DENNIS OTHER

272909 1892003407231 1494055 1694352 | 5001868118 | 3346429R91( DENNIS 61385913 ST4014

3097099 8603391 5006018438 | 3348783R91| DENNIS 65399613 $T4023

3098276 N2509996057 A164061

8550978 68192565

BMC9P911107
MY-100500

PACCAR PPMST4014

LEYLAND XBU0910

RABA 665135

ZF 0501210719

FORD 9C462A105AA

272908 1892003407221 1472809 1694353 | 5001868 117 | 3348784R91| DENNIS 61385911 ST4013

3097100 8603390 5006 018437 DENNIS 65399612 ST4024

3098277 N2509996054 A164062

8550977 68192566
MY-100501

BMC9P910414

PACCAR PPMST4013

LEYLAND XBU0911

FORD 9C462A105BA

1696925 89200340794 1350890 1694794 | 5001868126 | 3346447R1 | DENNIS 6138606 A164055

1892003407941 8605967 3346449R1 | DENNIS 6539963 68191511

MY-100502 N2509990131 DENNIS 6539975 AWD A4027691
NEW

MODEL PACCAR TP02006096

LEYLAND XBU0685

FORD 9C462K161AA

1696924 89200340793 1350884 1694793 | 5001868125 | 3346448R1 | DENNIS 61385929 A164052

1892003407931 8605966 5006018 474 DENNIS 65399625 68191510

MY-100503 N2509990129 AWD A4027705
NEW

MODEL PACCAR TP02006095

LEYLAND XBU0684

FORD 9C462K161BA

272910 1892003407351 1422829 1694368 | 5001868121 3346443R91| DENNIS 6138597 SP8540

1696453 8603403 5006018 458 DENNIS 65399621 ST4018

MY-100504 | 3098271 N2509996050 68191219

AWD A4027696

FORD 9(462458AA

MY-100505 1607502 5006 046 766 68020146

MY-100506 | 1606775 5006 046 765 68020145

1081820 1428758
MY-100507

3090998 N2509996051

wWww.myca li per.com ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES.




REFERENCES

Z-CAM CROSS REFERENGES mummmn

CROSS

CODE
MYCALIPER | Z-CAMVOLVO RENAULT DENNIS

MY-100507 ST1039

1081819 1428741

MY-100508 3090997

ST1038

276096 1449350 $T1033
MY-100511

PACCAR TP02006268

276100 1341829 1694364 | 7403 090964 | 42540290 | DENNIS 61385915 ST1035

3090964 8701361 3346439R91 | DENNIS 65399615 $T4022

MY-100512 3098275 N2509996037 AWD A4027698

PACCAR TP02006093

ZF 0501210721

276099 2068777 ST1034

MY-100513 8604735

85.500.013.424

1696445 137075

1698346 68192487
MY-100514

3097299 68200150

FORD 9C€462069AA

1696446 1892003407251 8603393 1694355 | 5001868120 | 1635251 DENNIS 6138599 137074

N2970060001 5006 018 440 DENNIS 60889335 64225252

MY-100515 DENNIS 61049727 PACCAR AAU6457

RABA 665152

FORD 9C462B003AA

1696449 1321228 1694347 | 5001868 127 | 3346423R1 | DENNIS 6138593 166062

8603384 5006018 435 DENNIS 6539967 68191065

N2900000084 AWD A4027680
MY-100516

N2900000152 BMC9P901178

RABA 665145

FORD 9C462213AA

1696450 1321234 1694348 | 5001 868 122 DENNIS 6138594 166063

8603385 5006018 436 DENNIS 6539968 68191066
MY-100518

N2966010119 DENNIS 65356315 LEYLAND XBU0889

FORD 9C462B032AA

68192410 89200340815 8701359 1694354 42540274 | DENNIS 61385910 RVI5001 868 119

1696448 1427340 3346430R91 | DENNIS 65399614 RVI15006 018 439

3090954 N2509990143 DENNIS 65399620 AWD A4027686

PACCAR TP08023002
MY-100519

RABA 665151

ZF 0501316391

II ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES. www.mycCa | per.com




CODE
MYCALIPER

Z-CAMVOLVO

. 7-CAM CR0OSS REFERENCES

RENAULT

DENNIS

OTHER

MY-100519

FORD 9C462B009AA

MY-100520

1696444

1892003407951

1398023

1694362

5001868113

3346437R1

DENNIS 61385919

167090

3097092

8607130

5006018 430

DENNIS 65399619

68192115

N2900000088

BMC9P901265

RABA 665153

FORD 9C462296AA

MY-100521

276098

1892003407911

1386099

1694366

7400 276 098

3346441R91

DENNIS 6138604

ST1037

3098273

8604737

DENNIS 6539973

ST4020

N2509996047

68191541

AWD A4027699

BMC9P910412

FORD 9C462K400BA

MY-100522

276097

1336762

1694365

7400276 097

3346440R91

DENNIS 61385928

ST1036

3098274

8604736

DENNIS 65399617

ST4021

N2509996035

68191540

AWD A4027706

BMC9P910411

PACCAR TP02006094

FORD 9C462K400AA

MY-100524

68191930

N2509990127

3346433R1

DENNIS 61385917

RVI5006 018 450

1336791

BMC9P901234

FORD 9C462C200AA

MY-100525
OLD
MODEL

1696924

89200340793

1350884

1694793

5001 868 125

3346448R1

DENNIS 61385929

A164052

1892003407931

8605966

5006 018 474

DENNIS 65399625

68191510

N2509990129

AWD A4027705

PACCARTP02006095

LEYLAND XBU0684

FORD 9C462K161BA

MY-100526
OLD
MODEL

1696925

89200340794

1350890

1694794

5001868 126

3346447R1

DENNIS 6138606

A164055

1892003407941

8605967

3346449R1

DENNIS 6539963

68191511

N2509990131

DENNIS 6539975

AWD A4027691

PACCAR TP02006096

LEYLAND XBU0685

FORD 9C462K161AA

www.mycaliper.com

ORIGINAL PART NUMBERS,MARKS AND MODELS MENTIONED ARE ONLY FOR DESCRIPTION PURPOSES.

REFERENCES

CROSS




MYCALIPER
KNORR

AY-SAT Otomotiv Nakliyat Gida ith. ihr. Ltd. Sti.

www.mycaliper.com



KNORR
SBS TYPE

MICALIPEeR

Brake Caliper Repair Kits

www.mycaliper.com



KNORR

SB5TYPE

KNORR SERIES

Caliper Guides & Seals Repair Kit

8

-09

10-C >

;- ——
—
T R T g,

MYCALIPER Number \ MY-100102

11369100062 - 11339680062 - MB 000 420 1282
MAN 81.50822.6009 - SCANIA1390427

DAF 1142142 - 1198153 -1198154 -1448915
1IVECO 93162048 - NEOPLAN 11015565

o SB5 TYPE ../ SB6/SB7 TYPE
Application SB7 RADIAL TYPE Series

Caliper Guides & Seals Repair Kit

TR

MYCALIPER Number ‘ MY-100103-1

K001274 - K002716

Application SB5 TYPE Series

Caliper Guide & Seals Repair Kit

03-

8

-06

01- E ' C 207

smer——
—
T ——

MYCALIPER Number  [[NRIOIEY

K000935 - SAF 3 434 3802 00

o SB5 TYPE.../SB6/SB7 TYPE
Application SB7 RADIAL TYPE Series

EN

SB5 TYPE

m MYCALIPER NR DESCRIPTIONS W-

O 00 N S 1 AW N

m MYCALIPER NR DESCRIPTIONS W-

O 00 N & i AW N

-
(=]

m MYCALIPER NR DESCRIPTIONS m-

N S v A W N -

MY-6502
MY-6507
MY-6514
MY-6518
MY-6521
MY-6525
MY-6531
MY-6532
MY-6551
MY-6552

MY-6501
MY-6519
MY-6513
MY-6514
MY-6621
MY-6522
MY-6542
MY-6543
MY-6531
MY-6551

MY-6507
MY-6518
MY-6521
MY-6531
MY-6532
MY-6551
MY-6552

www.mycaliper.com

GUIDEPIN
GUIDE PIN
BoLT
BOLT
BRONZE BUSH
RUBBER BUSH
INNER BOOT
OUTER BOOT
INNER BOOT RING
OUTER BOOT CLAMP

GUIDE PIN
GUIDE PIN

BOLT

BOLT

BRONZE BUSH
METAL-RUBBER BUSH
STEEL CAP
STEEL CAP
INNER BOOT
INNER BOOT RING

GUIDE PIN
BOLT
BRONZE BUSH
INNER BOOT
OUTER BOOT
INNER BOOT RING
OUTER BOOT CLAMP

034 x 80 mm
036 x 145 mm
M16x1,5x 87 mm
M16x1,5x 150 mm
040 x @36 x 82 mm

032 x 80 mm
036 x 103 mm
M16x1,5x80 mm
M16x1,5x87 mm
040 x 636 x 75 mm
039 mm (metal end)
026x 11,5 mm
040 x 15 mm

036 x 145 mm
M16x1,5x 150 mm
040 x 036 x 82 mm



SB5 TYPE

Caliper Rubber Bush & Guide Repair Kit

TR

MYCALIPER Number \ MY-100106

11368470064 - DAF 1448910 - SAF 3 434 3801 00
SCANIA 2121840

o SB5 TYPE.../SB6/SB7 TYPE
Application 5B7 RADIAL TYPE Series

Caliper Guide Repair Kit

= m
[ P— i

MYCALIPER Number ‘ MY-100355-2

K000697

o SB5 TYPE.../SB6/SB7 TYPE
Application
SB7 RADIAL TYPE Series

Caliper Outer Boots & Steel Caps

OO OCOCOO

MYCALIPER Number ([N RLL

K001301 - MAN 81.50822.6025
SCANIA 1439494 - 2121839

w SBS TYPE.../SB6/SB7 TYPE
Application SB7 RADIAL TYPE Series

www.mycaliper.com

KNORR SERIES

m MYCALIPER NR DESCRIPTIONS W-

MY-6502 GUIDEPIN 034 x 80 mm 1
2 MY-6514 BOLT M16x1,5x87 mm 1
3 MY-6525 RUBBER BUSH 1

m MYCALIPER NR DESCRIPTIONS W-

MY-6501 GUIDEPIN 032 x 80 mm
2 MY-6522 METAL RUBBER BUSH ©39 mm (metal end) 1

m MYCALIPER NR DESCRIPTIONS m-

MY-6532 OUTER BOOT
2 MY-6541 STEEL CAP @50 x 28 mm 6
3 MY-6552 OUTER BOOT CLAMP 6
4 MY-6553 0-RING 6

Il >



KNORR

SB5TYPE

KNORR SERIES

SB5 TYPE
N R T
MY-6532 OUTER BOOT
2 MY-6552 OUTER BOOT CLAMP 1
02- ( 3 MY-6531 INNER BOOT 1
Tcﬁ# 4 MY-6551 INNER BOOT RING 1

-04

MYCALIPER Number \ MY-100897

11350470061 - MB 001 420 6683
MAN 81.50822.6005

Application SB5 TYPE Series
Caliper Piston Tappet Repair Kit m MYCALIPER NR DESCRIPTIONS W-

1 MY-6533 TAPPET & BOOT ASSEMBLY 074 mm

2 MY-6520 TAPPET BUSH 018x 016 x 10 mm 2
- -

MYCALIPER Number ‘ MY-100115

11179320065 - 11304130065 - SCANIA 1390429
m SB5 TYPE.../SB6/SB7 TYPE
Application
SB7 RADIAL TYPE Series
Caliper Piston Tappet & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m-

- - MY-6533 TAPPET & BOOT ASSEMBLY 074 mm

. 03 c ]
2 MY-6537 INNER SEAL 2
3 MY-6520 TAPPET BUSH 018x@16x 10 mm 2

[ mycauiper Number  [[RLAIG
K000944 - K010604 - MB 000 420 0682 - 000 420 3982 - 000 420 4882
MAN 81.50822.6007 - 81.50822.6022 - 81.50822.6032
SCANIA 1743421 - 1746824 - 1756389 - 1759811 - 1723414 - 2121859
DAF 1448913 - 1623221 - IVEC0 93162050 - BPW 09.801.02.63.0
SAF 34343804 00- 85317002 800

o SB5 TYPE.../SB6/SB7 TYPE

Application /5B6/ .
5B7 RADIAL TYPE Series

IIl www.mycaliper.com




SB5 TYPE

m MYCALIPER NR DESCRIPTIONS m-

Caliper Bridge Assembly

S R

MYCALIPER Number \ MY-100114

Application SB5 TYPE Series

Caliper Support Seal Kit

oo
oo

MYCALIPER Number \ MY-100803

o SB5 TYPE.../SB6/SB7 TYPE
Application SB7 RADIAL TYPE Series

Caliper Plug Kit

MYCALIPER Number ‘ MY-100804

Application SB5 TYPE.../SN5 TYPE.../SL7/SM7 TYPE
SB6/SB7 TYPE.../SN6/SN7/SK7/NA7 TYPE Series

2

KNORR SERIES

MY-6572 SPRING 021x51,5mm 2
MY-6594 BRIDGE ASSEMBLY 1

m MYCALIPER NR DESCRIPTIONS m-

MY-6585 SUPPORT SEAL

m MYCALIPER NR DESCRIPTIONS W-

1

MY-6586 PLUG 055/50x 11 mm

www.mycaliper.com "I



KNORR SERIES
SB5 TYPE

CperPlstcCover Without e N e T

MY-6581 PLASTIC COVER (WITH HOLE)

2 MY-6582 SENSOR COVER SEAL 1
3 MY-6575 SCREW WITH RIVET 4
0 4 MY-6558 PLASTIC COVER CAP 1
5 MY-6550 SEAL 1

-4 §4 & 04—. S

MYCALIPER Number \ MY-100490 |

Application SB5 TYPE Series

CprPlsticCoer 2 e senr e e T

1 MY-6581 PLASTIC COVER (WITH HOLE)
2 MY-6582 SENSOR COVER SEAL 1
-02| 3 MY-6575 SCREW WITH RIVET 4
4 MY-6558 PLASTIC COVER CAP 1
5 MY-6550 SEAL 1
6 MY-6547 2 CABLES SENSOR 1
-4 4 & 04—. S
7 MY-6559 SENSOR ADJUSTER PLASTIC @5,3 mm 1
8 MY-6647  SENSOR STABILIZER PLASTIC 1
06—’* 07~ -08

MYCALIPER Number ‘ MY-100491

Application SB5 TYPE Series

Caliper Sensor Cover (3 Cables Sensor) mm-

1 MY-6581 PLASTIC COVER (WITH HOLE)
2 MY-6582 SENSOR COVER SEAL 1
-02 3 MY-6575 SCREW WITH RIVET 4
4 MY-6558 PLASTIC COVER CAP 1
5 MY-6550 SEAL 1
03- g g g g 04- . °_ 05 6 MY-6588 3 CABLES SENSOR FOR MAN 1
7 MY-6559 SENSOR ADJUSTER PLASTIC 05,3 mm 1
8 MY-6647 SENSOR STABILIZER PLASTIC 1
06—'* 07- -08

MYCALIPER Number ‘ MY-100490-1

(For 12-160 MAN TGL)

Application SB5 TYPE Series
IIl www.mycaliper.com




KNORR SERIES
SB5 TYPE

Caliper Sensor Cover (3 Cables Sensor) m MYCALIPER NR DESCRIPTIONS W-

MY-6581  PLASTIC COVER (WITH HOLE) 1

% 2 MY-6582 SENSOR COVER SEAL 1

1- -02| 3 MY-6575 SCREW WITH RIVET 4
4 MY-6558 PLASTIC COVER CAP 1

5 MY-6550 SEAL 1

0. A A A A 04_. °_ 05| 8 MY-6587 3 CABLES SENSOR FOR MERCEDES 1
7 MY-6559  SENSOR ADJUSTER PLASTIC 05,3 mm 1

8 MY-6647  SENSOR STABILIZER PLASTIC 1

07- -08

MYCALIPER Number ‘ MY-100490-2

Application SB5 TYPE Series

(Mercedes)

Caliper Adjusting Shaft

MYCALIPER Number MY-100112

Application SB5 TYPE Series

N\ » : Caliper Pad Retainer Repair Kit

—— L MYCALIPER Number MY-100426

SB5 TYPE.../SB6/SB7 TYPE.../SN5 TYPE
Application SN6/SN7/5K7/NA7/ST7 TYPE
SB7 RADIAL TYPE Series

Grease Blue (10 g)

< AMYCALIPER

b" Caliper Repaith‘ts ? """"""._.' Sl
M o ”’é"" ﬁ"” @"""

www.mycaliper.com "I



KNORR

SB5TYPE

| KNORR SERIES
SB5 TYPE

Caliper Calibration Bolt

SB5 TYPE.../SB6/SB7 TYPE.../SN5 TYPE
Application SN6/SN7/SK7/NA7/ST7 TYPE
SB7 RADIAL TYPE Series

Caliper Roller Bearings

SB5 TYPE.../ SB6/SB7 TYPE
SB7 RADIAL TYPE Series

Application

ST —
' gy -

Application SB5 TYPE Series

Caliper Lever

Application SB5 TYPE Series

Caliper Adjusting Mechanism

Application SB5 TYPE Series

Caliper Chain (12 links)

I" www.mycaliper.com



KNORR SERIES

SB5 TYPE

Cover Bolt Kit

. | —yf
~ " -~
LA PR R T T T

"'wm T -
AL ARG R AR b = R GAAEAAA AR AR AR

mnw _ "o
ARG LML i T NN LAERRIAFAT LKA

-""mmm =
- v —
LTI P s ST TR LT TN

(kR ARk kAo A ARAAL LRI KA ALt

il PITERMTTI AT
AR ket S LA ARAELL L RA L Ak

MYCALIPER Number ‘ MY-100990

o SB5 TYPE.../SB6/SB7 TYPE.../ SB7 RADIALTYPE
Application CALIPER CONNECTING BOLT Series

Cover Bolt Kit

o Lo !
| duras AL ML AR

[ ——— =
ML AU Bl . AL
) = L
| R © NN

= Lo wt
AL LB LML AR

MYCALIPER Number ‘ MY-100991

o SB5 TYPE.../SB6/SB7 TYPE.../ SB7 RADIAL TYPE
Application CALIPER CONNECTING BOLT Series

I e I T

MY-6652 COVER BOLT M12x 1,75 x 80 mm 8

m MYCALIPER NR DESCRIPTIONS W-

1 MY-6653 COVER BOLT M14x2x52 mm

m MYCALIPER NR DESCRIPTIONS W-

1 MY-6654 COVER BOLT M10x1,5x60 mm

Cover Bolt Kit

- | L
C mlmm«w-uanmnlmu.u & Em AARARAAHA VAL AAARAATALA bl
| -

ARUADARAAARAEALAAARAGAA ok b b " - Ennumnam.mnmumuuu
“'f' -""

N b L B = mmw.mm.ammmﬂunw
- “'Wm
- - il

AR LAk AAAAA A AL ALARBARARAMUAUMA LAt

MYCALIPER Number ‘ MY-100992

Application

SB5 TYPE.../SB6/SB7 TYPE.../ SB7 RADIAL TYPE
CALIPER CONNECTING BOLT Series

www.mycaliper.com

| NEE



KNORR SERIES

SB5 TYPE
o
= Cover Bolt Kit m MYCALIPER NR DESCRIPTIONS W-
=3 1 MV-6663 COVER BOLT M8 X 1,25 x 45 mm
~:2

Ty
R

Ty
Ty

MYCALIPER Number ‘ MY-200238

sss TYPE.../SB6/SB7 TYPE.../ SB7 RADIAL TYPE
Application CALIPER CONNECTING BOLT Series

Rubber Bush Cap Kit (Short)

m MYCALIPER NR DESCRIPTIONS m-

MY-6661 RUBBER BUSH CAP (SHORT)

w
w
w

MYCALIPER Number \ MY-200215 |
Application

Rubber Bush Cap Kit (Long)

SB5 TYPE.../SB6/SB7 TYPE.../SL7/SM7 TYPE
SB7 RADIAL.../ SN6/SN7/SK7/NA7/ST7 TYPE Series

m MYCALIPER NR DESCRIPTIONS W-

1 MY-6662 RUBBER BUSH CAP (LONG)

\ MY-200219

MYCALIPER Number

o SB5 TYPE.../SB6/SB7 TYPE.../SL7/SM7 TYPE
Application SB7 RADIAL...; SNG/SN7/SK7/NA7/ST7 TYPE Series
IIl www.mycaliper.com




KNORR SERIES

SB5 TYPE
KNORR SETS > SB5 TYPE > 12-160 MAN SET MYCALIPER Number >> MY-100377
8 8 &2 . O =
= St 02 = "
R e O - ;

g | = | S| = m

12 06
o] o Jan ml
1 MY-100102 CALIPER GUIDES & SEALS REPAIR KIT 1 MY-100269 CALIPER ROLLER BEARINGS
2 MY-6541 STEEL CAP 1 12 MY-100270 CALIPER CHAIN (12 LINKS) 1
3 MY-6553 0-RING 1 13 MY-100307 CALIPER LEVER 1
4  MY-100108 CALIPER CALIBRATION BOLT 1
5  MY-100112 CALIPER ADJUSTING SHAFT 1
6  MY-100800 CALIPER ADJUSTING MECHANISM 1
7  MY-100114 CALIPER BRIDGE ASSEMBLY 1
8 MY-6533 TAPPET & BOOT ASSEMBLY (074 mm) 1
9 MY-6520 TAPPET BUSH (@18 x 316 x 10 mm) 1
10 MY-6537 INNER SEAL 1

www.mycaliper.com "I



KNORR
SB6/SB7 TYPE

KNORR
SB6/SB7 TYPE

MYCALIPER
KNORR

AY-SAT Otomotiv Nakliyat Gida ith. ihr. Ltd. Sti.

www.mycaliper.com



KNORR
SB6/SB7 TYPE

MICALIPEeR

Brake Caliper Repair Kits

www.mycaliper.com

[N

S
[~ e
=¢:'E
QQ
=3
= A



[N)

&
o>
n:vo\o
OQ
=g
=y

SB6/SB7 TYPE

AY-SAT Otomotiv Nakliyat Gida ith. ihr. Ltd. Sti.

(€ &

www.mycaliper.com



KNORR SERIES

(NN
(=T
. . R ec >
Caliper Guides & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m- n°= S
wv
MY-6502 GUIDE PIN 034 x80 mm 1 =3
4
2 MY-6507 GUIDE PIN 036 x 145 mm 1
6- 08- ‘ -07
3 MY-6514 BOLT M16x1,5x87 mm 1
4 MY-6518 BOLT M16x1,5x 150 mm 1
05- 10-C -09| 5 MY-6521 BRONZE BUSH 040 x 036 x 82 mm 1
S i
6 MY-6525 RUBBER BUSH 1
s 4| 7 MY-6531 INNER BOOT 1
8 MY-6532 OUTER BOOT 1
01- E 02 9 MY-6551 INNER BOOT RING 1
: - 10 MY-6552 OUTER BOOT CLAMP 1
MYCALIPER Number \ MY-100102 \
11369100062 - 11339680062 - MB 000 420 1282
MAN 81.50822.6009 - SCANIA 1390427 - 2121643
DAF 1142142-1198153 -1198154 -1448915
NEOPLAN 11015565 - IVEC0 93162048
e SB6/SB7 TYPE.../SB5 TYPE
Application SB7 RADIAL TYPE Series

I e N

_ MY-6501 GUIDE PIN #32x80 mm
07- ‘ 1- O & sl 2 MY-6505 GUIDE PIN @36x113,70 mm 1
S 3 MY6513 BOLT M16X1,5x80mm 1
10- 4 MY-6514 BOLT M16x15x87mm 1
05~ = 09- = _ 06| s MY-6521 BRONZE BUSH g40x036x82mm 1
6 MY-6524 METAL-RUBBERBUSH  @35mm (metalend) 1
03- — — -04 | 7 MY-6531 INNER BOOT 1
8 MY-6541 STEEL CAP #5028 mm 1
01- El ‘ol o9 mvesa STEEL CAP 026x11,5 mm 1
10 MY-6551 INNER BOOT RING 1
MY-6553 0-RING 1

-
—

MYCALIPER Number ‘ MY-100103

K001532 - SCANIA 1472919
BPW 09.801.06.31.0

Application SB6/SB7 TYPE.../SB7 RADIAL TYPE Series
Caliper Outer Boots & Steel Caps m MYCALIPER NR DESCRIPTIONS m-

MY-6532 OUTER BOOT

2 6
3 MY-6552 OUTER BOOT CLAMP 6
4 MY-6553 0-RING 6

A b b o o o

. B O OO & a>

n-OOOOOO
[ MycatipER Number  [INRTTIT

K001301 - MAN 81.50822.6025
SCANIA 1439494 - 2121839

o SBG/SB7 TYPE.../SB5 TYPE
Application SB7 RADIAL TYPE Series

www.mycaliper.com "I



KNORR SERIES

a
= -
e~ Boots & Cap Repair Kit m MYCALIPER NR DESCRIPTIONS m-
(=¥
= MY-6541 STEEL CAP @50 x 28 mm
=5
2 MY-6553 0-RING 1
e 3 MY-6531 INNER BOOT 1
4 MY-6551 INNER BOOT RING 1

o O

MYCALIPER Number \ MY-100126-1

11328090061 - MB 001 420 5283 - DAF 1448914
SCANIA 1415150 - MAN 81.50822.6008
IVEC0 93162049 - BPW 09.801.06.11.0

Application SB6/SB7 TYPE.../SB7 RADIAL TYPE Series
Caliper Guides & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m-

1 MY-6501 GUIDE PIN 032x80mm
2 MY-6505 GUIDE PIN 036x113,70mm 1
3 MY-6513 BOLT M16x1,5x 80 mm 1
4 MY-6514 BOLT MI6x1,5x87mm 1
5 MY-6521 BRONZE BUSH 040x@36x82mm 1
6 My-652 METAL-RUBBERBUSH @39 mm (metalend) 1
7 MY653 INNER BOOT 1
8 MY-6541 STEEL CAP 050 x 28 mm 1
01- E S| 9 Mvesa STEEL CAP 026x11,5mm 1
10 MY6551 INNER BOOT RING 1
 INGAUPER Number LB S s 0-RING 1
K000375 - MB 000 420 2982 - IVECO 42538002
BPW 09.801.06.24.0 - MAN 81.50822.6023
SB6/SB7 TYPE.../SB7 RADIAL TYPE Series

I e T

MY-6505 GUIDE PIN 036x113,70mm

e 2 Myesia BOLT M16x15x87mm 1
05- [l 7-C -06

-‘ 3 MY-6521 BRONZE BUSH 040x036x82mm 1

4 Mves INNER BOOT 1

[ — 5 MY-6541 STEEL CAP 850 x28mm 1

Y R — "1 6 mress INNER BOOT RING 1

7 Myess3 0-RING 1
e e—

MYCALIPER Number  [LNRICHEL

K000696 - 11310370066 - MB 002 420 0383
SAF 3 434 3805 00

Application SB6/SB7 TYPE.../SB7 RADIAL TYPE Series
IIl www.mycaliper.com




SB6/SB7 TYPE

Caliper Guide & Seals Repair Kit

3. ES—— ‘_04
—
-06
T
-_05
01- { - ' C__»0

MYCALIPER Number \ MY-100122

M K000935 - SAF 3 434 3802 00

o SB6/SB7 TYPE.../SB5 TYPE
Application SB7 RADIAL TYPE Series

Caliper Guide & Seals Repair Kit

07-. 09- - -08

p——r

— i o .
01-‘\ _i ,- 02

MYCALIPER Number  [[RILQEE

11358510062 - MB 000 420 1182 - 050 121 1047
SCANIA 1415149 - 1415154 - 1415515

Application SB6/SB7 TYPE.../SB7 RADIAL TYPE Series

Caliper Guide & Seals Repair Kit

07- . 09-C__p»

8-
5. —

-06
—i -

LR L T RS
R — =)

MYCALIPER Number \ MY-100124

11179320062 - MB 050 121 0167 - DAF B230397

Application SB6/SB7 TYPE.../SB7 RADIAL TYPE Series

www.mycaliper.com

1

N S v A W N

m MYCALIPER NR DESCRIPTIONS m

O 00 N S 1 AW N -

-
=

m MYCALIPER NR DESCRIPTIONS m

O 0 N S 1 AW N -

MY-6507
MY-6518
MY-6521
MY-6531
MY-6532
MY-6551
MY-6552

MY-6503
MY-6507
MY-6516
MY-6518
MY-6521
MY-6526
MY-6531
MY-6532
MY-6551
MY-6552

MY-6503
MY-6506
MY-6516
MY-6517
MY-6521
MY-6526
MY-6539
MY-6540
MY-6552

GUIDE PIN
BOLT
BRONZE BUSH
INNER BOOT
OUTER BOOT
INNER BOOT RING
OUTER BOOT CLAMP

GUIDE PIN
GUIDEPIN
BOLT
BOLT
BRONZE BUSH
RUBBER BUSH
INNER BOOT
OUTER BOOT
INNER BOOT RING
OUTER BOOT CLAMP

GUIDE PIN
GUIDEPIN
BOLT
BOLT
BRONZE BUSH
RUBBER BUSH
INNER BOOT
OUTER BOOT (SHORT)
OUTER BOOT CLAMP

KNORR SERIES

036 x 145 mm
M16x1,5x 150 mm
040 x 336 x 82 mm

034 x 120 mm
@36 x 145 mm
M16x1,5x125 mm
M16x1,5x 150 mm
040 x @36 x 82 mm
040 x @34 x 95 mm

034x 120 mm
036 x 135 mm
M16x1,5x125 mm
M16x1,5x 140 mm
040x @36 x 82 mm
040 x @34 x 95 mm

[

MYCALIPER NR DESCRIPTIONS W

1
1
1

1
1
1

L
a-
>
=
N~
[a'a)
[a)
e
O
o
wv

KNORR




KNORR SERIES

SB6/SB7 TYPE
"
=
= E Caliper Guides & Seals Repair Kit mm-
§§ MY-6502 GUIDE PIN 034x80 mm
07- . 09- . —08| 2 MY-6506 GUIDE PIN 036135 mm 1
3 MY-6514 BOLT M16x1,5x 87 mm 1
c—— 4 MY-6517 BOLT M16x1,5x140mm 1
05- — 10-L . 06 s MY-6521 BRONZE BUSH 040 x 936 x 82 mm 1
6 MY-6525 RUBBER BUSH 1
— — “04| 7 MY-6531 INNER BOOT 1
8 MY-6532 OUTER BOOT 1
01_E| ﬁ ol ° MY-6551 INNER BOOT RING 1
L 10 MY-6552 OUTER BOOT CLAMP 1

MYCALIPER Number \ MY-100125 |

K000132 - MB 000 420 1082 - 000 420 2182
SCANIA 1390426 - 1798063 - 2121644

Application SB6/SB TYPE.../SB7 RADIAL TYPE Series
Caliper Guides & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m-

1 MY-6502 GUIDE PIN 034X 80 mm
06- ‘ 08- 07| 2 MY-6505 GUIDE PIN #36x 113,70 mm 1
) 3 MY-6514 BOLT M16x1,5x87mm 2
00 O s 4 MY-6521 BRONZE BUSH @40 x 036 x 82 mm 1
pr—— 5 MY-6525 RUBBER BUSH 1
6 MY-6531 INNER BOOT 1
T o Th e 7 MY-6541 STEEL CAP 050 x 28 mm 1
8 MY-6551 INNER BOOT RING 1
0l E E ‘ol 9 MY-6553 0-RING 1

T My-100127 |

1139769F0062 - SCANIA 2121645 - IVECO 42537451

Application SB6/SB7 TYPE.../SB7 RADIAL TYPE Series
Caliper Guides & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m-

MY-6501 GUIDE PIN 032 x 80 mm
07- ‘ 09- --08 2 MY-6507 GUIDE PIN 036 x 145 mm 1
3 MY-6518 BOLT M16x1,5x 150 mm 1
. 4 MY-6513 BOLT M16x 1,5 x 80 mm 1
05- — 10-¢ _111*' .- 06 5 MY-6521 BRONZE BUSH 040 x @36 x 82 mm 1
— ' 6 MY-6523 METAL-RUBBER BUSH (SHORT) @39 mm (metal end) 1
04- - 7 MY-6531 INNER BOOT 1
8 MY-6532 OUTER BOOT 1
01- — E)y) 9 MY-6551 INNER BOOT RING 1
10 MY-6552 OUTER BOOT CLAMP 1

MYCALIPER Number \ MY-100411

K000687 - DAF 1603326

Application SB6/SB7 TYPE.../SB7 RADIAL TYPE Series
IIl www.mycaliper.com




Caliper Guides & Seals Repair Kit

SB6/SB7 TYPE

MY-6501
MY-6502
MY-6505
MY-6513
MY-6514
MY-6521
MY-6523
MY-6525
MY-6531

02-

I

MY-6541

MYCALIPER Number ‘ MY-100317

‘ n MY-6543

K000365 - MB 000 420 0782 - 000 420 2282 13

12 MY-6551
MY-6553

o SB6/SB TYPE.../SB7 RADIAL TYPE
Application SNG/SN7/SK7/NAT/ST7 TYPE Series

Caliper Guides & Seals Repair Kit

m MYCALIPER NR DESCRIPTIONS m-

GUIDEPIN
GUIDE PIN
GUIDE PIN
BOLT
BOLT
BRONZE BUSH

METAL RUBBER BUSH (SHORT)

RUBBER BUSH
INNER BOOT
STEEL CAP
STEEL CAP
INNER BOOT RING
0-RING

KNORR SERIES

032 x 80 mm 1
034 x 80 mm 1
036x 113,70 mm 1

M16x1,5x80 mm 1
M16x1,5x87 mm 2
040 x @36 x 82 mm 1
039 mm (metal end) 1

050 x 28 mm 1
040 x 14,5 mm 1

m MYCALIPER NR DESCRIPTIONS m-

10-

o- [0

o
—
1
o
~
1
1
—
~
—
=)

MYCALIPER Number ([N RLOLT

K031844K50 - K011117

SCANIA 1756390 - 1906779

1 MY-6505

2 MY-6510

3 MY-6513
‘- 12 4 MY-6514
5 MY-6521

-13 6 MY-6531
7 MY-6541

8 MY-6543

9 MY-6551

MY-6553

‘ 1 MY-6577

12 MY-6578

13 MY-6579

14 MY-6580

Application SB6/SB7 TYPE.../SB7 RADIAL TYPE Series

Caliper Guides & Seals Repair Kit

05-

03-

m”

01-

C__»-08

8
e
e

MY-6502
MY-6506
MY-6514
MY-6517
MY-6521
MY-6525
MY-6539
MY-6552
MY-6656

O 00 N S 1 AW N

MYCALIPER Number ‘ MY-100994

11197140062 - MAN 81.80822.6006

Application SB6/SB7 TYPE Series

www.mycaliper.com

GUIDE PIN
GUIDEPIN
BOLT
BOLT
BRONZE BUSH
INNER BOOT
STEEL CAP
STEEL CAP
INNER BOOT RING
0-RING
STEEL CAP
METAL-RUBBER BUSH (SHORT)
INNER BOOT RING
INNER BOOT

GUIDE PIN
GUIDEPIN
BOLT
BOLT
BRONZE BUSH
RUBBER BUSH
INNER BOOT
OUTER BOOT CLAMP
OUTER BOOT

036x 113,70 mm

032 x 84 mm 1
M16x1,5x80 mm 1
M16x1,5x87 mm 1
040 x @36 x 82 mm 1

650 x 28 mm 1
040 x 14,5 mm 1
1

1

042,5x37 mm 1

039 mm (metal end) 1

m MYCALIPER NR DESCRIPTIONS W-

034 x 80 mm
036 x 135 mm 1
M16x1,5x87 mm 1

M16x1,5x 140 mm 1
040 x 036 x 82 mm 1

[

L
o
>
—
N~
[a'a)
[a)
e
O
[aa)]
wv

KNORR




KNORR SERIES

SB6/SB7 TYPE
a
e E Caliper Guides & Seals Repair Kit mm-
éé MY-6502 GUIDE PIN 03480 mm
06_' 2 MY-6507 GUIDE PIN 036X 145 mm
3 MY-6513 BOLT M16x 1,5 x 80 mm
4 MY-6518 BOLT M16x1,5x 150 mm
05-_ 5 MY-6521 BRONZE BUSH 040 x 936 x 82 mm
J——— 6 MY-6525 RUBBER BUSH 1
CE 7 MY-6531 INNER BOOT 1
8 MY-6532 OUTER BOOT 1
01 _E 9 MY-6551 INNER BOOT RING 1
10 MY-6552 OUTER BOOT CLAMP 1
NI My-100102- |
11328090062 - SCANIA 2121642 - BPW 09.801.02.58.0
09.801.02.88.0 - SAF 85317002 100 - 8 531 7002 200
SB6/SB7 TYPE.../SB7 RADIAL TYPE Series

Caliper Guides & Seals Repair Kit

m MYCALIPER NR DESCRIPTIONS m-

1 MY-6501 GUIDE PIN 032 80 mm
06 j - ._07 2 Mv-6505 GUIDE PIN 036x113,70mm 1
: ) ' 3 MY-6513 BOLT M16x1,5x 80 mm 1
05- — 10- O -08| s MY-6521 BRONZE BUSH @40 x 036 x 82 mm 1
6 MY-6523 METAL-RUBBER BUSH (SHORT) @39 mm (metal end) 1
. - -_04 7 MY-6531 INNER BOOT 1
8 MY-6551 INNER BOOT RING 1
01 - E “ol 9 Mvesar STEEL CAP 050 x 28 mm 1
 —————
10 MY-6553 0-RING 1
TETE T My-100117-1 |
K048371K50 - MAN 81.50822.6036
SCANIA 2121648
Application SB6/SB7 TYPE.../SB7 RADIAL TYPE Series

Caliper Guides & Seals Repair Kit

m MYCALIPER NR DESCRIPTIONS m-

1 MY-6502 GUIDE PIN 034x80 mm
07- . . ol 2 MY-6506 GUIDE PIN 036 X135 mm 1
3 MY-6514 BOLT M16x1,5x87 mm 1
4 Y6517 BOLT M16x15x140mm 1
05- j C2 08| 5 My BRONZE BUSH g40x036x82mm 1
6 MY-6525 RUBBER BUSH 1
B . T 1
8 MY-6552 OUTER BOOT CLAMP 1
01 ﬁ_ n| o Meesss INNER BOOT 1

MYCALIPER Number ‘ MY-100124-1 ‘

11197330062

Application SB6/SB7 TYPE.../SB7 RADIAL TYPE Series
KN

www.mycaliper.com




KNORR SERIES

(NN
o-
. . e 3=
Caliper Guides & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS W- n°= S
wv
MY-6501 GUIDEPIN @32 x 80 mm 1 =
- x5
06 - j 0B ._07 2 MY-6505 GUIDE PIN 036X 113,70 mm 1
: 3 MY-6513 BOLT M16x 1,5 x 80 mm 1
05- — 09 s MY-6521 BRONZE BUSH @40 x 036 x 82 mm 1
6 MY-6523 METAL-RUBBER BUSH (SHORT)  #39 mm (metal end) 1
T -_04 7 MY6531 INNER BOOT 1
8 MY-6543 STEEL CAP 040x 14,5 mm 1
01 _ _02 9 MY-6551 INNER BOOT RING 1

MYCALIPER Number \ MY-100140 |

K001915 - K048389K50 - MB 000 420 4682
MAN 81.50822.6034 - 81.50822.6037
SCANIA 1477675 - 1527631 - 2121646 - DAF 1639100

o SBG/SB7 TYPE.../ SNG/SN7/SK7/NA7/ST7 TYPE
Application SL7/SM7 TYPE Series

Caliper Guide & Seals Repair Kit

m MYCALIPER NR DESCRIPTIONS W-

Caliper Guides & Seals Repair Kit

07-

e
el
s

MYCALIPER Number ‘ MY-100986

K048396K50 - SCANIA 2121641

Application SB6/SB7 TYPE Series

www.mycaliper.com

m MYCALIPER NR DESCRIPTIONS W-

O 00 N & i A W N -

-
=

MY-6501
MY-6505
MY-6513
MY-6514
MY-6521
MY-6651
MY-6531
MY-6541
MY-6551
MY-6553

GUIDE PIN
GUIDEPIN
BOLT
BOLT
BRONZE BUSH

METAL RUBBER BUSH (SHORT)

INNER BOOT
STEEL CAP
INNER BOOT RING
0-RING

1 MY-6504 GUIDEPIN 036 X 64 mm
og- [E5R - . ._07 2 MY-6505 GUIDE PIN 036X 113,70 mm
' 3 MY-6511 BOLT M16x1,5x 70 mm
05- e 06- q ' -0 s MY-6521 BRONZE BUSH 040 x 836 x 82 mm
) 6 MY-6527 SLOTTED BUSH 040 x 636 X 20 mm
3- - ——04 7 MY-6531 INNER BOOT
8 MY-6544 STEEL CAP 040 x 25 mm
01- E 08- - -02 9 MY-6541 STEEL CAP 050 x 28 mm
T —————T
10 MY-6551 INNER BOOT RING
MYCALIPER Number ([ RLCEL o esss O-RiNG
K010813 - MAN 81.50822.6033
Application SB6/SB7 TYPE.../SB7 RADIAL TYPE Series

032 x 80 mm
036x 113,70 mm
M16x1,5x80 mm
M16x 1,5 x 87 mm
040 x 036 x 82 mm

035 mm (metal end)

050 x 28 mm

il o



KNORR SERIES

(NN
a-
= . . -
n°= S Caliper Guides & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS W-
v
=9 MY-6501 GUIDEPIN @32 x 80 mm
=3 @ > 07
12- 0~ 10- 2 MY-6505 GUIDE PIN #36x 113,70 mm 1
3 MY-6513 BOLT M16x15x80mm 1
——— 4 MY-6514 BOLT M16x1,5x 87 mm 1
06- - ~05
—— 5 Myes21 BRONZE BUSH §40x036x82mm 1
6 MY-6522 METALRUBBERBUSH @39 mm (metalend) 1
B ] 13- (. P MY-6531 INNER BOOT 1
8 MY-6541 STEEL CAP 050 x 28 mm 1
i 9 MY-6542 STEEL CAP 026x11,5mm 1
10 MY-6551 INNER BOOT RING 1
MYCALIPER Number [ RL IECR | M Mvess3 O-RiNG !
12 MY-6617 METAL OF RUBBER BUSH g35 mm 1
K067417K50 - SCANIA 2064260 - 2292232
3433820 00 13 MY-6543 STEEL CAP 040X 14,5 mm 1
Application SB6/SB7 TYPE.../SB7 RADIAL TYPE Series

N e N

MY-6501 GUIDE PIN #32x 80 mm
2 MY-6513 BOLT M16x 1,5 x 80 mm 1
- 3 MY-6524 METAL-RUBBER BUSH @35 mm (metal end) 1
03- . = -04
«-.> 4 MY-6542 STEEL CAP 026 x 11,5 mm 1

MYCALIPER Number ‘ MY-100355-1 ‘

K000698 - BPW 09.801.06.90.0

Application SB6/SB7 TYPE.../SB7 RADIAL TYPE Series
Caliper Guide Repair Kit m MYCALIPER NR DESCRIPTIONS W-

1 MY-6501 GUIDE PIN @32 x 80 mm
2 MY-6522 METAL RUBBER BUSH 039 mm (metal end) 1

= m

MYCALIPER Number ‘ MY-100355-2

K000697
S SB6/SB7 TYPE.../SB5 TYPE
Application
SB7 RADIAL TYPE Series
IIl www.mycaliper.com




KNORR SERIES

(NN
(=T
. . s =
Caliper Guide Repair Kit m MYCALIPER NR DESCRIPTIONS W n°= S
wv
1 MY-6501 GUIDE PIN 032x80 mm 1 =3
=3
2 MY-6513 BOLT M16x1,5x80 mm 1
3 MY-6523 AR VERSION) @39 mm (metalend) 1

MYCALIPER Number ‘ MY-100355-3

Application SB6/SB7 TYPE.../ SB7 RADIAL TYPE
SL7/SM7 TYPE.../ SN6/SN7/SK7/NA7/ST7 TYPE Series
Caliper Rubber Bush & Guide Repair Kit m MYCALIPER NR DESCRIPTIONS W-

MY-6502 GUIDEPIN 034 x80 mm
2 MY-6514 BOLT M16x1,5x 87 mm 1

. 3 MY-6525 RUBBER BUSH

MYCALIPER Number ‘ MY-100106

11368470064 - DAF 1448910 - SAF 3 434 3801 00
SCANIA 2121840

o SB6/SB7 TYPE.../SB5 TYPE
Application SB7 RADIAL TYPE Series
Caliper Guides & Cap Repair Kit m MYCALIPER NR DESCRIPTIONS W-

1 MY-6501 GUIDE PIN 32 x 80 mm
O 38 mm 2 MY-6505 GUIDE PIN @36x 113,70 mm 1
10 A 3 MY-6513 BOLT M16x 1,5 x 80 mm 1
— — =1 (@) ‘08
4 MY-6514 BOLT M16x 1,5 %87 mm 1
5 MY-6543 STEEL CAP §40x 14,5 mm 1
0~ (@ 09- ~06
: 6 MY-6551 INNER BOOT RING 1
7 MY-6563 ADJUSTING MECHANISM ADAPTER 1
0) BT 0- P
8 MY-6557 PLASTIC COVER CAP 038 mm 1
o EI E ol ° MY-6542 STEEL CAP 026 x11,5mm 1
10 MY-100474 CALIPER PAD RETAINER REPAIR KIT 1

MYCALIPER Number \ MY-100898-2 |

K003800

Application SB6/SB7 TYPE.../SB7 RADIAL TYPE Series

www.mycaliper.com "I



KNORR SERIES

SB6/SB7 TYPE
s . :
Sl Coeruter oot mpi I N T
P § MY-6552 OUTER BOOT CLAMP
2 A
2 MY-6656 OUTER BOOT 1

o1- | _A}, -0

MYCALIPER Number \ MY-100995

11197140063

Application SB6/SB7 TYPE Series
Caliper Outer Boot & Clamp Kit m MYCALIPER NR DESCRIPTIONS m-

MY-6552 OUTER BOOT CLAMP
2 MY-6540 OUTER BOOT (SHORT) 1

MYCALIPER Number ‘ MY-100996

11344730063 - MAN 81.50822.6010
DAF 1448600

Application SB6/SB7 TYPE Series
Caliper Steel Cap Repair Kit m MYCALIPER NR DESCRIPTIONS m-

MY-6541 STEEL CAP 050 x 28 mm
2 MY-6553 0-RING 1

-02
s

\\ -—
MYCALIPER Number  [[TNRIOIPS

1139769F0063 - SAF 3 434 3806 00

Application SB6/SB7 TYPE.../SB7 RADIAL TYPE Series
IIl www.mycaliper.com




KNORR SERIES

SB6/SB7 TYPE

Caliper Piston Tappet Repair Kit

MYCALIPER Number ‘ MY-100115

11179320065 - 11304130065
SCANIA 1390429

o SB6/SB7 TYPE.../SB5 TYPE
Application $B7 RADIAL TYPE Series

Caliper Piston Tappet & Seals Repair Kit

-> -

MYCALIPER Number \ MY-100116

K000944 - K010604 - MB 000 420 0682 - 000 420 3982 - 000 420 4882
MAN 81.50822.6007 - 81.50822.6022 - 81.50822.6032

SCANIA 1743421 - 1746824 - 1756389 - 1759811 - 1723414 - 2121859
DAF 1448913 - 1623221 - IVEC0 93162050 - BPW 09.801.02.63.0

SAF 3434380400 - 8 5317002 800

o SBG/SB7 TYPE.../SB5 TYPE
Application SB7 RADIAL TYPE Series

Caliper Adjusting Mechanisms Kit

MYCALIPER Number \ MY-100899

o SB6/SB7 TYPE.../SN6/SN7/SK7/NA7/ST7 TYPE
Application $B7 RADIAL TYPE Series

www.mycaliper.com

m MYCALIPER NR DESCRIPTIONS m

1 MY-6533 TAPPET & BOOT ASSEMBLY 074 mm 2
2 MY-6520 TAPPET BUSH @18x@16x 10 mm 2

m MYCALIPER NR DESCRIPTIONS m-

MY-6533 TAPPET & BOOT ASSEMBLY 074 mm
2 MY-6537 INNER SEAL 2
3 MY-6520 TAPPET BUSH 018x @16 x 10 mm 2

m MYCALIPER NR DESCRIPTIONS m-

MY-100129 ADJUSTING MECHANISM
2 MY-100130 ADJUSTING SHAFT (WITH SPRING) 1
3 MY-100131 CHAIN (29 LINKS) 1

=z

L
a-
>
=
N~
[a'a)
[a)
e
O
o
wv

KNORR




KNORR SERIES
SB6/5B7 TYPE

Caliper Calibration Bolt

(]
o
>
—
N~
[a'a]
(%)
S~
O
[aa]
v

KNORR

SB6/SB7 TYPE.../SB5 TYPE.../SN5 TYPE
Application SN6/SN7/SK7/NA7/ST7 TYPE
SB7 RADIAL TYPE Series

T L o o e I o Tl Il LI S

SB6/SB7 TYPE.../SL7/SM7 TYPE
Application SN5 TYPE .../SN6/SN7/SK7/NA7/ST7 TYPE

Caliper Chain (29 links)
SB7 RADIALTYPE Series

Caliper Adjusting Mechanism

SB6/SB7 TYPE.../SL7/SM7 TYPE
Application SN6/SN7/SK7/NA7/ST7 TYPE
SB7 RADIAL TYPE Series

Caliper Adjusting Mechanism (Orig. Type)

SB6/SB7 TYPE.../SL7/SM7 TYPE
Application SN6/SN7/SK7/NA7/ST7 TYPE
SB7 RADIAL TYPE Series

Caliper Adjusting Shaft (Without Spring)

Application SB6/SB7 TYPE Series

1

I" www.mycaliper.com



KNORR SERIES

SB6/SB7 TYPE
Caliper Shaft Housing Pin & Clamp Repair Kit m MYCALIPER NR DESCRIPTIONS m
1 MY-6701 SHAFT HOUSING PIN 1
2 MY-6700 SHAFT HOUSING CLAMP 2

A A

MYCALIPER Number ‘ MY-200239

Application SB6/SB7 TYPE
SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Adjusting Shaft (With Spring)

MYCALIPER Number MY-100130

SB6/SB7 TYPE
Application SN6/SN7/SK7/NA7/ST7 TYPE
SB7 RADIAL TYPE Series

Mechanism With Spring New Type

SB6/SB7 TYPE.../SL7/SM7 TYPE
SN6/SN7/SK7/NA7/ST7 TYPE Series

Application

(aliper Roller Bearings

MYCALIPER Number MY-100269

SB6/SB7 TYPE.../SB5 TYPE
SB7 RADIAL TYPE Series

Application

www.mycaliper.com "I

L
a-
>
=
N~
[a'a)
[a)
S~
O
(2]
wv

KNORR




(]
o
>
—
N~
[a'a]
(%)
S~
O
[aa]
v

KNORR

KNORR SERIES

Caliper Bridge Assembly

0

SB6/SB7 TYPE
I e N
1 MY-6571 SPRING 025 x 49 mm
2 MY-6591 BRIDGE ASSEMBLY 1

MYCALIPER Number ‘ MY-100132

Application SB6/SB7 TYPE.../SB7 RADIAL TYPE Series

Caliper Adjusting Mechanism Adapter Kit

m MYCALIPER NR DESCRIPTIONS m-

)
B E)

Bimy #0m

MY-6563 MECHANISM ADAPTER

I H(my o

MYCALIPER Number  [LNRICIRL

2001548 - HENDRICKSON S-29152-5

o SBG/SBT TYPE.../SN6/SN7/SK7/NAT TYPE
Application SB7 RADIAL TYPE Series

Caliper Adjusting Mechanism Wheel Kit

m MYCALIPER NR DESCRIPTIONS m-

QD
QD

MY-6564 ADJUSTING MECHANISM WHEEL

MYCALIPER Number ‘ MY-100111

o SBG/SB7 TYPE.../SN6/SN7/SK7/NAT TYPE
Application SB7 RADIAL TYPE Series

EN

www.mycaliper.com



SB6/SB7 TYPE

Caliper Lever (Angle 12° - 123 mm)

KNORR SERIES

(73164

Application SB6/SB7 TYPE Series

Caliper Lever (Angle 0° - 114 mm)

(73158

Application SB6/SB7 TYPE Series

Application SB6/SB7 TYPE Series

Caliper Lever (Angle 0° - 127 mm)

Application SB6/SB7 TYPE Series

Caliper Roller Bearings

SB6/5B7.../SB7 RADIAL

Caliper Lever (Angle 12° - 123 mm)
Application

SN6/SN7/SK7/NA7/ST7 TYPE Series

www.mycaliper.com

il s

L
a-
>
=
~
[a'a)
[a)
S~
O
o
wv

(=
o=
(=)
p—
=




KNORR SERIES

SB6/SB7 TYPE
s . -
Sl sevor s s I e N
= g MY-6559 SENSOR ADJUSTER PLASTIC 5,3 mm
— v

MYCALIPER Number \ MY-100892

o SB6/SB7 TYPE
Application SN6/SN7/SK7/NA7 TYPE Series
Sensor Rod Kit (Small) m MYCALIPER NR DESCRIPTIONS m-

1 MY-6646 SENSOR ROD (SMALL)

=
L
L

MYCALIPER Number ‘ MY-100967

o SB6/SB7 TYPE.../SL7/SM7 TYPE
Application SN6/SN7/SK7/NA7/ST7 TYPE Series
Caliper Plug Kit m MYCALIPER NR DESCRIPTIONS W-

MY-6586 PLUG 055/50x 11 mm

MYCALIPER Number \ MY-100804

o SB6/SB7 TYPE.../SN6/SN7/SK7/NAT/ST7 TYPE
Application SBS TYPE.../SN5 TYPE.../SL7/SM7 TYPE Series
IIl www.mycaliper.com




KNORR SERIES

SB6/SB7 TYPE
. _— ecs
Caliper Lever Bearing Kit m MYCALIPER NR DESCRIPTIONS m- e~
o3
MY-6597 CALIPER LEVER BEARING 5 =3
4

MYCALIPER Number \ MY-100338 |

. $B6/SB7 TYPE.../SB7 RADIALTYPE
SN6/SN7/SK7/NA7/ST7 TYPE Series
Sensor Stabilizer Plastic Kit m MYCALIPER NR DESCRIPTIONS m-

1 MY-6647 SENSOR STABILIZER PLASTIC

MYCALIPER Number ‘ MY-100968

Application SB6/SB7 TYPE.../SL7/SM7 TYPE Series

ClprPlsicCove Wit sexson N e T

1 MY-6546 PLASTIC COVER
2 MY-6554 SENSOR COVER SEAL 1
3 MY-6575 SCREW WITH RIVET 6
01- ° -04 4 MY-6550 SEAL 1
5 MY-6600 CALIPER PLASTIC COVER RING 1
6 MY-6557 PLASTIC COVER CAP @38 mm 1

o ) & v
wibbddd @ -

MYCALIPER Number ‘ MY-100133-1 ‘

o SBG/SB7 TYPE.../SL7/SM7 TYPE
Application SNG/SN7/SK7/NAT/ST7 TYPE Series

www.mycaliper.com "I



KNORR SERIES

SB6/5SB7 TYPE
1
g
E E Caliper Sensor Cover (2 Cables Sensor) mm-
E é MY-6583 PLASTIC COVER (WITH HOLE)
2 MY-6554 SENSOR COVER SEAL 1
o o 3 MY-6575 SCREW WITH RIVET 6
4 MY-6550 SEAL 1
02- < - ) -05 5 MY-6600 CALIPER PLASTIC COVER RING 1
6 MY-6557 PLASTIC COVER CAP 038 mm 1
03- l ‘ ‘, A ; l ‘ ~06 7 MY-6547 2 CABLES SENSOR 1
8 MY-6647 SENSOR STABILIZER PLASTIC 1
07-.:‘ 08- —09 | 9 MY-6559 SENSOR ADJUSTER PLASTIC 53mm 1

MYCALIPER Number ‘ MY-100133 ‘

o SB6/SB7 TYPE.../SL7/SM7 TYPE
Application SN6/SN7/SK7/NAT/ST7 TYPE Series
Caliper Sensor Cover (3 Cables Sensor) m MYCALIPER NR DESCRIPTIONS m-

MY-6583 PLASTIC COVER (WITH HOLE)
2 MY-6554 SENSOR COVER SEAL 1
o ° o 3 MY-6575 SCREW WITH RIVET 6
4 MY-6550 SEAL 1
02- C____\_\) ° -05 5 MY-6600 CALIPER PLASTIC COVER RING 1
6 MY-6557 PLASTIC COVER CAP @38 mm 1
3-4444414 ‘ -06| 7 MY-6587 3 CABLES SENSOR (FOR MERCEDES) 1
8 MY-6647 SENSOR STABILIZER PLASTIC 1
07- k 08- —09| 9 MY-6559  SENSOR ADJUSTER PLASTIC 5,3 mm 1

MYCALIPER Number ‘ MY-100133-2

(MERCEDES)
o SBG6/SB7 TYPE.../SL7/SM7 TYPE
Application SN6/SN7/SK7/NA7/ST7 TYPE TYPE Series
Caliper Sensor Cover (3 Cables Sensor) m MYCALIPER NR DESCRIPTIONS m-

1 MYv6583  PLASTICCOVER (WITHHOLE)

2 Mv6554 SENSOR COVER SEAL 1
o ° M e SCREW WITH RIVET 6

4 MY-6550 SEAL 1
v ‘_\D &P 15| 5 M0 CALPERPLASTICCOVERRING 1

6  MV6557 PLASTIC COVER CAP 038 mm 1
3>-4444414 ‘ -06| 7 MY-6588 3 CABLES SENSOR(FOR MAN) 1

8 MY-6647  SENSORSTABILIZER PLASTIC 1
07_" 08 09| 9 MY-6559  SENSORADJUSTER PLASTIC 53mm 1

MYCALIPER Number ‘ MY-100133-3 ‘

(MAN TGA)
o SBG/SB7 TYPE.../SL7/SM7 TYPE
Application SNG/SN7/SK7/NA7/ST7 TYPE Series
IIl www.mycaliper.com




KNORR SERIES

SB6/SB7 TYPE

"
o
Caliper Plastic Cover ( Without Sensor) mm- g°== g
MY-6548 PLASTIC COVER (WITH HOLE) 1 E g

2 MY-6554 SENSOR COVER SEAL 1

3 MY-6575 SCREW WITH RIVET 6

4 MY-6550 SEAL 1

5 MY-6600 CALIPER PLASTIC COVER RING 1

6 MY-6557 PLASTIC COVER CAP 038 mm 1

7 MY-6605 COVER CLIPS 1

MYCALIPER Number ‘ MY-100416 ‘

o SB6/SB7 TYPE
Application SNG/SN7/SK7/NA7/ST7 TYPE Series
Caliper Sensor Cover (3 Cables Sensor ) m MYCALIPER NR DESCRIPTIONS W-

MY-6548  PLASTIC COVER (WITH HOLE)

2 MY-6554 SENSOR COVER SEAL 1

° Rl MY-6575 SCREW WITH RIVET 6

4 MY-6550 SEAL 1

02-\ - ) ° -05| 5 MY-6600  CALIPER PLASTIC COVER RING 1
) 6 MY-6557 PLASTIC COVER CAP 038 mm 1

-4444414 07-! ; ‘ —06| 7 MY-6605 COVER CLIPS 1
8 MY-6587 3 CABLES SENSOR (FOR MERCEDES) 1

08- k 09- 0l 0 MY-6647  SENSOR STABILIZER PLASTIC 1
10 MY-6559 SENSOR ADJUSTER PLASTIC 53mm 1

MYCALIPER Number \ MY-100416-1

(MERCEDES)

o SBG/SB7 TYPE
Application SNG/SN7/SK7/NA7/ST7 TYPE Series
Caliper Sensor Cover (3 Cables Sensor) m MYCALIPER NR DESCRIPTIONS m-

1 MY-6548  PLASTICCOVER (WITH HOLE)

01 ° | 2 MY-6554 SENSOR COVER SEAL 1
3 MY-6575 SCREW WITH RIVET 6

4 MY-6550 SEAL 1

2- C \\> ° 05 s MY-6600  CALIPER PLASTIC COVER RING 1
. 6 MY-6557 PLASTIC COVER CAP g38 mm 1

-$48444 07-"",, ‘ -06 | 7 MY-6605 COVER CLIPS 1
8 MY-6588 3 CABLES SENSOR(FOR MAN) 1

og-w 09- 0] 9 MY-6647  SENSOR STABILIZER PLASTIC 1
10 MY-6559  SENSORADJUSTER PLASTIC 5,3 mm 1

MYCALIPER Number ‘ MY-100133-4

(MAN)

o SB6/SB7 TYPE
L SN6/SN7/SK7/NA7/ST7 TYPE Series

www.mycaliper.com "I



(]
o
>
—
N~
[a'a]
(%)
S~
O
[aa]
v

KNORR

KNORR SERIES

SB6/5B7 TYPE

Caliper Plastic Cover Cap Kit

38 mm
! o 6 6- 6-
o e ¢ ¢ @
B @ e ] @
sl
L g s - -

MYCALIPER Number  [[NRI0T,

K000945 - MAN 81.50822.6024 - SCANIA 2121868
DAF 1439493 - SAF 8 531 7002 500

SB6/SB7 TYPE.../SL7/SM7 TYPE
Application SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Plastic Cover Cap Kit

m MYCALIPER NR DESCRIPTIONS m-

1 MY-6557 PLASTIC COVER CAP #38 mm
2 MY-6558 PLASTIC COVER CAP 10
3 MY-6563 ADJUSTING MECHANISM ADAPTER 10

m MYCALIPER NR DESCRIPTIONS m-

1 MY-6557 PLASTIC COVER CAP @38 mm
2 MY-6563 ADJUSTING MECHANISM ADAPTER 10

MYCALIPER Number ‘ MY-100268

Application SB6/SB7 TYPE.../SL7/SM7 TYPE
SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Plastic Cover Cap Kit

m MYCALIPER NR DESCRIPTIONS W-

’ & &

ol @ @
B @ @

03_ § g

MY-6561 PLASTIC COVER CAP @35 mm
2 MY-6558 PLASTIC COVER CAP 10
3 MY-6563 ADJUSTING MECHANISM ADAPTER 10

MYCALIPER Number ‘ MY-100267-1

" SB6/SB7 TYPE
Lty SN6/SN7/SK7/NA7/ST7 TYPE Series

El

www.mycaliper.com



KNORR SERIES

SB6/SB7 TYPE
&
. . . 3=
Caliper Plastic Cover Cap Kit m DESCRIPTIONS m- e~
=¥3
1 MY-6561 PLASTIC COVER CAP 035 mm =3
3
35mm 2 MY-6563 ADJUSTING MECHANISM ADAPTER 10
N YYWYWY
L8 8 8 B §
¥ z 5 q ¥
L @& L L § L k-

MYCALIPER Number ‘ MY-100268-1

K003902 - MB 000 420 3248 - SCANIA 2121869
2198536 - OTHER MODEL ADB22X - BENDIX 802643
SCHMITZ 1008453

mw SB6/SB7 TYPE
Application SN6/SN7/SK7/NA7/ST7 TYPE Series
Caliper Support Seal Kit m MYCALIPER NR DESCRIPTIONS m-

oo
oo

MYCALIPER Number ‘ MY-100803

o SB6/SB7 TYPE.../SB7 RADIAL TYPE
Application SB5 TYPE Series

www.mycaliper.com "I



KNORR SERIES

MYCALIPER Number ‘ MY-100990

o SBG/SB7 TPE.../ SB5 TYPE.../ SB7 RADIAL TYPE
Application CALIPER CONNECTING BOLT Series

(NN
= .
3 Cover Bolt Kit m MYCALIPER NR DESCRIPTIONS m-
v
=2 MY-6652 COVER BOLT M12x1,75 80 mm
2 A
| _—
s e mimm = T T m
—yt —7
= [ITHTTTTTRRTIT T PRI AT T = HRAA LR ALCRRARRL AL LARALL LA RAAALA
—qf —ot
R T I N I ARG LLGAR ARy
_".," AT W _‘:*'-wq” W e
SRR LML LA LARER R b B SRR LLRA L 0

Cover Bolt Kit m MYCALIPER NR DESCRIPTIONS W-
MY-6653 COVER BOLT M14x2x 52 mm
L B —— R ]
kLA LANY " AR AR
[ P L P —
ML A LA A AR
] [Pr——— [ ——
* b ALY b RRAALAMA R
L Br—— B
s AL AL M UL LA
MYCALIPER Number \ MY-100991
o SB6/SB7 TYPE.../ SB5 TYPE.../ SB7 RADIAL TYPE
Application CALIPER CONNECTING BOLT Series
P ,-:-.,l . s Caliper Pad Retainer Repair Kit
— O — MYCALIPER Number MY-100426
- g o r—

38 mm 38 mm E E

SB6/SB7 TYPE.../SB5 TYPE.../SN5 TYPE
SN6/SN7/SK7/NA7/ST7 TYPE
SB7 RADIAL TYPE Series

Application

www.mycaliper.com

EN



[
, s
Cover Bolt Kit m MYCALIPER NR DESCRIPTIONS W- n°: =
va
MY-6654 COVER BOLT M10x1,5x 60 mm 8 P g
v
i -
T MARLLARAAARRAAAANA N e 'Ai[-ih.wm.m.n..mmnduum
Do :"Wm
T ARAARAMA ARG AR kbbb AR LA
-~ l‘ —*1'
T ARUARAARMAb ARG ALADGA A T ANAUARRRALACKRARAAASARAMAA ARAAA
- ,|l =

KNORR SERIES

[TTTR Ty I FrTTTeee . ARAAREARAUAARAUL AL ML el

MYCALIPER Number ‘ MY-100992

o SBG/SBT TYPE.../ SB TYPE.../ SB7 RADIAL TYPE
Application CALIPER CONNECTING BOLT Series

Cover Bolt Kit

m MYCALIPER NR DESCRIPTIONS W-

MY-6663 COVER BOLT M8x 1,25 x 45 mm

e
e
T
e

MYCALIPER Number ‘ MY-200238 ‘

o SBG/SBT TYPE.../ SB TYPE.../ SB7 RADIAL TYPE
Application CALIPER CONNECTING BOLT Series

Caliper Pad Retainer Repair Kit

MYCALIPER Number MY-100128

K000133 - MB 000 420 2582

SB6/SB7 TYPE
SN6/SN7/SK7/NA7/ST7 TYPE Series

Application

www.mycaliper.com

=



KNORR SERIES
SB6/5B7 TYPE

N e T

1 MY-100128 PAD RETAINER REPAIR KIT
2 MY-200241 CABLO PROTECTION KIT 1

(]
o
>
—
N~
[a'a]
(%)
S~
O
[aa]
v

KNORR

02-

MYCALIPER Number ‘ MY-200256

Application SB6/SB7 TYPE
SN6/SN7/SK7/NA7/ST7 TYPE Series

Brake Pad Retainer Repair Kit m MYCALIPER NR DESCRIPTIONS W-

MY-100474 PAD RETAINER REPAIR KIT
2 MY-200241 CABLO PROTECTION KIT 1

=,
£l - {/ ‘;\
01_ T i
“——----u‘ O ===,

MYCALIPER Number ‘ MY-200257

KNORR: K000884

o SBG/SB7 TYPE.../ SN6/SN7/SK7/NAT/ST7 TYPE
Application SL7/SM7 TYPE.../ SB7 RADIAL TYPE Series

Caliper Cable Protection Kit

MYCALIPER Number MY-200241

Application SB6/SB7 TYPE Series

nlll www.mycaliper.com



KNORR SERIES
SB6/SB7 TYPE

hbber s o i shor) N e T

1 MY-6661 RUBBER BUSH CAP (SHORT)

L
a-
>
=
N~
[a'a)
[a)
S~
O
(2]
wv

KNORR

CCd

MYCALIPER Number ‘ MY-200215 ‘

o SBG/SB7 TYPE.../ SBS TYPE.../ SL7/SM7 TYPE
Application SB7 RADIAL... SNG/SN7/SK7/NA7/ST7 TYPE Series

b Bsh Cpltong T N

MY-6662 RUBBER BUSH CAP (LONG)

MYCALIPER Number ‘ MY-200219

mw SBG/SB7 TYPE.../ SBS TYPE.../ SL7/SM7 TYPE
Application SB7 RADIAL... SNG/SN7/SK7/NA7/ST7 TYPE Series

Caliper Cable Protection Kit

q h MYCALIPER Number MY-200242

Application SB6/SB7 TYPE Series

www.mycaliper.com "I



KNORR SERIES
SB6/5B7 TYPE

KNORR SETS > SB7 RADIAL TYPE / SB6-SB7 TYPE > MAN TGA SET (NEW MODEL) MYCALIPER Number >> MY-100379

(]
o
>
—
N~
[a'a]
wv
S~
O
[aa]
wv

KNORR

iy

. | | ;- f-
——
—
01E E 02 08 :
¢ — J

05 04 06 07
o] o Jar
1 MY-100140 CALIPER GUIDES & SEALS REPAIR KIT 1
2 MY-100132 CALIPER BRIDGE ASSEMBLY 1
3 MY-100116 PISTON & SEALS REPAIR KIT (674 mm) 1
4  MY-100129 CALIPER ADJUSTING MECHANISM 1
5  MY-100130 CALIPER ADJUSTING SHAFT (WITH SPRING) 1
6  MY-100131 CALIPER CHAIN (29 LINKS) 1
7  MY-100269 CALIPER ROLLER BEARINGS 1
8 MY-100108 CALIPER CALIBRATION BOLT 2

I" www.mycaliper.com



KNORR SERIES
SB6/SB7 TYPE

KNORR SETS > SB7 RADIAL TYPE / SB6-SB7 TYPE > AXOR SET (OLD MODEL) MYCALIPER Number >> MY-100137-2

L
(=
>
—
N~
[a'a)
v
e
O
[aa)]
wv

KNORR

i i : :

v

3
——
—
TR TR

08
¢ y
o @
03 02 05 06
m MYCALIPER NR DESCRIPTIONS
1  MY-100140 CALIPER GUIDES & SEALS REPAIR KIT 1
2 MY-100129 CALIPER ADJUSTING MECHANISM 1
3 MY-100130 CALIPER ADJUSTING SHAFT (WITH SPRING) 1
4  MY-100132 CALIPER BRIDGE ASSEMBLY 1
5  MY-100131 CALIPER CHAIN (29 LINKS) 1
6  MY-100105 CALIPER ROLLER BEARINGS 1
7 MY-100108 CALIPER CALIBRATION BOLT 2
8  MY-100116 PISTON & SEALS REPAIR KIT (874 mm) 1

www.mycaliper.com "I



SB7 RADIALTYPE

KNORR

KNORR
SB7 RADIAL TYPE

MYCALIPER
KNORR

AY-SAT Otomotiv Nakliyat Gida ith. ihr. Ltd. Sti.

www.mycaliper.com



SB7 RADIALTYPE

(=
[~
(=)
p—
=

KNORR
SB7 RADIAL TYPE

MICALIPEeR

Brake Caliper Repair Kits

www.mycaliper.com



KNORR SERIES

SB7 RADIAL TYPE
g
t
ec= . . —
n°= = Caliper Guides & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m-
(a'=
= MY-6502 GUIDE PIN 034x80 mm
A
05 . g | 2 Mvesor GUIDE PIN 036 x 145 mm 1
3 MY-6514 BOLT M16x1,5x 87 mm 1
4 MY-6518 BOLT M16x1,5x 150 mm 1
05- 10-C -09| 5 MY-6521 BRONZE BUSH 040 x 036 x 82 mm 1
6 MY-6525 RUBBER BUSH 1
T . INNER B00T 1
8 MY-6532 OUTER BOOT 1
0r- E E ol ° MY-6551 INNER BOOT RING 1
- 10 MY-6552 OUTER BOOT CLAMP 1

MYCALIPER Number ‘ MY-100102

11369100062 - 11339680062 - MB 000 420 1282
MAN 81.50822.6009 - SCANIA 1390427 - 2121643
DAF 1142142-1198153 1198154 -1448915
NEOPLAN 11015565 - IVEC0 93162048
Application SB7 RADIAL TYPE.../SB5 TYPE.../SB6/SB7 TYPE Series
Caliper Guides & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m-

MY-6501 GUIDE PIN 03280 mm
07- ‘ 1- O @ 08| 2 My-6505 GUIDE PIN g36x113,70mm 1
3 MY-6513 BOLT M16x1,5x80 mm 1
— 10- 4 MY-6514 BOLT M16x1,5x87mm 1
05- _ 06 5 myes BRONZE BUSH ga0x036x82mm 1
[rom—— 09- =™
6 Mv6524 METAL-RUBBERBUSH 035 mm(metalend) 1
3- _ — 04| 7 Mves3 INNER BOOT 1
8 Mvesal STEEL CAP 050 x 28 mm 1
T — E ‘ol 9 mesa STEEL CAP 026x11,5mm 1
p—— —
0 MY-6551 INNER BOOT RING 1
MY-6553 0-RING 1

-
—

MYCALIPER Number ‘ MY-100103

K001532 - SCANIA 1472919
BPW 09.801.06.31.0

Application SB7 RADIAL TYPE .../ SB6/SB7 TYPE Series
Caliper Guides & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m-

,_ 1 MY6501 GUIDE PIN 032 x80 mm

07 - ‘ - O h 2 L-08 | 2 MV-6505 GUIDEPIN 036x113,70mm 1

3 MY-6s13 BOLT M16x15x80mm 1

— 10- 4 MY-6514 BOLT M16x1,5x87mm 1

0 pre— 09- = _ 06 5 MY-6521 BRONZE BUSH @40 x 036 x 82 mm 1

6 My-6522 METAL-RUBBERBUSH @39 mm (metalend) 1

OO P 0 e INNER BOOT 1

8 MY-6541 STEEL CAP 050 x 28 mm 1

] — E | 9 Mvesa STEEL CAP B26x11,5mm 1
e

10 MY-6551 INNER BOOT RING 1

MY-6553 0-RING 1

MYCALIPER Number \ MY-100117

K000375 - MB 000 420 2982 - IVEC0 42538002
BPW 09.801.06.24.0 - MAN 81.50822.6023

Application SB7 RADIAL TYPE.../SB6/SB7 TYPE Series
“I" www.mycaliper.com

-
—




SB7 RADIAL TYPE

Caliper Guide & Seals Repair Kit

(3 —— ‘_04
————
-06
T s
-_05
01- { — ' 20

MYCALIPER Number ‘ MY-100122

K000935 - SAF 3 434 3802 00

o SB7 RADIAL TYPE.../SB5 TYPE
Application SB6/SB7 TYPE Series

Caliper Guide & Seals Repair Kit

8 -

MYCALIPER Number  [[NRICIPE

11358510062 - MB 000 420 1182 - 050 121 1047
SCANIA 1415149 - 1415154 - 1415515

Application SB7 RADIAL TYPE.../SB6/SB7 TYPE Series

Caliper Guide & Seals Repair Kit

07- . 09-C__p»

8-
5. —

-06
—i -

TR R T
i E r__,-OZ

MYCALIPER Number \ MY-100124

11179320062 - MB 050 121 0167 - DAF B230397

Application SB7 RADIAL TYPE.../SB6/SB7 TYPE Series

www.mycaliper.com

m MYCALIPER NR DESCRIPTIONS W-

N & v A W N

m MYCALIPER NR DESCRIPTIONS m-

O 00 N S 1 AW N

-
o

m MYCALIPER NR DESCRIPTIONS W-

O 00 N S 1 AW N =

MY-6507
MY-6518
MY-6521
MY-6531
MY-6532
MY-6551
MY-6552

MY-6503
MY-6507
MY-6516
MY-6518
MY-6521
MY-6526
MY-6531
MY-6532
MY-6551
MY-6552

MY-6503
MY-6506
MY-6516
MY-6517
MY-6521
MY-6526
MY-6539
MY-6540
MY-6552

GUIDE PIN
BOLT
BRONZE BUSH
INNER BOOT
OUTER BOOT
INNER BOOT RING
OUTER BOOT CLAMP

GUIDE PIN
GUIDE PIN
BOLT
BOLT
BRONZE BUSH
RUBBER BUSH
INNER BOOT
OUTER BOOT
INNER BOOT RING
OUTER BOOT CLAMP

GUIDE PIN
GUIDE PIN
BOLT
BOLT
BRONZE BUSH
RUBBER BUSH
INNER BOOT
OUTER BOOT (SHORT)
OUTER BOOT CLAMP

036 x 145 mm
M16x1,5x 150 mm

040 x @36 x 82 mm

034 x 120 mm
036 x 145 mm
M16x1,5x125 mm
M16x1,5x 150 mm
040 x @36 x 82 mm
040 x @34 x 95 mm

034 x120 mm
036 x 135 mm
M16x1,5x125 mm
M16x 1,5 x 140 mm
040 x @36 x 82 mm
040 x @34 x 95 mm

il o

KNORR SERIES

1
1
1

L
o
>
=
—
==
a
=T
(='=]
~
o
wv

KNORR




KNORR SERIES

g
=
= . . A
n°= :52 Caliper Guides & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m-
(a'=
= MY-6502 GUIDE PIN 034 x 80 mm
4
2 MY-6506 GUIDE PIN 036 135 mm 1
3 MY-6514 BOLT M16x1,5x 87 mm 1
4 MY-6517 BOLT M16x15x140mm 1
5 MY-6521 BRONZE BUSH 040x@36x82mm 1
6 MY-6525 RUBBER BUSH 1
7 MY-6531 INNER BOOT 1
8 MY-6532 OUTER BOOT 1
9 MY-6551 INNER BOOT RING 1
10 MYy-6552 OUTER BOOT CLAMP 1

MYCALIPER Number \ MY-100125 |

K000132 - MB 000 420 1082 - 000 420 2182
SCANIA 1390426 - 1798063 - 2121644

Application SB7 RADIAL TYPE.../SB6/SB7 TYPE Series
Caliper Guides & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m-

1 Mv-6502 GUIDE PIN 034 x 80 mm
06- 08- 07| 2 mvesos GUIDE PIN 036 113,70 mm 1
) 3 MY-6514 BOLT M16x1,5x87mm 2
NS | 4 e BRONZE BUSH 040x036x82mm 1
5 MY-6525 RUBBER BUSH 1
6  MY-6531 INNER BOOT 1
T Th 7 MY-6541 STEEL CAP 050 x 28 mm 1
8  MY-6551 INNER BOOT RING 1
0l E E ‘ol 9 MY-6553 0-RING 1

TN My-100127 |

1139769F0062 - SCANIA 2121645 - IVEC0 42537451

Application SB7 RADIAL TYPE.../SB6/SB7 TYPE Series
Caliper Guides & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m-

MY-6501 GUIDE PIN 032 x 80 mm
07_‘ 09- --08 2 MY-6507 GUIDE PIN 036 x 145 mm 1
3 MY-6518 BOLT M16x1,5x 150 mm 1
. 4 MY-6513 BOLT M16x 1,5 x 80 mm 1
05- — 10-¢ _111*' .-05 5 MY-6521 BRONZE BUSH 040 x @36 x 82 mm 1
— ' 6 MY-6523 METAL-RUBBER BUSH (SHORT) @39 mm (metal end) 1
04- - 7 MY-6531 INNER BOOT 1
8 MY-6532 OUTER BOOT 1
01- — )] 9 MY-6551 INNER BOOT RING 1
10 MY-6552 OUTER BOOT CLAMP 1

MYCALIPER Number \ MY-100411

K000687 - DAF 1603326

Application SB7 RADIAL TYPE.../SB6/SB7 TYPE Series
“I" www.mycaliper.com




SB7 RADIAL TYPE

Caliper Guides & Seals Repair Kit

10-C 06—. .-11
S 1
» B o

-13
O T

= @

07 -

15 .
pe————
O
—
| ———

01

MYCALIPER Number \ MY-100494

K031844K50 - K011117
SCANIA 1756390 - 1906779

Application SB7 RADIAL TYPE.../SB6/SB7 TYPE Series

Caliper Guides & Seals Repair Kit

07 09-. 10
g C——

va—
e -_I~ -05
01—E] 02- ) : _“_‘—'—03

-08
-

R
O

MYCALIPER Number  [[NRICELL

K000365 - MB 000 420 0782 - 000 420 2282

o SB7 RADIAL TYPE.../SB6/SB7 TYPE
Application SN6/SN7/SK7/NAT/STT Series

Caliper Guide & Seals Repair Kit

- 50 1-CO . .-07

s T -

MYCALIPER Number ‘ MY-100354

K010813 - MAN 81.50822.6033

Application SB7 RADIAL TYPE.../SB6/SB7 TYPE Series

www.mycaliper.com

1

O 00 N & 1 AW N

-_— e e el e
B W N a2 o

1

O 0 N S 1 AW N

- e ) )
w N = o

m MYCALIPER NR DESCRIPTIONS m

O 0 N S i AW N -

- -
]

MYCALIPER NR DESCRIPTIONS m

MY-6505
MY-6510
MY-6513
MY-6514
MY-6521
MY-6531
MY-6541
MY-6543
MY-6551
MY-6553
MY-6577
MY-6578
MY-6579
MY-6580

MYCALIPER NR DESCRIPTIONS m

MY-6501
MY-6502
MY-6505
MY-6513
MY-6514
MY-6521
MY-6523
MY-6525
MY-6531
MY-6541
MY-6543
MY-6551
MY-6553

MY-6504
MY-6505
MY-6511
MY-6514
MY-6521
MY-6527
MY-6531
MY-6544
MY-6541
MY-6551
MY-6553

GUIDE PIN
GUIDEPIN
BOLT
BOLT
BRONZE BUSH
INNER BOOT
STEEL CAP
STEEL CAP
INNER BOOT RING
0-RING
STEEL CAP
METAL-RUBBER BUSH (SHORT)
INNER BOOT RING
INNER BOOT

GUIDE PIN
GUIDE PIN
GUIDE PIN
BOLT
BOLT
BRONZE BUSH
METAL RUBBER BUSH (SHORT)
RUBBER BUSH
INNER BOOT
STEEL CAP
STEEL CAP
INNER BOOT RING
0-RING

GUIDE PIN
GUIDE PIN
BOLT
BOLT
BRONZE BUSH
SLOTTED BUSH
INNER BOOT
STEEL CAP
STEEL CAP
INNER BOOT RING
0-RING

KNORR SERIES

036 x 113,70 mm
032 x84 mm
M16x1,5x 80 mm
M16x 1,5 x 87 mm
040 x 936 x 82 mm

050 x 28 mm
040x 14,5 mm

042,5%37 mm
039 mm (metal end)

032 x 80 mm
034 x 80 mm
036x 113,70 mm
M16x1,5x80 mm
M16x1,5x87 mm
040 x @36 x 82 mm
039 mm (metal end)

050 x 28 mm
040x 14,5 mm

036 x 64 mm
036x 113,70 mm
M16x1,5x70 mm
M16x1,5x87 mm
040 x @36 x 82 mm
040 x @36 x 20 mm

040x 25 mm
050 x 28 mm

1

1
1
1

1
1
1

L
oo
>
—
—
==
a
T
(==
~
[a'a]
v

KNORR




KNORR SERIES

SB7 RADIALTYPE
a
=
e = . . . e
n°= :52 Caliper Guides & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m-
= MY-6502 GUIDE PIN 034 x80 mm
~
2 MY-6507 GUIDE PIN @36 x 145 mm 1
06- 07- -08
3 MY-6513 BOLT M16x1,5x80 mm
4 MY-6518 BOLT M16x1,5x 150 mm
05-_ 09- C a0 5 MY-6521 BRONZE BUSH @40 x 036 x 82 mm
——— 6 MY-6525 RUBBER BUSH 1
i _ 7 MY-6531 INNER BOOT 1
8 MY-6532 OUTER BOOT 1
01 _E : - --._02 9 MY-6551 INNER BOOT RING 1
10 MY-6552 OUTER BOOT CLAMP 1
MYCALIPER Number [N RLU R |
11328090062 - SCANIA 2121642 - BPW 09.801.02.58.0
09.801.02.88.0 - SAF 8 5317002 100 - 8 5317002 200
Application SB7 RADIALTYPE .../SB6/SB7 TYPE Series

Caliper Guides & Seals Repair Kit

m MYCALIPER NR DESCRIPTIONS W-

MY-6502 GUIDE PIN #34x80 mm
07~ . . 0| 2 MY-6506 GUIDE PIN 036135 mm 1
3 Mv-6514 BOLT M16x15x87mm 1
4 MY-6517 BOLT M16x1,5x 140 mm 1
05— —_ C20| 5 myes BRONZE BUSH g40x036x82mm 1
6 MV-6525 RUBBER BUSH 1
B e ’
8 MY-6552 OUTER BOOT CLAMP 1
01- ﬁ_oz 9 MY-6539 INNER BOOT 1

MYCALIPER Number \ MY-100124-1

11197330062

Application SB7 RADIAL TYPE.../SB6/SB7 TYPE Series

Caliper Guides & Seals Repair Kit

m MYCALIPER NR DESCRIPTIONS W-

1 MY-6501 GUIDE PIN 032 %80 mm
06 - j 0o . 07| 2 MY-6505 GUIDE PIN 036 x 113,70 mm 1
: 3 MY-6513 BOLT M16x15x80mm 1
4 MY-6514 BOLT M16x1,5x87mm 1
05- = 10- O -8 5 MY-6521 BRONZE BUSH 040 x 36 x 82 mm 1
6 MY-6523 METAL-RUBBER BUSH (SHORT)  #39 mm (metal end) 1
. - -_04 7 MY-6531 INNER BOOT 1
8 MY-6551 INNER BOOT RING 1
01- E —2| 9 MY-6541 STEEL CAP 050 x 28 mm 1
10 My-6553 0-RING 1

MYCALIPER Number \ MY-100117-1 |

K048371K50 - MAN 81.50822.6036
SCANIA 2121648

Application SB7 RADIAL TYPE.../SB6/SB7 TYPE Series
N

www.mycaliper.com




KNORR SERIES

SB7 RADIAL TYPE
a
=
. . - ==
Caliper Guides & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m- nccé
oc
MY-6501 GUIDE PIN 032 x 80 mm 1 P
_ ﬂ;I _ -07 x3
1§ 0B- 10 2 MY-6505 GUIDE PIN 036 113,70 mm 1
3 MY-6513 BOLT M16x15x80mm 1
———— 4 MY-6514 BOLT M16x1,5x 87 mm 1
06 | n-C 05
——— 5 MY-6521 BRONZE BUSH g40x036x82mm 1
6 MY-6522 METALRUBBERBUSH  @39mm (metalend) 1
0 O s T 13- P MY-6531 INNER BOOT 1
8 MY-6541 STEEL CAP 050 x 28 mm 1
9 MY-6542 STEEL CAP 026x11,5mm 1

. 10 MY-6551 INNER BOOT RING 1
MYCALIPER Number \ MY-100139-1 \ L MY-6553 0-RING 1

12 MY-6617 METAL OF RUBBER BUSH @35 mm 1
K067417K50 - SCANIA 2064260 - 2292232
SAF 3 434 382000 13 MY-6543 STEEL CAP 040 x 14,5 mm 1

SB7 RADIAL TYPE.../SB6/SB7 TYPE Series
Caliper Guide & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m-

MY-6505 GUIDE PIN 036x 113,70 mm
e 2 MY-6514 BOLT M16x1,5x 87 mm 1
05- e 7-C O -06
‘ 3 MY-6521 BRONZE BUSH 040 x 936 x 82 mm 1
4 MY-6531 INNER BOOT 1
_ 5 MY-6541 STEEL CAP 050 x 28 mm 1
03- -04
- et 6  MY-6551 INNER BOOT RING 1
7 MY-6553 0-RING 1

MYCALIPER Number ‘ MY-100118

K000696 - 11310370066 - MB 002 420 0383
SAF 3 4343805 00

Application SB7 RADIAL TYPE.../SB6/SB7 TYPE Series
Caliper Guide Repair Kit m MYCALIPER NR DESCRIPTIONS m-

MY-6501 GUIDE PIN 032 x 80 mm
2 MY-6513 BOLT M16x1,5x80 mm 1
Q' 04 3 MY-6524 METAL-RUBBER BUSH 635 mm (metal end) 1
.7 4 MY-6542 STEEL CAP 026 x 11,5 mm 1

m

MYCALIPER Number ‘ MY-100355-1 ‘

K000698 - BPW 09.801.06.90.0

Application SB7 RADIAL TYPE.../SB6/SB7 TYPE Series

www.mycaliper.com "I



KNORR SERIES

SB7 RADIAL TYPE

g

=
[~ = A . P
n°= = Caliper Guide Repair Kit m MYCALIPER NR DESCRIPTIONS W-
= = MY-6501 GUIDE PIN 032 x80 mm

v

2 MY-6522 METALRUBBERBUSH ~ @39mm (metalend) 1

= m

MYCALIPER Number ‘ MY-100355-2

K000697

R— SB7 RADIAL TYPE .../SB5 TYPE
SB6/SB7 TYPE Series

Caliper Guide Repair Kit m MYCALIPER NR DESCRIPTIONS m-

MYCALIPER Number \ MY-100355-3
o SB7 RADIAL TYPE.../ SB6/SB7 TYPE

Application SL7/SM7 TYPE...’ SN6/SN7/SK7/NAT/ST TYPE Series

Caliper Rubber Bush & Guide Repair Kit m MYCALIPER NR DESCRIPTIONS m-

1 MY-6502 GUIDE PIN 034 x80 mm
2 MY-6514 BOLT M16x1,5x87 mm 1

3 MY-6525 RUBBER BUSH 1
R
-03

MYCALIPER Number ‘ MY-100106

11368470064 - DAF 1448910 - SAF 3 434 3801 00
SCANIA 2121840

o SB7 RADIALTYPE.../SB5 TYPE
Application SBG/SBT TYPE Series
IIl www.mycaliper.com

MY-6501 GUIDE PIN 032 x 80 mm
2 MY-6513 BOLT M16x1,5x80 mm 1
METAL-RUBBER BUSH
3 MY-6523 (SHORT VERSION) 039 mm (metal end) 1




KNORR SERIES

SB7 RADIAL TYPE
a
=
: - =
R —— o
MY-6541 STEEL CAP 050 x 28 mm 1 =~
=3

2 Mv6553 0-RING 1
-02

MYCALIPER Number \ MY-100126

1139769F0063 - SAF 3 434 3806 00

Application SB7 RADIAL TYPE.../SB6/SB7 TYPE Series
Boots & Cap Repair Kit m MYCALIPER NR DESCRIPTIONS m-

MY-6541 STEEL CAP 050 x 28 mm
- 2 MY-6553 0-RING 1
@ 3 MY-6531 INNER BOOT 1
) 4 MY-6551 INNER BOOT RING 1

04- O—oz

MYCALIPER Number ‘ MY-100126-1

11328090061 - MB 001 420 5283 - DAF 1448914
SCANIA 1415150 - MAN 81.50822.6008
IVECO 93162049 - BPW 09.801.06.11.0

Application SB7 RADIAL TYPE.../SB6/SB7 TYPE Series
Caliper Outer Boots & Steel Caps m MYCALIPER NR DESCRIPTIONS m-

MY-6532 OUTER BOOT

2 6
3 MY-6552 OUTER BOOT CLAMP 6
4 MY-6553 0-RING 6

03_ ¢ mﬂ;’“ .—‘"4?1\» mﬂ’#"‘» mf"‘ ‘—‘"4;’{\ .—‘"4#

= OOOOOOD

K001301 - MAN 81.50822.6025
SCANIA 1439494 - 2121839

o SB7 RADIAL TYPE... SB5 TYPE
Application SBG/SB7 TYPE Series

www.mycaliper.com "I



| KNORR SERIES

SB7 RADIAL TYPE
g
=
== . . _—
n°: :52 Caliper Guides & Cap Repair Kit m MYCALIPER NR DESCRIPTIONS m
= = ) 1 MY-6501 GUIDE PIN 03280 mm 1
- _ ..\ 2 MY-6505 GUIDEPIN 036 x 113,70 mm 1
10 o 3 MY-6513 BOLT M16x 1,5 x 80 mm 1
- — == (@) = '08
4 MY-6514 BOLT M16x1,5x 87 mm 1
5 MY-6543 STEEL CAP 040 x 14,5 mm 1
05- (. 09- -06
6 MY-6551 INNER BOOT RING 1
| 7 MY-6563 ADJUSTING MECHANISM ADAPTER 1
0 E— o T
8 MY-6557 PLASTIC COVER CAP 038 mm 1
9 MY-6542 STEEL CAP 026x11,5mm 1
: 10 MY-100474 CALIPER PAD RETAINER REPAIR KIT 1

MYCALIPER Number ‘ MY-100898-2 ‘

Application SB7 RADIAL TYPE.../SB6/SB7 TYPE Series

-~ . Caliper Pad Retainer Repair Kit

SB7 RADIAL TYPE
SN6/SN7/SK7/NA7/ST7 TYPE.../SN5 TYPE
SB5 TYPE.../SB6/SB7 TYPE Series

Application

Caliper Pad Retainer Repair Kit

1119712004 - 1130679004 - 11197120061
K000129 - MB 000 420 2682
SAF 85317002 600

Application SB7 RADIAL TYPE.../SL7/SM7 TYPE Series

Caliper Roller Bearings

SB7 RADIAL TYPE
SN6/SN7/SK7/NA7/ST7 TYPE
SB6/SB7 TYPE Series

Application

www.mycaliper.com



KNORR SERIES

SB7 RADIAL TYPE

Caliper Piston Tappet Repair Kit

MYCALIPER Number ‘ MY-100115

11179320065 - 11304130065
SCANIA 1390429

.. SB7 RADIAL TYPE.../SB5 TYPE
Application SBG/SB7 TYPE Series

Caliper Piston Tappet & Seals Repair Kit

-> -

MYCALIPER Number \ MY-100116

K000944 - K010604 - MB 000 420 0682 - 000 420 3982 - 000 420 4882
MAN 81.50822.6007 - 81.50822.6022 - 81.50822.6032

SCANIA 1743421 - 1746824 - 1756389 - 1759811 - 1723414 - 2121859
DAF 1448913 - 1623221 - IVEC0 93162050 - BPW 09.801.02.63.0

SAF 34343804 00 - 8 5317002 800

o SB7 RADIAL TYPE..../SB5 TYPE
Application SBG/SB7 TYPE Series

Brake Pad Retainer Repair Kit

01_ . “-:_- i
]

MYCALIPER Number \ MY-200257

KNORR: K000884

o SB7 RADIAL TYPE.../ SN6/SN7/SK7/NAT/ST7 TYPE
Application SL7/SM7 TYPE.../ SB6/SB7 TYPE Series

www.mycaliper.com

m MYCALIPER NR DESCRIPTIONS W

1 MY-6533 TAPPET & BOOT ASSEMBLY 074 mm 2
2 MY-6520 TAPPET BUSH 018x016x 10 mm 2

m MYCALIPER NR DESCRIPTIONS m-

MY-6533 TAPPET & BOOT ASSEMBLY 074 mm
2 MY-6537 INNER SEAL 2
3 MY-6520 TAPPET BUSH 018x @16 x 10 mm 2

m MYCALIPER NR DESCRIPTIONS m-

MY-100474 PAD RETAINER REPAIR KIT
2 MY-200241 CABLO PROTECTION KIT 1

il 75

(]
(=W
>
=
—
=T
a
=T
o
~
o
wv

KNORR




KNORR SERIES
SB7 RADIAL TYPE

Caliper Calibration Bolt

[N}
o
>
=
p—
=
a
=4
==
~
o
A

KNORR

SB7 RADIAL TYPE.../SB5 TYPE
Application SB6/SB7 TYPE.../SN5 TYPE
SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Chain (29 Links)

B T L I L L e L L Lt It I,

SB7 RADIALTYPE .../SB6/SB7 TYPE
Application SL7/SM7 TYPE
SN6/SN7/SK7/NA7/ST7 Series

Caliper Adjusting Mechanism

SB7 RADIAL TYPE .../SB6/SB7 TYPE
Application SL7/SM7 TYPE
SN6/SN7/SK7/NA7/ST7 Series

Caliper Adjusting Mechanism (Orig. Type)

SB7 RADIALTYPE .../SB6/SB7 TYPE

Application SL7/SM7 TYPE
SN6/SN7/SK7/NA7/ST7 Series

Caliper Adjusting Shaft (With Spring)

SB7 RADIALTYPE.../ SB6/SB7 TYPE
SN6/SN7/SK7/NA7/ST7 TYPE Series

Application

E:

I" www.mycaliper.com



KNORR SERIES

SB7 RADIALTYPE

g
=
. L . . o=
Caliper Adjusting Mechanisms Kit m MYCALIPER NR DESCRIPTIONS m- n°= =
o=
MY-100129  ADJUSTING MECHANISM 1 =5
wv

2 MY-100130 ADJUSTING SHAFT (WITH SPRING) 1

3 My-100131 CHAIN (29 LINKS) 1

MYCALIPER Number ‘ MY-100899

w SB7 RADIAL TYPE.../SB6/SB7 TYPE
Application SNG/SN7/SK7/NA7/ST7 Series
Caliper Adjusting Mechanism Adapter Kit m MYCALIPER NR DESCRIPTIONS m-

MY-6563 MECHANISM ADAPTER

MYCALIPER Number \ MY-100110

2001548 - HENDRICKSON 5-29152-5
o SB7 RADIAL TYPE.../SB6/SB7 TYPE
Application SNG/SN7/SK7/NA7/ST7 Series
Rubber Bush Cap Kit (Long) m MYCALIPER NR DESCRIPTIONS m-

MY-6662 RUBBER BUSH CAP (LONG)

MYCALIPER Number \ MY-200219

o SB7 RADIAL.../ SB6/SB7 TYPE.../ SBS TYPE
Application SL7/SM7 TYPE.../ SN6/SN7/SK7/NA7/ST7 TYPE Series
www.mycaliper.com "I




KNORR SERIES

SB7 RADIALTYPE
=
4 . o . :
el aperhstingMechanism Whel K N e T
E = 1 MY-6564 ADJUSTING MECHANISM WHEEL

r r
Y Y
r r
Y Y
MYCALIPER Number \ MY-100111

o SB7 RADIAL TYPE.../SB6/SB7 TYPE
Application SNG/SN7/SK7/NAT/ST7 Series
Caliper Bridge Assembly m MYCALIPER NR DESCRIPTIONS m-

MY-6571 SPRING 025 x49 mm
+ [P

2 MY-6591 BRIDGE ASSEMBLY 1

| mvauperNumber  [TRITIER

Application SB7 RADIAL TYPE.../SB6/SB7 TYPE Series

Caliper Lever Bearing Kit m MYCALIPER NR DESCRIPTIONS m-

MY-6597 CALIPER LEVER BEARING

MYCALIPER Number \ MY-100338 |

o SB7 RADIAL TYPE.../SB6/SB7 TYPE
Application SNG/SN7/SKT/NAT/STT Series
IIl www.mycaliper.com




KNORR SERIES
SB7 RADIAL TYPE

Caliper Roller Bearings

(]
o
>
—
—
==
a
=T
o
~
[a'a]
wv

KNORR

SB7 RADIAL TYPE

Application )
SB5 TYPE.../SB6/SB7 TYPE Series

Caliper Lever

MYCALIPER Number MY-100146

K100259 - K000250 - SCANIA 1480809 - 1480810

Application SB7 RADIAL TYPE Series

Caliper Lever

MYCALIPER Number MY-100146-2

MB BUS CITARO - MAN BUS LIONS CITY A25 A26 A39 - SCANIA BUS 3 4 SERIES
NEOPLAN CENTROLINER N4516 N4520 - VANHOOL A308 A309 A330 AG330 AGG330
DENNIS BUS ENVIRO 400 TRIDENT 2 - OTHER: OPTARE OLYMPUS OMNIDEKKA
EVOBUS CITYBUS A20 S3

Application SB7 RADIAL TYPE Series

Caliper Sensor Cover (Without Sensor)

m MYCALIPER NR DESCRIPTIONS m-

MY-6566 PLASTIC COVER (WITH HOLE)
2 MY-6575 SCREW WITH RIVET 3
3 MY-6570 SENSOR COVER SEAL 1

-02

4 4 4

MYCALIPER Number ‘ MY-100181

Application SB7 RADIAL TYPE Series

www.mycaliper.com "I



KNORR SERIES
SB7 RADIAL TYPE

a
=
= .
n°= :az Caliper Sensor Cover (2 Cables Sensor) m MYCALIPER NR DESCRIPTIONS W-
=5 MY-6566  PLASTIC COVER (WITH HOLE)
A
2 MY-6570 SENSOR COVER SEAL 1
-02 3 MY-6575 SCREW WITH RIVET 3
4 MY-6567 SENSOR ROD 1
5 MY-6547 2 CABLES SENSOR 1
-04

| MYCALIPER Number |
Application SB7 RADIAL TYPE Series
Caliper Sensor Cover (3 Cables Sensor) m MYCALIPER NR DESCRIPTIONS m-

MY-6566 PLASTIC COVER (WITH HOLE)

MY-100160

2 MY-6570 SENSOR COVER SEAL 1
-02 3 MY-6575 SCREW WITH RIVET 3
4 MY-6567 SENSOR ROD 1
5 MY-6587 3 CABLES SENSOR (FOR MERCEDES) 1

444 S

05'.*
MYCALIPER Number ‘ MY-100181-1

(MERCEDES)

Application SB7 RADIAL TYPE Series
Caliper Sensor Cover (3 Cables Sensor) m MYCALIPER NR DESCRIPTIONS m-

MY-6566 PLASTIC COVER (WITH HOLE)

2 MY-6570 SENSOR COVER SEAL 1
-02 3 MY-6575 SCREW WITH RIVET 3
4 MY-6567 SENSOR ROD 1
5 MY-6588 3 CABLES SENSOR (FOR MAN) 1

FUW! c— —u

05-”

MYCALIPER Number ‘ MY-100981

(MAN)

Application SB7 RADIAL TYPE Series
“I" www.mycaliper.com




KNORR SERIES

SB7 RADIAL TYPE

&
=
. . =
Caliper Sensor Cover (Without Sensor) m MYCALIPER NR DESCRIPTIONS m- n°=:5§
MY-6584 PLASTIC COVER (WITH HOLE) 1 E E
v

2 MY-6570 SENSOR COVER SEAL 1

3 MY-6575 SCREW WITH RIVET 3

-0 4 MY-6605 COVER CLIPS 1

=
o4 4 4 -

MYCALIPER Number ‘ MY-100801 ‘

Application SB7 RADIAL TYPE Series

Cpersnsr over 2 e senor I e T

MY-6584 PLASTIC COVER (WITH HOLE)
2 MY-6570 SENSOR COVER SEAL 1
-02
0 3 MY-6575 SCREW WITH RIVET 3
4 MY-6605 COVER CLIPS 1
5 MY-6547 2 CABLES SENSOR 1
=
03- g & i [ ‘ -04 6 MY-6567 SENSOR ROD 1
°5'.="‘ ' "

MYCALIPER Number ‘ MY-100802

Application SB7 RADIAL TYPE Series

Cpersensr over 3 e sensor O N T

MY-6584 PLASTIC COVER (WITH HOLE)

. 2 MY-6570 SENSOR COVER SEAL 1
3 MY-6575 SCREW WITH RIVET 3
4 MY-6605 COVER CLIPS 1
5 MY-6587 3 CABLES SENSOR (FOR MERCEDES) 1
&=
- g g & f - -04 6 MY-6567 SENSOR ROD 1

MYCALIPER Number 0BT UR

(MERCEDES)

Application SB7 RADIAL TYPE Series

www.mycaliper.com "I



KNORR SERIES

SB7 RADIAL TYPE
a
=
ee= .
n°= :5:‘ Caliper Sensor Cover (3 Cables Sensor) m MYCALIPER NR DESCRIPTIONS m-
= = MY-6584  PLASTIC COVER (WITH HOLE)
v
2 MY-6570 SENSOR COVER SEAL 1
-02 3 MY-6575 SCREW WITH RIVET 3
4 MY-6605 COVER CLIPS 1
5 MY-6588 3 CABLES SENSOR FOR MAN 1
=
03- ‘ A ‘ g 04 6 MY-6567 SENSOR ROD 1
o&” i £ -06

MYCALIPER Number ‘ MY-100982

(MAN)

Application SB7 RADIAL TYPE Series
Caliper Support Seal Kit m MYCALIPER NR DESCRIPTIONS m-

oo
oo

MYCALIPER Number ‘ MY-100803 ‘

o SB7 RADIAL TYPE.../SB5 TYPE
Application SB6/SB7 TYPE Series
Cover Bolt Kit m MYCALIPER NR DESCRIPTIONS m-

1 MY-6652 COVER BOLT M12x1,75 x 80 mm

PR ETR T ||| LR ek A CIRATET T TR RATY
WIHTTTTHTT TR A THTHITTITHT

LI BARLLLAA AL L LA

MYCALIPER Number ‘ MY-100990

o SB7 RADIAL TYPE... SBS TYPE.../ SB6/SB7 TYPE
Application CALIPER CONNECTING BOLT Series
IIl www.mycaliper.com




KNORR SERIES

SB7 RADIAL TYPE

m MYCALIPER NR DESCRIPTIONS m-

Cover Bolt Kit

kAL MAL LAY WAL R

[ P L e —
AR AL AR U LA LA LA

[l P — L e ———
b A AALUMAAARY AR ALY

L I —— R )
it LA RLLIAL A ' A A UL LA

MY-6653 COVER BOLT M14x2x52 mm 8

MYCALIPER Number ‘ MY-100991

o SB7 RADIAL TYPE.../ SB5 TYPE.../ SB6/SB7 TYPE
Application CALIPER CONNECTING BOLT Series

Cover Bolt Kit

m MYCALIPER NR DESCRIPTIONS m-

AR AR b bR ARRA B ik A UL

g, lmm
ARS8l A AR A Ui b

—l

AR R AR Rk
—
-

[ TTTTHTTEY L PR

[T

VY TP TTENS

~
c u{.ihmmum.mlnwnuluum

kG LRk LR i

AR At A A b

p—|

ARG bk A A A AA AL ALl

1 MY-6654 COVER BOLT M10x1,5x 60 mm

MYCALIPER Number ‘ MY-100992

o SB7 RADIAL TYPE.../ SB5 TYPE.../ SB6/SB7 TYPE
Application CALIPER CONNECTING BOLT Series

Cover Bolt Kit

m MYCALIPER NR DESCRIPTIONS W-

i
i
i
B

i
i
i
B

MY-6663 COVER BOLT M8x1,25x45 mm

[ MYCALIPER Number  [[REYLVED

o SB7 RADIALTYPE.../ SB5 TYPE.../ SB6/SB7 TYPE
Application CALIPER CONNECTING BOLT Series

www.mycaliper.com

il s

L
(=1
>
=
—
==
a
T
(='=]
~
o
wv

KNORR




KNORR SERIES
SB7 RADIAL TYPE

Rubber Bush Cap Kit (Short) mm-

MY-6661 RUBBER BUSH CAP (SHORT)

[N}
o
>
=
p—
=
a
=4
==
~
o
A

KNORR

MYCALIPER Number \ MY-200215 |

w SB7 RADIAL.../ SB6/SB7 TYPE... SB TYPE
Application SL7/SM7 TYPE.../ SN6/SN7/SK7/NA7/ST7 TYPE Series

I" www.mycaliper.com



KNORR SERIES

SB7 RADIALTYPE

=
= —
KNORR SETS > SB7 RADIAL TYPE / SB6-SB7 TYPE > MAN TGA SET (NEW MODEL) MYCALIPER Number >> MY-100379 g:az
. - - S5

——— . _

pre—————
01 E 02 08

| S————

05 04 06
m MYCALIPER NR DESCRIPTIONS
1  MY-100140 CALIPER GUIDES & SEALS REPAIR KIT 1
2 MY-100132 CALIPER BRIDGE ASSEMBLY 1
3 MY-100116 PISTON & SEALS REPAIR KIT (@74 mm) 1
4  MY-100129 CALIPER ADJUSTING MECHANISM 1
5  MY-100130 CALIPER ADJUSTING SHAFT (WITH SPRING) 1
6  MY-100131 CALIPER CHAIN (29 LINKS) 1
7  MY-100269 CALIPER ROLLER BEARINGS 1
8  MY-100108 CALIPER CALIBRATION BOLT 2
KNORR SETS > SB7 RADIAL TYPE / SB6-SB7 TYPE > AXOR SET (OLD MODEL) MYCALIPER Number >> MY-100137-2
. P e o
| () —n
e
01 E 04 07 % ; ﬁ
@ Y
03 02 05 06
m MYCALIPER NR DESCRIPTIONS
1  MY-100140 CALIPER GUIDES & SEALS REPAIR KIT 1
2 MY-100129 CALIPER ADJUSTING MECHANISM 1
3 MY-100130 CALIPER ADJUSTING SHAFT (WITH SPRING) 1
4  MY-100132 CALIPER BRIDGE ASSEMBLY 1
5  MY-100131 CALIPER CHAIN (29 LINKS) 1
6  MY-100105 CALIPER ROLLER BEARINGS 1
7  MY-100108 CALIPER CALIBRATION BOLT 2
8  MY-100116 PISTON & SEALS REPAIR KIT (@74 mm) 1

www.mycaliper.com "I



SL7 TYPE (K017549M2-M1)

KNORR

KNORR

SL7 TYPE (K017549M2-M1)
SM7 TYPE

MYCALIPER
KNORR

AY-SAT Otomotiv Nakliyat Gida ith. ihr. Ltd. Sti.

www.mycaliper.com



KNORR
SL7 TYPE (K017549M2-M1)
SM7 TYPE

MICALIPEeR

Brake Caliper Repair Kits

www.mycaliper.com

SL7 TYPE (K017549M2-M1)

(=
[~
(=)
p—
=



KNORR SERIES

=
o SL7 TYPE (K017549M2-M1)
N
12
=
== . . e
n°= . Caliper Guides & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m-
>
=~ MY-6501 GUIDE PIN 032x80 mm
4
06- . 13, &= ._07 2 Mves0s GUIDE PIN 36x11370mm 1
- 3 MY-6513 BOLT M16x1,5x 80 mm 1
p— 4 MY-6514 BOLT M16x1,5x 87 mm 1
05- — -09| s MY-6521 BRONZE BUSH 40 x 036 x 82 mm 1
6 MY-6523 METAL-RUBBER BUSH (SHORT) @39 mm (metal end) 1
O S -_04 7 MY-6531 INNER BOOT 1
8 MY-6543 STEEL CAP 040x 14,5 mm 1
01 _E E_oz 9 MY-6551 INNER BOOT RING 1

MYCALIPER Number \ MY-100140 |

K001915 - K048389K50 - MB 000 420 4682
MAN 81.50822.6034 - 81.50822.6037
SCANIA 1477675 - 1527631 - 2121646 - DAF: 1639100

m SL7 TYPE (K017549M2-M1).../ SB6/SB7 TYPE
Application SNG/SN7/SK7/NA7/ST7 TYPE Series
Caliper Sensor Cover (3 Cables Sensor) m MYCALIPER NR DESCRIPTIONS Wm

MY-6583 PLASTIC COVER (WITH HOLE)
01 ° ot 2 MY-6554 SENSOR COVER SEAL 1
3 MY-6575 SCREW WITH RIVET 6
4 MY-6550 SEAL 1
02- C‘_\_J o -05 5 MY-6600 CALIPER PLASTIC COVER RING 1
6 MY-6557 PLASTIC COVER CAP 038 mm 1
3-444444 ‘ -06| 7 MY-6587 3 CABLES SENSOR (FOR MERCEDES) 1
8 MY-6647 SENSOR STABILIZER PLASTIC 1
07—“ 08- -09 9 MY-6559 SENSOR ADJUSTER PLASTIC 5,3mm 1

MYCALIPER Number ‘ MY-100133-2

(MERCEDES)
m SL7 TYPE (K017549M2-M1) .../SB6/SB7 TYPE
Application SNG/SN7/SK7/NA7/ST7 TYPE Series
Caliper Bridge Assembly m MYCALIPER NR DESCRIPTIONS W-

1 MY-6571 SPRING 025 x 49 mm

2 MY-6593 BRIDGE ASSEMBLY 1

MYCALIPER Number \ MY-100142

o SL7 TYPE (K017549M2-M1)
Application SNG/SN7/SK7/NAT/ST7 TYPE Series
IIl www.mycaliper.com




KNORR SERIES
SL7 TYPE (K017549M2-M1)

Caliper Adjusting Mechanism

—
=
e
o~
=
o\
<
el
~
=
(=]
>
=
(]
(=W
>
=
N~
—
wv

KNORR

SL7 TYPE (K017549M2-M1)
Application SB6/SB7 TYPE.../ SB7 RADIAL TYPE
SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Adjusting Mechanism (Orig. Type)

SL7 TYPE (K017549M2-M1)

Application SB6/SB7 TYPE.../ SB7 RADIAL TYPE
SN6/SN7/SK7/NA7/ST7 TYPE Series

SL7 TYPE (K017549M2-M1)
Application SB6/SB7 TYPE.../ SB7 RADIAL TYPE
SN6/SN7/SK7/NA7/ST7 TYPE Series

P P PP T B Pl T T D P ST u ) T

Caliper Lever (Angle 12° - 122 mm)

Application

SL7 TYPE (K017549M2-M1)
SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Bearings

Application SL7 TYPE (K017549M2-M1) Series

Caliper Chain (29 Links)

www.mycaliper.com "I“



KNORR SERIES

=

= SL7 TYPE (K017549M2-M1)
ecS . -
ol sevor st st O e T
E i 1 MY-6590 SENSOR ADJUSTER PLASTIC 8,4mm

8.4 mm

MYCALIPER Number ‘ MY-100891

Application SL7 TYPE (K017549M2-M1) Series

Caliper Adjusting Shaft (Without Spring)

Application SL7 TYPE (K017549M2-M1) Series

Grease Blue (10 g)

xﬂ"ﬂlllﬂlllul'l:

MY-100288-1
i B .

= Galiper Repair Kits '/ (== ’c eET

BY u SAT DTOMOITY NAKITE
GIOA

e

“I" www.mycaliper.com



SM7 TYPE

Caliper Pistons Tappet & Seals Repair Kit

-~ . e

054 mm

MYCALIPER Number ‘ MY-100161

K046523K50 - MB 000 423 0316

Application SM7 TYPE Series

Caliper Piston Tappet Repair Kit

-, e

054 mm

MYCALIPER Number \ MY-100121

Application SM7 TYPE Series

Caliper Guide Repair Kit

-03

MYCALIPER Number ‘ MY-100355-3

o SM7 TVPE.. SB6/5B7 TYPE... SB7 RADIALTYPE
Application SNG/SN7/SK7/NAT/ST7 TYPE Series

www.mycaliper.com

KNORR SERIES

m MYCALIPER NR DESCRIPTIONS m

TAPPET & BOOT ASSEMBLY

1 MY-6568 (54 mm TAPPET) 069 mm 2
2 MY-6569 TAPPET BUSH @17 x@15x 7 mm 2
3 MY-6538 INNER SEAL 2

DESCRIPTIONS

TAPPET & BOOT ASSEMBLY
(54 mm TAPPET)

TAPPET BUSH

m MYCALIPER NR

1 MY-6568
2 MY-6569

069 mm
917 x015x 7 mm 2

m MYCALIPER NR DESCRIPTIONS m-

MY-6501 GUIDE PIN 032x80 mm
2 MY-6513 BOLT M16x1,5x80 mm 1
3 MY-6523 ME}ﬁg&}’&E&&gﬂf“ 039 mm (metal end) 1

[



KNORR SERIES

SM7 TYPE
Caliper Plastic Cover (Without Sensor) MW-
MY-6546 PLASTIC COVER
2 MY-6554 SENSOR COVER SEAL 1
3 MY-6575 SCREW WITH RIVET 6
° -04 | 4 MY-6550 SEAL 1
5 MY-6600 CALIPER PLASTIC COVER RING 1
6 MY-6557 PLASTIC COVER CAP 038 mm 1

v ) &
o3 4444d - -

MYCALIPER Number ‘ MY-100133-1 ‘

o SM7 TYPE.../SB6/SB7 TYPE
Application SNG/SN7/SK7/NAZ/ST7 TYPE Series
Caliper Sensor Cover (2 Cables Sensor) m MYCALIPER NR DESCRIPTIONS W-

MY-6583 PLASTIC COVER (WITH HOLE)

2 MY-6554 SENSOR COVER SEAL 1

o ° o 3 MY-6575 SCREW WITH RIVET 6
4 MY-6550 SEAL 1

02- | B > ° 05 5 MY-6600  CALIPER PLASTIC COVER RING 1
6 MY-6557 PLASTIC COVER CAP 038 mm 1

03- ‘ * L & l l ‘ -06 7 MY-6547 2 CABLES SENSOR 1
8 MY-6647 SENSOR STABILIZER PLASTIC 1

0}” 08- -09 9 MY-6559 SENSOR ADJUSTER PLASTIC 5,3 mm 1

MYCALIPER Number ‘ MY-100133

o SM7 TYPE.../SB6/SB7 TYPE
Application SNG/SN7/SK7/NA7/ST7 TYPE Series
Caliper Sensor Cover (3 Cables Sensor ) m MYCALIPER NR DESCRIPTIONS W-

1 MY-6583 PLASTIC COVER (WITH HOLE)

2 MY-6554 SENSOR COVER SEAL 1
o ° M e SCREW WITH RIVET 6

4 MY-6550 SEAL 1
- - \\) ° 05 s MY-6600 CALIPER PLASTIC COVER RING 1

6 MY-6557 PLASTIC COVER CAP 38 mm 1
-4444414 ‘ -06 | 7 MY-6588 3 CABLES SENSOR(FOR MAN) 1

8 MY-6647 SENSOR STABILIZER PLASTIC 1
Oy_w 08- 09| 9 MY-6559 SENSOR ADJUSTER PLASTIC 53 mm 1

MYCALIPER Number ‘ MY-100133-3 ‘

(MAN TGA)
w SM7 TYPE.../SB6/SB7 TYPE
Application SNG/SN7/SK7/NA7/ST7 TYPE Series
IIl www.mycaliper.com




KNORR SERIES

SM7 TYPE

Caliper Guides & Caps Repair Kit

m MYCALIPER NR DESCRIPTIONS m-

_ wm MY-6501 GUIDE PIN @32 x 80 mm 1
e ‘-"\ 2 MY-6505 GUIDE PIN #36x 113,70 mm 1
09 N -08| 3 MY-6513 BOLT M16x1,5x80 mm 1
= O — 4 MY-6514 BOLT M16x1,5x 87 mm 1
p— - 5 MY-6543 STEEL CAP @40 x 14,5 mm 1

05- (. 07-5 -06
6 MY-6551 INNER BOOT RING 1
7 MY-6563 ADJUSTING MECHANISM ADAPTER 1

03 [ P
8 MY-6557 ADJUSTER CAP @38 mm 1
9 MY-100128 CALIPER PAD RETAINER REPAIR KIT 1

L-_—u
MYCALIPER Number \ MY-100898-1 \
K012912

Application SM7 TYPE Series

Caliper Cover (With Nut)

m MYCALIPER NR DESCRIPTIONS W-

2 U R T |
o e Of e

1 1

1 MY-6599 COVER (With Gasket & Nut)
2 MY-6573 BOLT M8x 16 mm 6
3 MY-6574 BOLT M8 x50 mm 2

MYCALIPER Number \ MY-100119

Application SM7 TYPE.../ SN6/SN7/SK7/NA7/ST7 TYPE Series

Sensor Rod Kit (Small)

m MYCALIPER NR DESCRIPTIONS m-

=
L
L

MY-6646 SENSOR ROD (SMALL)

MYCALIPER Number ‘ MY-100967

SM7 TYPE.../SB6/SB7 TYPE
SN6/SN7/SK7/NA7/ST7 TYPE Series

Application

www.mycaliper.com

=




KNORR SERIES

Sensor Stabilizer Plastic Kit

KNORR
SM7 TYPE

MYCALIPER Number \ MY-100968

Application SM7 TYPE.../SB6/SB7 TYPE Series

Caliper Plug Kit

MYCALIPER Number \ MY-100804

o SM7 TYPE.../SB6/SB7 TYPE.../SB5 TYPE
Application SN5 TYPE.../SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Plastic Cover Cap Kit

3B
01 .l
02 ®
} @
03 _
L k4

MYCALIPER Number ‘ MY-100267

K000945 - MAN 81.50822.6024 - SCANIA 2121868
DAF 1439493 - SAF 8 531 7002 500

w SM7 TYPE.../SB6/SB7 TYPE
Application SNG/SN7/SK7/NA7/ST7 TYPE Series

KN

SM7 TYPE

m MYCALIPER NR DESCRIPTIONS W-

MY-6647 SENSOR STABILIZER PLASTIC

m MYCALIPER NR DESCRIPTIONS m-

MY-6586 PLUG @55/50x 11 mm

m MYCALIPER NR DESCRIPTIONS m-

MY-6557 PLASTIC COVER CAP @38 mm
2 MY-6558 PLASTIC COVER CAP 10
3 MY-6563 ADJUSTING MECHANISM ADAPTER 10

www.mycaliper.com



SM7 TYPE

m MYCALIPER NR DESCRIPTIONS m-

Caliper Plastic Cover Cap Kit

01

02

L}
k4
W
b

MYCALIPER Number \ MY-100268

SM7 TYPE.../ SB6/SB7 TYPE
SN6/SN7/SK7/NA7/ST7 TYPE Series

Application

Rubber Bush Cap Kit (Short)

MYCALIPER Number \ MY-200215

SM7 TYPE.../ SN6/SN7/SK7/NA7/ST7 TYPE
SB6/SB7 TYPE.../ SB5 TYPE.../ SB7 RADIAL Series

Application

Rubber Bush Cap Kit (Long)

MYCALIPER Number

o SM7TYPE.../ SN6/SN7/SK7/NA7/ST7 TYPE
Application SBG/SB7 TYPE.../ SBS TYPE.../ SB7 RADIAL Series

www.mycaliper.com

2

KNORR SERIES

PLASTIC COVER CAP 038 mm
ADJUSTING MECHANISM ADAPTER 10

m MYCALIPER NR DESCRIPTIONS m-

RUBBER BUSH CAP (SHORT)

m MYCALIPER NR DESCRIPTIONS m-

RUBBER BUSH CAP (LONG)

il s



| KNORR SERIES

SM7 TYPE

KNORR

SM7 TYPE

Mechanism With Spring New Type

SM7 TYPE.../SB6/SB7 TYPE
SN6/SN7/SK7/NA7/ST7 TYPE Series

Application

Caliper Calibration Bolt

Application SM7 TYPE Series

i o

Zmusniren

P Cahpar RepairKﬂs
‘, Greasalﬂllcl/

By 2 " ;.lg umunln‘#ﬂ
p¥“¢f”d

Grease Blue (10 g)

Application

Caliper Lever

MYCALIPER Number MY-100479
2033222

Application SM7 TYPE Series

Caliper Pad Retainer Repair Kit

1119712004 - 1130679004 - 11197120061
K000129 - MB 000 420 2682
SAF 8 5317002 600

Application SM7 TYPE.../ SB7 RADIAL TYPE Series

www.mycaliper.com



KNORR SERIES

SM7 TYPE
Brake Pad Retainer Repair Kit m DESCRIPTIONS m-
MY-100474  PAD RETAINER REPAIR KIT 1
h ! 2 MY-200241 CABLO PROTECTION KIT 1
: .
01- B - :
g ﬁ_ >
KNORR: k000884
m SM7 TYPE.../ SN6/SN7/SK7/NA7/ST7 TYPE
SB7 RADIAL TYPE.../ SB6/SB7 TYPE Series
KNORR SETS > SM7 TYPE > AXOR SET (NEW MODEL) MYCALIPER Number >> MY-100857
—
— =
| —
07 03 - 09

MY-100168 CALIPER CALIRATION BOLT 2
MY-100129 CALIPER ADJUSTING MECHANISM 1
MY-100131 CALIPER CHAIN (29 LINKS) 1
MY-100140 CALIPER GUIDES & SEALS REPAIR KIT 1
MY-100142 CALIPER BRIDGE ASSEMBLY 1
MY-100119 CALIPER COVER 1
MY-100120 CALIPER ADJUSTING SHAFT (WITHOUT SPRING) 1
MY-100161 PISTON & SEAL REPAIR KIT (069 mm) 1
MY-100809 CALIPER BEARINGS 1

I e R [
1
2
3
4
5
6
7
8
9

www.mycaliper.com "I



KNORR
SNS TYPE

MYCALIPER
KNORR

AY-SAT Otomotiv Nakliyat Gida ith. ihr. Ltd. Sti.

www.mycaliper.com



KNORR
SNb TYPE

¢

MICALIPEeR

Brake Caliper Repair Kits

www.mycaliper.com



KNORR

SN5 TYPE

KNORR SERIES

Caliper Guides & Seals Repair Kit

88

O
]

I

01-

MYCALIPER Number ‘ MY-100305

SCANIA 2121650

K001928 - MB 000 420 4182 - MAN 81.50822.6026

Application SN5 TYPE Series

Caliper Piston Tappet Repair Kit

01-

MYCALIPER Number ‘ MY-100101

K001929 - MB 000 420 4282
MAN 81.50822.6027

Application SN5 TYPE Series

Caliper Plastic Cover ( Without Sensor)

>-4444

e

_

o0 [l

MYCALIPER Number ‘ MY-100453

Application SN5 TYPE Series

SN5 TYPE

m MYCALIPER NR DESCRIPTIONS m-

O 0 N S 1 AW N

m MYCALIPER NR DESCRIPTIONS m-

TAPPET & BOOT ASSEMBLY

2

m MYCALIPER NR DESCRIPTIONS m-

PLASTIC COVER (WITH HOLE)

wvi A W N

MY-6508
MY-6509
MY-6512
MY-6515
MY-6528
MY-6529
MY-6535
MY-6545
MY-6556

MY-6536
MY-6520

MY-6549
MY-6565
MY-6575
MY-6550
MY-6557

www.mycaliper.com

GUIDE PIN
GUIDE PIN
BOLT
BOLT
BRONZE BUSH
TEFLON BUSH
INNER BOOT (SMALL)
STEEL CAP
INNER BOOT RING

TAPPET BUSH

SENSOR COVER SEAL
SCREW WITH RIVET
SEAL
PLASTIC COVER CAP

029,70x 71,50 mm
030 x 99 mm
M16x1,5x75 mm
M16x1,5x 105 mm
034 x 030 x 65 mm
@34 x@30x 20 mm

034x14mm

069 mm
018x 016X 10 mm

038 mm

N NN

1



KNORR SERIES

SN5 TYPE
Caliper Sensor Cover (2 Cables Sensor) mm-
MY-6549  PLASTIC COVER (WITH HOLE) 1
2 MY-6565 SENSOR COVER SEAL 1
01- ° 041 MY-6575 SCREW WITH RIVET 4
4 MY-6550 SEAL 1
2- Cj ‘ - 5 MY-6557 PLASTIC COVER CAP 038 mm 1
6 MY-6547 2 CABLES SENSOR 1
4444 7| 7 MY-6559 SENSOR ADJUSTER PLASTIC 53mm 1
8 MY-6647  SENSOR STABILIZER PLASTIC 1
06'.:‘ -08

MYCALIPER Number ‘ MY-100109

Application SN5 TYPE Series

apr e Cover 3 ables senr N T T

1 MY-6549 PLASTIC COVER (WITH HOLE)
2 MY-6565 SENSOR COVER SEAL 1
° o 3 MY-6575 SCREW WITH RIVET 4
4 MY-6550 SEAL 1
2- @ ‘ -05 5 MY-6557 PLASTIC COVER CAP @38 mm 1
6 MY-6588 3 CABLES SENSOR (FOR MAN) 1
03- A l 3 l ~07 7 MY-6559 SENSOR ADJUSTER PLASTIC 53mm 1
8 MY-6647 SENSOR STABILIZER PLASTIC 1
06—.* ~08

MYCALIPER Number ‘ MY-100453-1

(FOR 12-180 MAN TGL)

Application SN5 TYPE Series
Caliper Sensor Cover (3 Cables Sensor) m MYCALIPER NR DESCRIPTIONS m-

MY-6549 PLASTIC COVER (WITH HOLE)
2 MY-6565 SENSOR COVER SEAL 1
01- ° 04 MY-6575 SCREW WITH RIVET 4
4 MY-6550 SEAL 1
- ‘ - 5 MY-6557 PLASTIC COVER CAP 038 mm 1
6 MY-6587 3 CABLES SENSOR (FOR MERCEDES) 1
o-44414 7| 7 MY-6559 SENSOR ADJUSTER PLASTIC 53mm 1
8 MY-6647 SENSOR STABILIZER PLASTIC 1
06'.5& 0

MYCALIPER Number ‘ MY-100453-2

(MERCEDES)

Application SN5 TYPE Series

www.mycaliper.com "I



KNORR

SN5 TYPE

KNORR SERIES

SN5 TYPE
Caliper Bridge Assembly m MYCALIPER NR DESCRIPTIONS m-
MY-6572 SPRING 021x51,5mm
2 MY-6595 BRIDGE ASSEMBLY 1

MYCALIPER Number ‘ MY-100265

Application SN5 TYPE Series

Caliper Cover m MYCALIPER NR DESCRIPTIONS m-
MY-6598 COVER WITH GASKET
2 MY-6573 BOLT M8 x 16 mm 6

>4 4 4 3 1 1

MYCALIPER Number ‘ MY-100134 ‘

Application SN5 TYPE Series

Caliper Bridge Assembly Repair Kit

m MYCALIPER NR DESCRIPTIONS m-

MY-100265 CALIPER BRIDGE ASSEMBLY

2 MY-100134 CALIPER COVER 1
03-° 3 MY-6560 BRIDGE COVER GAITER 1
01

MYCALIPER Number ‘ MY-100159

Application SN5 TYPE Series

I" www.mycaliper.com




KNORR SERIES
SN5 TYPE

Bridge Cover Gaiter Kit m MYCALIPER NR DESCRIPTIONS W-
MY-6560 BRIDGE COVER GAITER 5

MYCALIPER Number \ MY-100158
Application SN5 TYPE Series
Caliper Plug Kit m MYCALIPER NR DESCRIPTIONS W-

MY-6586 PLUG 655/50x 11 mm

MYCALIPER Number ‘ MY-100804

o SN5 TYPE.../SL7/SM7 TYPE.../SB5 TYPE
Ll SNG/SN7/SK7/NAT/ST7 TYPE.../SB6/SB7 TYPE Series

www.mycaliper.com "I



KNORR

SN5 TYPE

| KNORR SERIES
| SN5 TYPE

Caliper Calibration Bolt

SN5 TYPE.../SB5 TYPE .../ SB6/SB7 TYPE
Application SB7 RADIAL TYPE
SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Adjusting Mechanism

Application SN5 TYPE Series

Application SN5 TYPE Series

Caliper Roller Bearings

Application SN5 TYPE Series

Caliper Lever

Application SN5 TYPE Series

Caliper Adjusting Shaft

I" www.mycaliper.com



KNORR SERIES

SN5 TYPE

I , , Caliper Pad Retainer Repair Kit

W
38 38 - SN5 TYPE.../SB5 TYPE
Application SB6/SB7 TYPE.../SB7 RADIAL TYPE

SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Chain (14 Links)

'._..-.-.-.-.
=
(YR g g e P

Application SN5 TYPE Series

12-160 TGL MAN 17,5 Inch Caliper Carrier (Right-Left)

218,50 mm

174 mm

M16x1,5mm

K005606

SN5 TYPE
KNORR CALIPER CARRIER Series

Application

www.mycaliper.com

{105 |



KNORR SERIES
SN5 TYPE

KNORR SETS > SN5 TYPE > 12-180 MAN TGL SET

MYCALIPER Number >> MY-100378

KNORR
SNSTYPE

S T TN i e S
S —~—

- e
B S R

m MYCALIPER NR DESCRIPTIONS .

MY-100305 CALIPER GUIDES & SEALS REPAIR KIT
2 MY-100107 CALIPER CHAIN (14 LINKS)
3 MY-100108 CALIPER CALIBRATION BOLT
4  MY-100113 CALIPER ADJUSTING MECHANISM
5  MY-100101 PISTON TAPPET REPAIR KIT (869 mm)
6  MY-100306 CALIPER ROLLER BEARINGS
7 MY-100287 CALIPER AJUSTING SHAFT
8 MY-6560 ADJUSTER SCREW GAITER
9  MY-100134 CALIPER COVER
10  MY-100265 CALIPER BRIDGE ASSEMBLY

KNORR SETS > SN5 TYPE > 12-180 MAN TGL SET

S o Y S e {

MYCALIPER Number >> MY-100378-1

03 11

1

1 1 1

S =
D

=4

&

m MYCALIPER NR DESCRIPTIONS . m MYCALIPER NR DESCRIPTIONS m

MY-100305 CALIPER GUIDES & SEALS REPAIR KIT 11 MY-100144-10
2 MY-100107 CALIPER CHAIN (14 LINKS) 1
3 MY-100108 CALIPER CALIBRATION BOLT 1
4  MY-100113 CALIPER ADJUSTING MECHANISM 1
5  My-100101 PISTON TAPPET REPAIR KIT (069 mm) 1
6  MY-100306 CALIPER ROLLER BEARINGS 1
7 MY-100287 CALIPER AJUSTING SHAFT 1
8 MY-6560 ADJUSTER SCREW GAITER 1
9  MY-100134 CALIPER COVER 1
10 MY-100265 CALIPER BRIDGE ASSEMBLY 1

I" www.mycaliper.com

CALIPER LEVER




KNORR
SN6/SN7/SK7/NA7/ST7 TYPE

MICALIPEeR

Brake Caliper Repair Kits

www.mycaliper.com

SN6/SN7/SK7/NA7/ST7 TYPE

(=
e
(=)
-_—
=



£
o
o
Py
o
~
=
£
=
=
=

=
(Ve
=
—
—
=
=
=
(s~
=
9
o
[
2
=
(-]
=
=
=
(=]
£
(=]
=
o
[
=T
i
S
=<

3AAL LLS/LYN/LNS/INS/ONS
4JHONX




SN6/SN7/SK7/NA7/ST7 TYPE

MICALIPEeR

Brake Caliper Repair Kits

www.mycaliper.com

SN6/SN7/SK7/NA7/ST7 TYPE

(=
[~
(=)
p—
=



SN6/SN7/SK7/NA7/ST7 TYPE

(-4
(-4
(=)
—
—

KNORR
SN6/SN7/SK7/NA7/ST7 TYPE

AY-SAT Otomotiv Nakliyat Gida ith. ihr. Ltd. Sti.

(€ &

www.mycaliper.com



KNORR SERIES
SN6/SN7/SK7/NA7/ST7 TYPE

I e T

L
oo
>
=
N~
=
(%)
~
N~
T
=
~
~
>
wv
~
N~
=
wv
o
O
=
wv

KNORR

MY-6501 GUIDE PIN 032 x80 mm 1

06-_ 09- 5% . =07 2 MY-6505 GUIDE PIN @36 113,70 mm 1

3 MY-6513 BOLT M16x 1,5 x 80 mm 1

— 4 MY-6514 BOLT M16x1,5x87 mm 1
05- 08- &= -10

pre——— 5 MY-6521 BRONZE BUSH 040 x @36 x 82 mm 1

6 MY-6522 METAL-RUBBERBUSH @39 mm (metalend) 1

3—— - 04| 7 MY-6531 INNER BOOT 1

8 MY-6542 STEEL CAP 026x11,5mm 1

—— 9 MY-6543 STEEL CAP §40x 14,5 mm 1

01—5 E 0 10 MY-6551 INNER BOOT RING 1

MYCALIPER Number ‘ MY-100139

K000472 - K017707 - MB 000 420 3482
MAN 81.50822.6019 - SCANIA 1723416 - IVECO 42541412
BPW 09.801.06.33.0 - SAF 3 4343812 00

Application SN6/SN7/SK7/NA7/ST7 TYPE Series
Caliper Guides & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m-

' MY-6501 GUIDE PIN 03280 mm
06 - j 15 = . 7| 2 Mves0s GUIDE PIN 036x113,70mm 1
: 3 MY-6513 BOLT M16x1,5x 80 mm 1
— 4 MY6514 BOLT M16x1,5x87mm 1
05- — -09) 5 MY-6521 BRONZE BUSH (40 x 36 x 82 mm 1
6  MY-6523  METAL-RUBBERBUSH(SHORT) @39 mm (metalend) 1
| e — - 04| 7 Mves3i INNER BOOT 1
8 MY-6543 STEEL CAP 040x 14,5 mm 1
01- §_02 9 MY6551 INNER BOOT RING 1

MYCALIPER Number \ MY-100140

K001915 - K048389K50 - MB 000 420 4682
MAN 81.50822.6034 - 81.50822.6037
SCANIA 1477675 - 1527631 - 2121646 - DAF 1639100

o SN6/SN7/SK7/NA7/ST7 TYPE
Application SBG/SB7 TYPE... SL7/SM7 TYPE Series
Caliper Guides & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m-

MY-6500 GUIDE PIN 032 x 88,5 mm
0- 5% . =07 | 2 MY-6505 GUIDE PIN @36x113,70 mm 1
3 MY-6513 BOLT M16x 1,5 x 80 mm 1
4 MY-6514 BOLT M16x 1,5 x 87 mm 1
0 5 MY-6521 BRONZE BUSH 040 x @36 x 82 mm 1
6 MY-6522 METAL-RUBBERBUSH @39 mm (metalend) 1
3—— - - 7 MY-6531 INNER BOOT 1
8 MY-6543 STEEL CAP §40x 14,5 mm 1
01"% % 0 9 MY-6551 INNER BOOT RING 1

MYCALIPER Number ‘ MY-100894 ‘

K052759K50

Application SN6/SN7/SK7/NA7/ST7 TYPE Series

www.mycaliper.com "I



(]
o
>
—
~
—
(%)
-~
N~
<
=
-~
~
S
v
~
~
=
v
=~
=)
=
v

KNORR

KNORR SERIES

Caliper Guides & Seals Repair Kit

SN6/SN7/5K7/NA7/ST7 TYPE

m MYCALIPER NR DESCRIPTIONS m-

o=

- 88

T T -

MY-6504 GUIDE PIN

2 MY-6505 GUIDE PIN

3 MY-6511 BOLT

4 MY-6514 BOLT
S0 MY-6521 BRONZE BUSH

6  My-6527 SLOTTED BUSH

7 My-6531 INNER BOOT

8 Mv6s43 STEEL CAP

9 MY-6544 STEEL CAP

10 MY-6551 INNER BOOT RING

MYCALIPER Number ‘ MY-100264

K004100 - K004168 - K010766 - MB 000 420 5082

SCANIA 1748131 - 2121647 - 2198395 - SAF 3 434 3815 00
OTHER: SCHMITZ 1008450 - BENDIX 803114
HENDRICKSON S-29152-9 -MODEL ADB22X

Application SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Guides & Seals Repair Kit

036 x 64 mm
036 x 113,70 mm
M16x1,5x70 mm
M16x1,5x87 mm
040 x 336 x 82 mm
040 x 336 x 20 mm

040x 14,5 mm
040 x 25 mm

m MYCALIPER NR DESCRIPTIONS m-

1 MY-6501 GUIDE PIN 03280 mm
' . ‘@ sl 2 MY-6502 GUIDE PIN 03480 mm 1
3 MY-6505 GUIDE PIN 036 113,70 mm 1
4 MY-6513 BOLT M16x1,5x 80 mm 1
05'— 12- O @0 5 e BOLT M16x1,5x87Tmm 2
- 6 MY-6521 BRONZE BUSH g40x@36x82mm 1
04~ — -05 7 MY-6523  METALRUBBERBUSH(SHORT) @39 mm (metalend) 1
— 8 MY-6525 RUBBER BUSH 1
0 1_r—-—.: o E— pr— : 9 MY-6531 INNER BOOT 1
W 10 MY-6541 STEEL CAP 050 x 28 mm 1
‘ MY-100317 o MY-6543 STEEL CAP 040X 14,5 mm 1
12 MY-6551 INNER BOOT RING 1
K000365 - MB 000 420 0782 - 000 420 2282 13 MY-6553 0-RING 1

o SNG/SN7/SK7/NA7/ST7 TYPE.../SB6/SB7 TYPE
Application SB7 RADIAL TYPE Series

Caliper Guides & Seals Repair Kit

m MYCALIPER NR DESCRIPTIONS m-

MY-6501 GUIDE PIN @32 x80 mm
06 - ' 0g- N . 07| 2 MY-6505 GUIDEPIN @36x113,70 mm 1
: 3 MY-6513 BOLT M16x1,5x80 mm 1
4 MY-6514 BOLT M16x 1,5 x 87 mm 1
05- = -09] s MY-6632 BRONZE BUSH @40 x 036 X 70 mm 1
6 MY-6523 METAL-RUBBER BUSH (SHORT) @39 mm (metal end) 1
- - - 04| 7 MY-6531 INNER BOOT 1
8 MY-6543 STEEL CAP 040 x 14,5 mm 1
01 - E “l 9 my-esst INNER BOOT RING 1

MYCALIPER Number ‘ MY-100117-2 ‘

Application SN6/SN7/SK7/NA7/ST7 TYPE Series
BN

www.mycaliper.com




KNORR SERIES
SN6/SN7/SK7/NA7/ST7 TYPE

L
(=W
>
—
N~
=
%)
~
N~
T
=
~
~
b
wv
~
N~
=
wv
o
=)
=
wv

Caliper Guides & Seals Repair Kit mm- =
MY-6504 GUIDE PIN 036X 64 mm 1 %

2 MY-6511 BOLT M16x1,5x 70 mm 1

03- ’l -04 3 MY-6527 SLOTTED BUSH 040 x 036 X 20 mm 1

4 MY-6531 INNER BOOT 1

5 MY-6551 INNER BOOT RING 1

02- ” 05 6 MY-6544 STEEL CAP 04025 mm 1

MYCALIPER Number ‘ MY-200273

Application SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Guide Repair Kit m MYCALIPER NR DESCRIPTIONS m-

MY-6501 GUIDE PIN 032 x80 mm
MY-6513 BOLT M16x1,5x 80 mm 1

- - - MY-6522 METAL-RUBBERBUSH 039 mm (metalend) 1
o MY-6542 STEEL CAP 026x11,5mm 1

MYCALIPER Number ‘ MY-100355 ‘

BPW 09.801.06.91.0 - SAF 3 434 3813 00

Application SN6/SN7/SK7/NA7/ST7 TYPE Series
Caliper Guide Repair Kit m MYCALIPER NR DESCRIPTIONS m-

SHwWw N

1 MY-6501 GUIDE PIN 032 x 80 mm

2 MY-6513 BOLT M16x1,5x 80 mm 1
METAL-RUBBER BUSH

3 MY-6523 (SHORT VERSION) 039 mm (metal end) 1

MYCALIPER Number ‘ MY-100355-3

Application SN6/SN7/SK7/NA7/ST7 TYPE.../ SB6/SB7 TYPE
SB7 RADIAL TYPE.../ SL7/SM7 TYPE Series

www.mycaliper.com "I



KNORR SERIES
SN6/SN7/SK7/NA7/ST7 TYPE

(]
o
>
—
~
—
(%)
-~
N~
=
=
-~
~
b
v
~
~
=
v
)
=)
=
v

(- . . -
n°= Caliper Piston Tappet Repair Kit m MYCALIPER NR DESCRIPTIONS m-
= 1 MY-6534 TAPPET & BOOT ASSEMBLY 069 mm

2 MY-6520 TAPPET BUSH 018X 616X 10 mm 2

-

MYCALIPER Number ‘ MY-100138

Application SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Piston Tappet & Seals Repair Kit mm-

P - 1 MY-6534  TAPPET &BOOT ASSEMBLY 069 mm
— 03— 2 MY-6538 INNER SEAL 2
3 MY-6520 TAPPET BUSH M8x016x10mm 2
— —

—02—

MYCALIPER Number  [[NRIOYP
M K001300 - K010603 - K000366 - K092079 - MB 000 420 2382

000420 4082 - 000 420 4982 - MAN 81.50822.6020 - 81.50822.6031
SCANIA 1723417 - 2121858 - 2198394 - DAF 1622785 - 1616894 - 1689313
IVECO 42541413 - BPW 09.801.06.32.0 - SAF 3 434 3814 00
SCHMITZ 1008451 - HENDRICKSON S-29152-6

Application SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Piston Tappet & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m-

- - MY-6534 TAPPET & BOOT ASSEMBLY 069 mm
— 06— 2 MY-6648 INNER SEAL BLACK (PLATE LOCKING) 2

3 MY-6520 TAPPET BUSH 018x 016 x 10 mm 2

MYCALIPER Number ‘ MY-100227-1

(PLATE LOCKING)

Application SN6/SN7/SK7/NA7/ST7 TYPE Series
IIl www.mycaliper.com




KNORR SERIES
SN6/SN7/SK7/NA7/ST7 TYPE

Caliper Calibration Bolt

L
(=W
>
—
N~
=
%)
~
N~
T
=
~
~
b
wv
~
N~
=
wv
o
=)
=
wv

KNORR

SN6/SN7/SK7/NA7/ST7 TYPE
Application SN5 TYPE.../SB5 TYPE
SB6/SB7 TYPE.../SB7 RADIAL TYPE Series

Caliper Adjusting Mechanism

SN6/SN7/SK7/NA7/ST7 TYPE
Application SL7/SM7 TYPE.../SB6/SB7 TYPE
SB7 RADIAL TYPE Series

Caliper Adjusting Mechanism (Orig. Type)

SN6/SN7/SK7/NA7/ST7 TYPE
Application SL7/SM7 TYPE.../SB6/SB7 TYPE
SB7 RADIAL TYPE Series

Caliper Adjusting Shaft (With Spring)

MYCALIPER Number MY-100130
SN6/SN7/SK7/NA7/ST7 TYPE

Application SB6/SB7 TYPE
SB7 RADIAL TYPE Series

Mechanism With Spring New Type

SN6/SN7/SK7/NA7/ST7 TYPE
SL7/SM7 TYPE.../SB6/SB7 TYPE Series

Application

:

www.mycaliper.com "I



(]
o
>
—
~
—
(%)
~
~
<
=
-~
~
b
wvm
~
~
=
wvm
)
=)
=
wv

KNORR

KNORR SERIES

SN6/SN7/5K7/NA7/ST7 TYPE

Caliper Adjusting Mechanisms Kit

MYCALIPER Number ‘ MY-100899

o SNG/SN7/SK7/NAT/ST7 TYPE
Application SBG/SB7 TYPE.../SB7 RADIAL TYPE Series

Caliper Cover (With Nut)

4 40 1 1 1 1
CE e € e

MYCALIPER Number \ MY-100119

o SNG/SN7/SK7/NA7/ST7 TYPE
Application SL7/SM7 TYPE Series

Caliper Cover

11111111

MYCALIPER Number ‘ MY-100145

Application SN6/SN7/SK7/NA7/ST7 TYPE Series

s [l

m MYCALIPER NR DESCRIPTIONS m-

MY-100129 ADJUSTING MECHANISM
2 MY-100130  ADJUSTING SHAFT (WITH SPRING) 1
3 MY-100131 CHAIN (29 LINKS) 1

m MYCALIPER NR DESCRIPTIONS mm

1 MY-6599 COVER (With Gasket & Nut)
2 MY-6573 BOLT M8x 16 mm 6
3 MY-6574 BOLT M8 x50 mm 2

m MYCALIPER NR DESCRIPTIONS W-

MY-6596 COVER WITH GASKET

2 MY-6573 BOLT M8x 16 mm 8

www.mycaliper.com



KNORR SERIES

SN6/SN7/5K7/NA7/ST7 TYPE

Caliper Bridge Assembly

m MYCALIPER NR DESCRIPTIONS m-

-

MY-6571 SPRING 025 x 49 mm 1
2 MY-6592 BRIDGE ASSEMBLY 1

MYCALIPER Number ‘ MY-100141

Application SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Bridge Assembly

m MYCALIPER NR DESCRIPTIONS m-

(W

1 MY-6571 SPRING 025 x 49 mm
2 MY-6593 BRIDGE ASSEMBLY 1

[ mvcauper Number  [TRITIES

o SNG/SN7/SK7/NA7/ST7 TYPE
Application SL7/SM7 TYPE Series

Caliper Shaft Housing Pin & Clamp Repair Kit

m MYCALIPER NR DESCRIPTIONS m-

D O

MY-6701 SHAFT HOUSING PIN
2 MY-6700 SHAFT HOUSING CLAMP 2

MYCALIPER Number ‘ MY-200239

o SNG/SN7/SK7/NA7/ST7 TYPE
Application SB6/SB7 TYPE Series

www.mycaliper.com

O

L
(=W
>
=
N~
=
%)
~
N~
T
=
~
~
>
wv
-~
N~
=
wv
~
=)
=
wv

KNORR




KNORR

KNORR SERIES

Caliper Lever Bearing Kit

SN6/SN7/5K7/NA7/ST7 TYPE

m MYCALIPER NR DESCRIPTIONS m-

(W]
o
>
—
N~
—
(%)
-~
N~
<
=
-~
~
-
v
-~
~
=
v
)
=)
=
v

MY-6597 CALIPER LEVER BEARING

MYCALIPER Number ‘ MY-100338

SN6/SN7/5K7/NA7/ST7 TYPE
SB6/SB7 TYPE.../SB7 RADIAL TYPE Series

Application

Caliper Adjusting Mechanism Adapter Kit

m MYCALIPER NR DESCRIPTIONS m-

i

]

MY-6563 MECHANISM ADAPTER

MYCALIPER Number  [[NRLOIRL)

2001548 - HENDRICKSON S-29152-5

o SNG/SN7/SK7/NA7/ST7 TYPE
Application SB6/SB7 TYPE.../SB7 RADIAL TYPE Series

Caliper Adjusting Mechanism Wheel Kit

m MYCALIPER NR DESCRIPTIONS m-

QD
QD

MY-6564 ADJUSTING MECHANISM WHEEL

MYCALIPER Number ‘ MY-100111

o SNG/SN7/SK7/NAT/ST7 TYPE
Application SBG/SB7 TYPE.../SB7 RADIAL TYPE Series

I" www.mycaliper.com



KNORR SERIES

SN6/SN7/5K7/NA7/ST7 TYPE

Caliper Roller Bearings

SN6/SN7/SK7/NA7/ST7 TYPE

Application .
SB6/SB7...5B7 RADIAL TYPE Series

Caliper Pad Retainer Repair Kit

K000133 - MB 000 420 2582

SN6/SN7/SK7/NA7/ST7 TYPE

Application .
SB6/SB7 TYPE Series

Caliper Lever (Angle 0° - 113 mm)

2002881

Application SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Lever (Angle 0°- 113 mm)

2002881

Application SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Lever (Angle 0° - 126 mm)

2002965

Application SN6/SN7/SK7/NA7/ST7 TYPE Series

www.mycaliper.com

[EER

L
(=W
>
=
~
=
%)
~
N~
T
=
~
~
M
wv
~
™~
=
v
~
O
=
v

KNORR




KNORR SERIES
SN6/SN7/SK7/NA7/ST7 TYPE

Caliper Lever (Angle 12° - 122 mm)

L
o
>
—
~
—
(%)
-~
N~
<
=
-~
~
b
v
~
~
=
v
e
=)
=
v

KNORR

SN6/SN7/SK7/NA7/ST7 TYPE

Application .
SL7 TYPE (K017549M2-M1) Series

Caliper Lever (Angle 12° - 123 mm)

2002962

Application SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Lever

Application SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Plastic Cover (Without Sensor)

m MYCALIPER NR DESCRIPTIONS m-

1 MY-6546 PLASTIC COVER
2 Myess4 SENSOR COVER SEAL 1
3 MY6575 SCREW WITH RIVET 6
M avesso SEAL 1
5 MY-6600 CALIPER PLASTIC COVER RING 1
- \_\) & 5| 6 meess PLASTIC COVER CAP 038 mm 1

SYYETY @ -

MYCALIPER Number ‘ MY-100133-1 ‘

SNG/SN7/SK7/NAT/ST7 TYPE
Application SBG/SB7 TYPE.../ SL7/SM7 TYPE Series
IIl www.mycaliper.com




KNORR SERIES
SN6/SN7/SK7/NA7/ST7 TYPE

[T
(=W
>
—
N~
—
%)
~
N~
=
=
~
~
>
wv
-~
N~
=
wv
~
)
=
wv

Caliper Sensor Cover (2 Cables Sensor) mm- goé
MY-6583 PLASTIC COVER (WITH HOLE) 1 =
2 MY-6554 SENSOR COVER SEAL 1
0 ° Al MY-6575 SCREW WITH RIVET 6
4 MY-6550 SEAL 1
>\ - ‘) ° 05 5 MY-6600  CALIPER PLASTIC COVER RING 1
6 MY-6557 PLASTIC COVER CAP 038 mm 1
og_l ‘ ‘, A ; l ‘ ~06 7 MY-6547 2 CABLES SENSOR 1
8 MY-6647  SENSOR STABILIZER PLASTIC 1
0;» 08- 9| 9 MY-6559 SENSOR ADJUSTER PLASTIC 5,3 mm 1

MYCALIPER Number ‘ MY-100133 ‘

o SN6/SN7/SK7/NA7/ST7 TYPE
Application SBG/SB TYPE.../SL7/SM7 TYPE Series
Caliper Sensor Cover (3 Cables Sensor ) m MYCALIPER NR DESCRIPTIONS W-

MY-6583 PLASTIC COVER (WITH HOLE)
01- ° o 2 MY-6554 SENSOR COVER SEAL 1
3 MY-6575 SCREW WITH RIVET 6
4 MY-6550 SEAL 1
02- C.’-\\> ° -05 5 MY-6600 CALIPER PLASTIC COVER RING 1
6 MY-6557 PLASTIC COVER CAP @38 mm 1
s-4444414 ‘ -06| 7 MY-6587 3 CABLES SENSOR (FOR MERCEDES) 1
8 MY-6647 SENSOR STABILIZER PLASTIC 1
07- h 08- “09 | 9 MY-6559  SENSOR ADJUSTER PLASTIC 5,3 mm 1

MYCALIPER Number ‘ MY-100133-2

(MERCEDES)
o SN6/SN7/SK7/NA7/ST7 TYPE

Application SB6/SB TYPE.../SL7/SM7 TYPE Series

Caliper Sensor Cover (3 Cables Sensor ) m MYCALIPER NR DESCRIPTIONS W-

1 MY-6583 PLASTIC COVER (WITH HOLE)

2 MY-6554 SENSOR COVER SEAL 1
o ° M e SCREW WITH RIVET 6

4 MY-6550 SEAL 1
- - ‘_J ° 05 s MY-6600 CALIPER PLASTIC COVER RING 1

6 MY-6557 PLASTIC COVER CAP 038 mm 1
3-4444414 ‘ -06 | 7 MY-6588 3 CABLES SENSOR(FOR MAN) 1

8 MY-6647 SENSOR STABILIZER PLASTIC 1
07_” 08- 09| 9 MY-6559 SENSOR ADJUSTER PLASTIC 5,3 mm 1

MYCALIPER Number ‘ MY-100133-3 ‘

(MANTGA)

o SNG/SN7/SK7/NAT/ST7 TYPE
Application SBG/SB7 TYPE.../SL7/SM7 TYPE Series

www.mycaliper.com "I



KNORR SERIES
SN6/SN7/SK7/NA7/ST7 TYPE

CprPlscCover Withou s T N

MY-6548 PLASTIC COVER (WITH HOLE)

L
(=W
>
—
N~
=
(%)
~
N~
<<
=
~
~
b
wv
-~
N~
=
v
e
)
=
wv

KNORR

2 MY-6554 SENSOR COVER SEAL 1
3 MY-6575 SCREW WITH RIVET 6
4 MY-6550 SEAL 1
5 MY-6600 CALIPER PLASTIC COVER RING 1
6 MY-6557 PLASTIC COVER CAP 038 mm 1
7 MY-6605 COVER CLIPS 1

MYCALIPER Number ‘ MY-100416 ‘

o SN6/SN7/SK7/NA7/ST7 TYPE
Application SBG/SB7 TYPE Series
Caliper Sensor Cover ( 2 Cables Sensor) m MYCALIPER NR DESCRIPTIONS m-

MY-6548 PLASTIC COVER (WITH HOLE)

2 MY-6554 SENSOR COVER SEAL 1

0 o 3 MY-6575 SCREW WITH RIVET 6
4 MY-6550 SEAL 1

C__\_\) ° -05 5 MY-6600 CALIPER PLASTIC COVER RING 1

6 MY-6557 PLASTIC COVER CAP @38 mm 1

03- l ‘ ‘, A ; l 07- ’ ‘ -06 7 MY-6605 COVER CLIPS 1
8 MY-6547 2 CABLES SENSOR 1

08—‘:‘ 09- ~10 9 MY-6647 SENSOR STABILIZER PLASTIC 1
10 MY-6559 SENSOR ADJUSTER PLASTIC 5,3mm 1

MYCALIPER Number \ MY-100423

Application SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Sensor Cover (3 Cables Sensor ) m MYCALIPER NR DESCRIPTIONS W-

1 MY-6548 PLASTIC COVER (WITH HOLE)

2 MY-6554 SENSOR COVER SEAL 1

° o 3 MY-6575 SCREW WITH RIVET 6

4 MY-6550 SEAL 1

02- C——\__J ° -05| 5 MY-6600 CALIPER PLASTIC COVER RING 1
6 MY-6557 PLASTIC COVER CAP @38 mm 1

03- l ‘ ‘, A ; l 07- ; ‘ 06| 7 MY-6605 COVER CLIPS 1
8 MY-6587 3 CABLES SENSOR (FOR MERCEDES) 1

S0 0 MY-6647 SENSOR STABILIZER PLASTIC 1

10 MY-6559 SENSOR ADJUSTER PLASTIC 5,3 mm 1

MYCALIPER Number ‘ MY-100416-1 ‘

(MERCEDES)

Application SN6/SN7/SK7/NA7 TYPE.../SB6/SB7 TYPE Series
I" www.mycaliper.com




Caliper Sensor Cover (3 Cables Sensor)

02- < -

Dy

A

w-iibiil o

os—w 09-

@
=¥

-10

MYCALIPER Number ‘ MY-100133-4

(MAN)

mw SNG/SN7/SK7/NA7/ST7 TYPE
Application SBG/SB7 TYPE Series

Sensor Adjuster Plastic Kit

5.3 mm

MYCALIPER Number ‘ MY-100892

o SNG/SN7/SK7/NAT/ST7 TYPE
Application SB6/SB7 TYPE Series

Caliper Plastic Cover Cap Kit

38 mm

01

02

03

MYCALIPER Number ‘ MY-100267

K000945 - MAN 81.50822.6024 - SCANIA 2121868
DAF 1439493 - SAF 8 531 7002 500

SN6/SN7/SK7/NA7/ST7 TYPE

Application SB6/SB7 TYPE.../SL7/SM7 TYPE Series

www.mycaliper.com

KNORR SERIES

SN6/SN7/5K7/NA7/ST7 TYPE

m MYCALIPER NR DESCRIPTIONS m-

MY-6548 PLASTIC COVER (WITH HOLE) 1
2 MY-6554 SENSOR COVER SEAL 1
3 MY-6575 SCREW WITH RIVET 6
4 MY-6550 SEAL 1
5 MY-6600 CALIPER PLASTIC COVER RING 1
6 MY-6557 PLASTIC COVER CAP 038 mm 1
7 MY-6605 COVER CLIPS 1
8 MY-6588 3 CABLES SENSOR(FOR MAN) 1
9 MY-6647 SENSOR STABILIZER PLASTIC 1
10 MY-6559 SENSOR ADJUSTER PLASTIC 5,3mm 1

m MYCALIPER NR DESCRIPTIONS m-

1 MY-6559 SENSOR ADJUSTER PLASTIC 5,3 mm

m MYCALIPER NR DESCRIPTIONS m-

MY-6557 PLASTIC COVER CAP 038 mm
2 MY-6558 PLASTIC COVER CAP 10
3 MY-6563 ADJUSTING MECHANISM ADAPTER 10

il |

L
(=W
>
—
N~
=
%)
~
N~
T
=
~
~
b
wv
-~
N~
=
wv
~
=)
=
wv

KNORR




KNORR

KNORR SERIES

Caliper Plastic Cover Cap Kit

L
o

>

—

N~

—

(%)
~
N~

<
=
~
~
b
wv
~
N~
=
v
~
)
=
wv

MYCALIPER Number \ MY-100268

SN6/SN7/SK7/NA7/ST7 TYPE
SB6/SB7 TYPE.../SL7/SM7 TYPE Series

Application

Caliper Plastic Cover Cap Kit

35mm
266 6 &
e 8 8 ® ®
@ e e @ @
e - : - -

MYCALIPER Number \ MY-100267-1

SN6/SN7/SK7/NA7/ST7 TYPE

SB6/SB7 TYPE Series

Application

Caliper Plastic Cover Cap Kit

MYCALIPER Number ‘ MY-100268-1

K003902 - MB 000 420 3248 - SCANIA 2121869
2198536 - OTHER MODEL ADB22X - BENDIX 802643
SCHMITZ 1008453

SN6/SN7/SK7/NA7/ST7 TYPE

Application

SB6/SB7 TYPE Series

2 [l

SN6/SN7/5K7/NA7/ST7 TYPE

m MYCALIPER NR DESCRIPTIONS W-

MY-6557 PLASTIC COVER CAP 038 mm

MY-6563 ADJUSTING MECHANISM ADAPTER 10

2

m MYCALIPER NR DESCRIPTIONS W-

1 MY-6561 PLASTIC COVER CAP 035 mm
2 MY-6558 PLASTIC COVER CAP 10
3 MY-6563 ADJUSTING MECHANISM ADAPTER 10

m MYCALIPER NR DESCRIPTIONS m-

MY-6561 PLASTIC COVER CAP @35 mm

MY-6563 ADJUSTING MECHANISM ADAPTER 10

2

www.mycaliper.com



KNORR SERIES
SN6/SN7/SK7/NA7/ST7 TYPE

Caliper Actuator Seal Kit m MYCALIPER NR DESCRIPTIONS m-

MY-6623 CALIPER ACTUATOR SEAL 042 mm 5

L
(=W
>
=
N~
=
%)
~
N~
T
=
~
~
M
wv
-~
N~
=
wv
~
=)
=
wv

KNORR

42 mm

NI My-100942
Application SN6/SN7/SK7/NA7/ST7 TYPE Series
Caliper Actuator Seal Kit m MYCALIPER NR DESCRIPTIONS m-

MY-6624 CALIPER ACTUATOR SEAL 045 mm

45 mm

MYCALIPER Number \ MY-100943 |
Application SN6/SN7/SK7/NA7/ST7 TYPE Series

Caliper Plug Kit

m MYCALIPER NR DESCRIPTIONS m-

MY-6586 PLUG 055/50x 11 mm

MYCALIPER Number \ MY-100804

Application SN6/SN7/SK7/NA7/ST7 TYPE.../SB6/SB7
SB5 TYPE.../SN5 TYPE.../SL7/SM7 TYPE Series
www.mycaliper.com "I




KNORR SERIES
SN6/SN7/SK7/NA7/ST7 TYPE

m MYCALIPER NR DESCRIPTIONS m-

MY-6661 RUBBER BUSH CAP (SHORT)

Rubber Bush Cap Kit (Short)

L
o
>
—
N~
—
(%)
~
N~
<
=
~
~
b
wv
~
N~
=
v
e
)
=
wv

KNORR

-
-
A

MYCALIPER Number \ MY-200215 |

SN6/SN7/SK7/NA7/ST7 TYPE.../ SB6/SB7 TYPE
SB5 TYPE.../ SL7/SM7 TYPE.../ SB7 RADIAL Series

Application

Rubber Bush Cap Kit (Long)

m MYCALIPER NR DESCRIPTIONS m-

MY-6662 RUBBER BUSH CAP (LONG)

MYCALIPER Number \ MY-200219

o SNG/SN7/SK7/NAT/ST7 TYP.../ SB6/SB7 TYPE
Application SBS TYPE.../ SL7/SM7 TYPE.../ SB7 RADIAL Series
Sensor Rod Kit (Small) m MYCALIPER NR DESCRIPTIONS m-

MY-6646 SENSOR ROD (SMALL)

i=
L

L

MYCALIPER Number ‘ MY-100967

o SNG/SN7/SK7/NA7/ST7 TYPE
Application SBG/SB7 TYPE.../SL7/SM7 TYPE Series
IIl www.mycaliper.com




KNORR SERIES
SN6/SN7/SK7/NA7/ST7 TYPE

L
(=W
>
=
~
=
%)
~
N~
T
=
~
~
M
wv
~
™~
=
v
~
O
=
v

. - e
Brake Pad Retainer Repair Kit m MYCALIPER NR DESCRIPTIONS m- n°:
MY-100128  PAD RETAINER REPAIR KIT 1 =
h l 2 My-200241 CABLO PROTECTION KIT 1
2_

~
" = Y,

P e . |

MYCALIPER Number ‘ MY-200256

o SN6/SN7/SK7/NA7/ST7 TYPE
Application SB6/SB7 TYPE Series
Brake Pad Retainer Repair Kit m MYCALIPER NR DESCRIPTIONS m-

MY-100474 PAD RETAINER REPAIR KIT

h ! 2 MY-200241 CABLO PROTECTION KIT 1

=,
IJI: 1 j .._'_ ;: %’/ \1

MYCALIPER Number ‘ MY-200257

KNORR: 000884

o SNG/SN7/SK7/NA7/ST7 TYPE.../ SL7/SM7 TYPE
Application SB7 RADIAL TYPE.../ SB6/SB7 TYPE Series

Caliper Guides & Seals Repair Kit m MYCALIPER NR DESCRIPTIONS m-

1 MY-6504 GUIDE PIN 036 x64mm
.\ 38 mm 2 MY-6505 GUIDE PIN 036 x 113,70 mm 1
10 D 3 MY-6511 BOLT M16X15x70mm 1
e (@) ~ '09
: 4 MY-6514 BOLT M16x1,5x85mm 1
p 5 MY-6543 STEEL CAP 040x14,5 mm 1
05- 5 06" - -07
6 MY-6544 STEEL CAP $40x 25 mm 1
7 MY-6551 INNER BOOT RING 2
-—— o8- P
8 MY-6563 ADJUSTING MECHANISM ADAPTER 1
o = _| E | 9 mwess PLASTIC COVER CAP 038 mm 1
10 MY-100128 CALIPER PAD RETAINER REPAIR KIT 1

MYCALIPER Number ‘ MY-100898 ‘

K013007

Application SN6/SN7/SK7/NA7/ST7 TYPE Series

www.mycaliper.com "I



KNORR SERIES
SN6/SN7/SK7/NA7/ST7 TYPE

L
o
>
—
~
—
(%)
~
N~
<
=
-~
~
-
v
~
~
=
v
e
=)
=
v

[~
o N Caliper Pad Retainer Repair Kit
(=) g— =) ,
E —
— © — MYCALIPER Number MY-100426
SR
e (@] e
i ]
38mm 38mm . = SN6/SN7/SK7/NA7/ST7 TYPE.../SN5 TYPE
i Application SB5 TYPE.../SB7 RADIAL TYPE
. . SB6/SB7 TYPE Series

Caliper Chain (29 Links)

MYCALIPER Number MY-100131

SN6/SN7/SK7/NA7/ST7 TYPE

Application SL7/SM7 TYPE.../SB6/SB7 TYPE
SB7 RADIALTYPE Series

AR R e

KNORR SETS > SN6/SN7/SK/NA7/ST7 TYPE > SCANIA SET MYCALIPER Number >> MY-100380

- - a8 .
——

| —
11110818181 06 07
et | e
1 MY-100264 CALIPER GUIDES & SEALS REPAIR KIT 1
2 MY-100142 CALIPER BRIDGE ASSEMBLY 1
3 MY-100227 PISTONS & SEALS REPAIR KIT (669 mm) 1
4 MY-100129 CALIPER ADJUSTING MECHANISM 1
5 MY-100130 CALIPER ADJUSTING SHAFT (WITH SPRING) 1
6  MY-100131 CALIPER CHAIN (29 LINKS) 1
7 MY-100269 CALIPER ROLLER BEARINGS 1
8 MY-100108 CALIPER CALIBRATION BOLT 2
9 MY-100145 CALIPER COVER 1

I" www.mycaliper.com



KNORR SERIES
SN6/SN7/SK7/NA7/ST7 TYPE

KNORR SETS > SN6/SN7/SK/NA7/ST7 TYPE > ACTROS BPW SET (NEW MODEL) MYCALIPER Number >> MY-100137-3

[T
(=W
>
—
N~
—
v
~
N~
=
=
~
~
>
wv
-~
N~
=
wv
~
)
=
wv

KNORR

s
— (VAR
jroepv—

L
03
08 § g /ty
Y- 4
04 11111301111 07
m MYCALIPER NR DESCRIPTIONS .
1 MY-100139 CALIPER GUIDES & SEALS REPAIR KIT 1
2 MY-100141 CALIPER BRIDGE ASSEMBLY 1
3 MY-100227 PISTONS & SEALS REPAIR KIT (669 mm) 1
4 MY-100130 CALIPER ADJUSTING SHAFT (WITH SPRING) 1
5 MY-100129 CALIPER ADJUSTING MECHANISM 1
6 MY-100131 CALIPER CHAIN (29 LINKS) 1
7 MY-100105 CALIPER ROLLER BEARINGS 1
8 MY-100108 CALIPER CALIBRATION BOLT 2
9 MY-100145 CALIPER COVER 1
KNORR SETS > SN6/SN7/SK/NA7/ST7 TYPE > ACTROS BPW SET (OLD MODEL) MYCALIPER Number >> MY-100137-4
- -
as ii
08
| S——

11111111,

T E—TT—
1 MY-100103 CALIPER GUIDES & SEALS REPAIR KIT 1
2 MY-100142 CALIPER BRIDGE ASSEMBLY 1
3 MY-100227 PISTONS & SEALS REPAIR KIT (669 mm) 1
4  MY-100129 CALIPER ADJUSTING MECHANISM 1
5 MY-100130 CALIPER ADJUSTING SHAFT (WITH SPRING) 1
6  MY-100131 CALIPER CHAIN (29 LINKS) 1
7 MY-100269 CALIPER ROLLER BEARINGS 1
8  MY-100108 CALIPER CALIBRATION BOLT 2
9  MY-100145 CALIPER COVER 1

www.mycaliper.com "I



KNORR SERIES
SN6/SN7/SK7/NA7/ST7 TYPE

KNORR SETS > SN6/SN7/SK/NA7/ST7 TYPE > AXOR SET (NEW MODEL) MYCALIPER Number >> MY-100137-5

(]
o
>
—
~
—
(%)
~
N~
=
=
-~
~
b
wvm
~
~
=
wvm
)
=)
=
wv

KNORR

ii :

L)

08
03 06
m MYCALIPER NR DESCRIPTIONS
1  MY-100140 CALIPER GUIDES & SEALS REPAIR KIT 1
2 MY-100129 CALIPER ADJUSTING MECHANISM 1
3 MY-100130 CALIPER ADJUSTING SHAFT (WITH SPRING) 1
4  MY-100141 CALIPER BRIDGE ASSEMBLY 1
5 MY-100131 CALIPER CHAIN (29 LINKS) 1
6  MY-100105 CALIPER ROLLER BEARINGS 1
7  MY-100108 CALIPER CALIBRATION BOLT 2
8  MY-100116 PISTONS & SEALS REPAIR KIT (674 mm) 1
KNORR SETS > SN6/SN7/SK/NA7/ST7 TYPE > ST7 REPAIR SET MYCALIPER Number >> MY-200120

01
07 11111111
m MYCALIPER NR DESCRIPTIONS .

1 MY-100108 CALIPER CALIBRATION BOLT

2 MY-100129 CALIPER ADJUSTING MECHANISM 1
3 MY-100131 CALIPER CHAIN (29 LINKS) 1
4 MY-100139-1 CALIPER GUIDES & SEALS REPAIR KIT 1
5 MY-100142 CALIPER BRIDGE ASSEMBLY 1
6 MY-100145 CALIPER COVER 1
7 MY-100120  CALIPERADJUSTING SHAFT (WITHOUTSPRING) 1
8 MY-100227-1 PISTONS & SEALS REPAIR KIT (869 mm) 1
9 MY-100269 CALIPER ROLLER BEARINGS 1

I" www.mycaliper.com




KNORR
BENDIX

¢

MICALIPEeR

Brake Caliper Repair Kits

www.mycaliper.com



KNORR SERIES
BENDIX

I N T

MY-6633 GUIDE PIN 045 x 150 mm
q q 2 MY-6634 GUIDE PIN 023,5 x92mm 1
05- v B 33 = 06| MY-6635 BOLT M2x1,5x175mm 1
S 4 MY-6636 BOLT M16x1,5x125mm 1
5 MY-6637 TEFLON BUSH 045x040X50mm 2
03- — = 041 6 MY-6638 RUBBER BUSH 055x 038 x 24 mm 1

MYCALIPER Number \ MY-100964 |

381.391 - 1IVEC0 93161189 - ADB 3700 - 4300

Application BENDIX TYPE Series
Caliper Plastic Kit m MYCALIPER NR DESCRIPTIONS m-

1 MY-6639 TAPPET BOOT #85 mm
07- - = &3 -05 2 MY-6640 PIN BOOT #71,50 mm 2
) ) 3 MY-6641 PIN BOOT 2
w? P 0 4 MY-6642 PLASTIC WASHER 1
04- 5 MY-6643 PIN BOOT RING @36 x5 mm 2
. ‘ 6 MY-6644 PIN BOOT RING 049 x 5 mm 2
7 MY-6645 WASHER @51x3,6 mm 1

MYCALIPER Number \ MY-100965 |

381.413 -1VEC0 93161192 - ADB 3700 - 4300

Application BENDIX TYPE Series

Brake Pad Retainer Bolt Kit

MYCALIPER Number MY-200240

1133692 - ADB 3700 - ADB 4300
IVECO: 93161843

I
I
e
I

o/

Application BENDIX TYPE Series

I" www.mycaliper.com



KNORR CALIPER CARRIERS

(=
[~
(=)
p—
==

KNORR
CARRIERS

MICALIPEeR

Brake Caliper Repair Kits

www.mycaliper.com



KNORR SERIES
KNORR CALIPER CARRIERS

266 mm Knorr 22,5 Inch BPW Type Caliper Carrier

%)
o
—
oc
oc
=T
o
oc
[N}
=
-
T
O
oc
oc
(=)
=
=

KNORR

M16x 1.5 mm

K012619-2006715 - SCANIA 2379697
BPW 01.303.88.56.0 - BPW Trailer Axle

KNORR CALIPER CARRIER
KNORR SK7... Series

Application

Knorr Otokar Bus 19,5 Inch Caliper Carrier

266 mm

ww G’ X9LW

/A I t M

Application KNORR CALIPER CARRIER Series

Knorr Conecto Bus 22,5 Inch Caliper Carrier (Right-Left)

286 mm

KNORR L-K001529 / R-K001530
MB L-000 421 3706 / R-000 421 3806
Right/Left - MB BUS CONNECTO

M16x1,5mm

ww G'LX9LW

KNORR CALIPER CARRIER
KNORR SB7.../ KNORR SN7... Series

Application

Knorr BPW Type 2 Hole 19,5 Inch Caliper Carrier (Right-Left)

MY-100954

266 mm
i M16 x 1,5mm

KNORR K004679 - SCANIA 2379695
BPW 01.303.88.55.0 - BPW Trailer Axle

KNORR CALIPER CARRIER
KNORR SN6... Series

Application

Knorr Actross & AXOR 22,5 Inch Caliper Carrier (Right-Left)

286 mm

M16x 1.5 mm
KNORR K000026 - Z007541 - MB 000 421 1106

SCANIA 2121591 - MERCEDES AXOR

ww gL X9l

KNORR CALIPER CARRIER
KNORR SB7.../ KNORR SN7... Series

Application

I" www.mycaliper.com



KNORR SERIES
KNORR CALIPER CARRIERS

Knorr 22,5 Inch SK7 Caliper Carrier

266,5 mm

%)
cc
=
==
==
<C
o
[==
(o8]
=
-
=T
()
==
==
(=}
=
=

KNORR

M16x1.5mm

KNORR K004099 - SCANIA 2121600
SAF 3 080 0054 01 - 3 080 0055 01 - SAF Trailer Axle

KNORR CALIPER CARRIER
KNORR SK7... Series

Application

12-160 TGL MAN 17,5 Inch Caliper Carrier (Right-Left)

218,50 mm

174 mm

M16x1,5mm

K005606

M14x1,5mm

KNORR CALIPER CARRIER
SN5 TYPE Series

Application

286 mm

M16x 1.5 mm

KNORR K001278 - MAN TRUCK TGA

M18x 1.5 mm

KNORR CALIPER CARRIER

Application .
KNORR SB7.../ KNORR SN7... Series
408 mm
Knorr 22,5 Inch Bpw Type Caliper Carrier
286 mm MYCALIPER Number MY-200130

M16x1,5 mm KNORR K004680 - SCANIA 2379696

BPW 01.303.88.57.0 - BPW Trailer Axle

KNORR CALIPER CARRIER

Application )
KNORR SN7... Series

Knorr 22,5 Inch Caliper Carrier (For Saf Trailer)

KNORR K015308 - 2019050 - SAF 3 080 0059 00
30800060 00 - SAF Trailer Axle

266 mm

211,7 mm

M16x 1,5 mm

M18x1,5mm

KNORR CALIPER CARRIER
KNORR SK7... Series

MAN TGA Caliper Carrier 22,5 Inch
Application

www.mycaliper.com "I



KNORR SERIES
KNORR CALIPER CARRIERS

286 mm Knorr 22,5 Inch Caliper Carrier

%)
o
—
oc
occ
=T
o
o
[N}
=
-
=T
O
oc
oc
(=)
=
=

KNORR

M16x 1,5 mm

KNORR K000027 - Z006582 - MB 000 423 0606
SCANIA 2121592 - MERCEDES ACTROS

KNORR CALIPER CARRIER
KNORR SB7.../ KNORR SN7... Series

Application

Knorr Caliper Carrier 19,5 Inch (Right-Left)
266 mm

211.50 mm

M16x1.5mm

KNORR 2019053 - SAF - JUMBO

KNORR CALIPER CARRIER
KNORR SN6... Series

316mm Application

M16x 1.5 mm

KNORR 2046338 - MERCEDES 4140 FRONT

210 mm
378 mm
400 mm

KNORR CALIPER CARRIER

Application )
KNORR SN7... Series

277.50 mm

Knorr Caliper Carrier 22,5 Inch (Right-Left)

M16x1.5mm 208 mm

KNORR K052379K50 - 2025197
MB 000 423 1006 - MERCEDES 4140 REAR

210 mm
S KNORR CALIPER CARRIER
322.50mm Application
KNORR SL7... Series
350.50 mm
266 mm

Knorr Caliper Carrier 19,5 Inch Right & Left

M16x 1.5 mm ] 21T mm

KNORR 2017557 - MERCEDES AXOR

KNORR CALIPER CARRIER
KNORR SN6... Series

Application

286 mm Knorr Caliper Carrier 22,5 Inch (Right-Left)

360 mm

I" www.mycaliper.com



KNORR SERIES
KNORR CALIPER CARRIERS

286 mm

Knorr Caliper Carrier 22,5 Inch (Right-Left)

M16x 1,5 mm

MB TRAILER AXLE

176 mm

KNORR CALIPER CARRIER

340,50 mm Application )
360mm KNORR SN7... Series
— Knorr Caliper Carrier 22,5 Inch (Right-Left)

M16x 1,5 mm

M18x25m

Application KNORR CALIPER CARRIER Series

400 mm

M16x1,5mm

KNORR K010765 - 1756388

M20x2,5mm

M12x1,5mm

Application KNORR CALIPER CARRIER Series

437 mm

Knorr Caliper Carrier 22,5 Inch (Right-Left)

KNORR K001337 - KNORR SN7138

286 mm

M16x 1,5 mm

DAF 1612741
o KNORR CALIPER CARRIER
Application .
400 mm KNORR SN7... Series
- Knorr Caliper Carrier 22,5 Inch DAF (Right-Left)

M16x 1,5 mm

KNORR K011479 - 1689314 - Z006590 - DAF LF 55 IV
DAF 75 CF /85 CF - DAF CF 65 11 / IV - DAF CF 75 IV
DAF CF 85 IV - DAF XF 95 - DAF XF 105

M18x2,5mm

KNORR CALIPER CARRIER
KNORR SN7.../ KNORR SB7... Series

Application

286 mm Knorr Caliper Carrier 22,5 Inch Scania 0ld Model (Right-Left)
400 mm

www.mycaliper.com "I

%)
cc
=]
==
oc
<
o
[==
o8]
=
-
T
o
==
==
o
=
=

KNORR




KNORR SERIES
KNORR CALIPER CARRIERS

Knorr Caliper Carrier 22,5 Inch (Right-Left)
286 mm

%)
o
—
oc
occ
=T
o
o
[N}
=
-
=T
O
oc
oc
(=)
=
=

KNORR

M16x 1,5 mm

200mm Application KNORR CALIPER CARRIER Series

Knorr 19,5 Inch Atego Caliper Carrier

KNORR 2000702 - K001926 - MB 000 421 3106
MERCEDES ATEGO

360 mm

S KNORR CALIPER CARRIER
Application )
KNORR SN6... Series

266 mm Caliper Carrier Schmitz Trailer Knorr Type

M16x1,5mm

MYCALIPER Number MY-200261

Application KNORR CALIPER CARRIER Series

196 mm

220 mm Knorr 17,5 Inch Caliper Carrier (Right-Left)

M16 x 1,5 mm

MYCALIPER Number MY-200263

M K001927 - MB 000 421 3006 - SCANIA 2121599

300 mm

267 mm
M16x1,5mm N NI My-200137

Application KNORR CALIPER CARRIER Series

Grease Blue (10 g)

Al

2 MYCALIPER |

® _ Caliper Repair Kits . ¥

M 2 w
. 7" Grease (Blue) , -
< %’ = ﬁ

=~ m.mﬁalmur. colﬁ" @

CP e o o

Application

I" www.mycaliper.com



KNORR CABLES SERIES

(=
[~
(=)
p—
=

MYCALIPER
KNORR

MICALIPEeR

Brake Caliper Repair Kits

www.mycaliper.com



KNORR CABLES SERIES

KNORR

KNORR
CABLES

MYCALIPER
KNORR

AY-SAT Otomotiv Nakliyat Gida ith. ihr. Ltd. Sti.

www.mycaliper.com



KNORR
CABLES

¢

MICALIPEeR

Brake Caliper Repair Kits

www.mycaliper.com

KNORR CABLES SERIES

(=
-
(=)
p—
=




KNORR SERIES
KNORR CABLES SERIES

Knorr Sensor Testing Device

(V%)
=
oc
[NH]
v
v
(WE]
p—
[=2)
=<
o
cc
oc
o
=
=

KNORR

MYCALIPER Number MY-100100

Man - Mercedes ‘ Scania

Test Cable Test Cable

Application KNORR CABLES Series

Sensor Cable With Connector Socket (3,5 m)

449756 0350

Application KNORR CABLES Series

Sensor Cable With Connector Socket (8,0 m)

MYCALIPER Number MY-200141

Sensor Cable With Connector Socket (12,0 m)

MYCALIPER Number MY-200143

Application KNORR CABLES Series

Sensor Cable With Connector Socket (1,0 m)

MYCALIPER Number MY-200144

Application KNORR CABLES Series

Application KNORR CABLES Series

I" www.mycaliper.com



KNORR SERIES

KNORR CABLES SERIES

Sensor Cable With Connector Socket (2,0 Mt)

OEM: 449 756 0200

Application KNORR CABLES Series

Sensor Cable with Connector Socket (2,0 Mt)

MY-200149

Application KNORR CABLES Series

Sensor Cable with Connector Socket (5,0 Mt)

Application KNORR CABLES Series

Sensor Cable with Connector Socket (1,5 Mt)

1884529

Application KNORR CABLES Series

www.mycaliper.com

fl 1]

(%%
=
==
[NE)
v
v
(W)
—
=)
T
()
==
==
(=}
=
=

KNORR




ec =
[~ o)
°
=35

=
=~

MYCALIPER
KNORR

AY-SAT Otomotiv Nakliyat Gida ith. ihr. Ltd. Sti.

www.mycaliper.com



MICALIPEeR

Brake Caliper Repair Kits

www.mycaliper.com

e
[~ %)
(=12
=2

=
=




KNORR SERIES
KNORR SETS

KNORR SETS > SB5 TYPE > 12-160 MAN SET MYCALIPER Number >> MY-100377

v
—
[N
v
occ
oc
(=)
=
>

(=
(-
(=)
p—
==

—
e D

08

= —— b y "

-

J
J

W —

ml ml
1 MY-100102 CALIPER GUIDES & SEALS REPAIR KIT MY-100269 CALIPER ROLLER BEARINGS

2 MY-6541 STEEL CAP 1 12 MY-100270 CALIPER CHAIN (12 LINKS) 1
3 MY-6553 0-RING 1 13 MY-100307 CALIPER LEVER 1
4  MY-100108 CALIPER CALIBRATION BOLT 1

5  MY-100112 CALIPER ADJUSTING SHAFT 1

6  MY-100800 CALIPER ADJUSTING MECHANISM 1

7  MY-100114 CALIPER BRIDGE ASSEMBLY 1

8 MY-6533 TAPPET & BOOT ASSEMBLY (974 mm) 1

9 MY-6520 TAPPET BUSH (018 x 16 x 10 mm) 1

10 MY-6537 INNER SEAL 1

KNORR SETS > SB7 RADIAL TYPE / SB6-SB7 TYPE > MAN TGA SET (NEW MODEL)

v

MYCALIPER Number >> MY-100379
. .

--- .-‘ .

Se=mmm
o — —

-

05

06 7 07

MY-100140
MY-100132
MY-100116
MY-100129
MY-100130

CALIPER GUIDES & SEALS REPAIR KIT
CALIPER BRIDGE ASSEMBLY
PISTON & SEALS REPAIR KIT (@74 mm)
CALIPER ADJUSTING MECHANISM

sl

MY-100131
MY-100269
MY-100108

CALIPER CHAIN (29 LINKS)
CALIPER ROLLER BEARINGS
CALIPER CALIBRATION BOLT

www.mycaliper.com

I Y R [
1
2
3
4
5
6
7
8

1
1
1
1
CALIPER ADJUSTING SHAFT (WITH SPRING) 1
1
1
2



KNORR SETS

KNORR SETS > SB7 RADIAL TYPE / SB6-SB7 TYPE > AXOR SET (OLD MODEL)

KNORR SERIES

MYCALIPER Number >> MY-100137-2

e

04

07

| S———

&
&

~

06

L
2
3
4
5
6
7
8

02 05
MYCALIPER NR DESCRIPTIONS

MY-100140
MY-100129
MY-100130
MY-100132
MY-100131
MY-100105
MY-100108
MY-100116

KNORR SETS > SN5 TYPE > 12-180 MAN TGL SET

CALIPER GUIDES & SEALS REPAIR KIT
CALIPER ADJUSTING MECHANISM
CALIPER ADJUSTING SHAFT (WITH SPRING)
CALIPER BRIDGE ASSEMBLY
CALIPER CHAIN (29 LINKS)
CALIPER ROLLER BEARINGS
CALIPER CALIBRATION BOLT
PISTON & SEALS REPAIR KIT (@74 mm)

-_— N e ) e D -

MYCALIPER Number >> MY-100378

88 -~

OO

01E| E 05 03 1 1 1 1 1 1 p
S = S =
osw w 08 ‘07

S\DOO\IO\M-hWN—IE

02 04
MYCALIPER NR DESCRIPTIONS

MY-100305
MY-100107
MY-100108
MY-100113
MY-100101
MY-100306
MY-100287
MY-6560
MY-100134
MY-100265

CALIPER GUIDES & SEALS REPAIR KIT
CALIPER CHAIN (14 LINKS)
CALIPER CALIBRATION BOLT
CALIPER ADJUSTING MECHANISM
PISTON TAPPET REPAIR KIT (69 mm)
CALIPER ROLLER BEARINGS
CALIPER AJUSTING SHAFT
ADJUSTER SCREW GAITER
CALIPER COVER
CALIPER BRIDGE ASSEMBLY

www.mycaliper.com

1
1
1
1
1
1
1
1
1
1

17|

wv
—
[N )
(%}
e
o
o
=
>

(=
o=
(=)
_—
==




KNORR SERIES
KNORR SETS

KNORR SETS > SN5 TYPE > 12-180 MAN TGL SET
88 =
SO g
e e

o —t

MYCALIPER Number >> MY-100378-1

wv
—
[NH)
v
occ
(==
(=)
=
>

(=
(=4
(=)
p—
==

S =
S

m MYCALIPER NR DESCRIPTIONS . m MYCALIPER NR DESCRIPTIONS .

MY-100305 CALIPER GUIDES & SEALS REPAIR KIT 11 MY-100144-10 CALIPER LEVER
2 My-100107 CALIPER CHAIN (14 LINKS) 1
3 MY-100108 CALIPER CALIBRATION BOLT 1
4  MY-100113 CALIPER ADJUSTING MECHANISM 1
5  MY-100101 PISTON TAPPET REPAIR KIT (69 mm) 1
6  MY-100306 CALIPER ROLLER BEARINGS 1
7 MY-100287 CALIPER AJUSTING SHAFT 1
8 MY-6560 ADJUSTER SCREW GAITER 1
9  MY-100134 CALIPER COVER 1
10  MY-100265 CALIPER BRIDGE ASSEMBLY 1

KNORR SETS > SN6/SN7/SK/NA7/ST7 TYPE > SCANIA SET MYCALIPER Number >> MY-100380

—
fremrona)

T
01;—. l

T

¢ 4

11111111y

sl

www.mycaliper.com

T E—TT—
1 MY-100264 CALIPER GUIDES & SEALS REPAIR KIT 1
2 MY-100142 CALIPER BRIDGE ASSEMBLY 1
3 MY-100227 PISTONS & SEALS REPAIR KIT (669 mm) 1
4  MY-100129 CALIPER ADJUSTING MECHANISM 1
5 MY-100130 CALIPER ADJUSTING SHAFT (WITH SPRING) 1
6  MY-100131 CALIPER CHAIN (29 LINKS) 1
7 MY-100269 CALIPER ROLLER BEARINGS 1
8  MY-100108 CALIPER CALIBRATION BOLT 2
9  MY-100145 CALIPER COVER 1



KNORR SERIES

KNORR SETS
ec
KNORR SETS > SN6/SN7/SK/NA7/ST7 TYPE > ACTROS BPW SET (NEW MODEL) MYCALIPER Number >> MY-100137-3 °°= o
oc
=90
- . xS
i | 03
1 E 02 08 % E /.
w | ‘\ J
’ s &
By 4
04 111011111 06 07
m MYCALIPER NR DESCRIPTIONS QryY
1 My-100139 CALIPER GUIDES & SEALS REPAIR KIT 1
2 MY-100141 CALIPER BRIDGE ASSEMBLY 1
3 MY-100227 PISTONS & SEALS REPAIR KIT (369 mm) 1
4 MY-100130 CALIPER ADJUSTING SHAFT (WITH SPRING) 1
5 MY-100129 CALIPER ADJUSTING MECHANISM 1
6  My-100131 CALIPER CHAIN (29 LINKS) 1
7 MY-100105 CALIPER ROLLER BEARINGS 1
8  MY-100108 CALIPER CALIBRATION BOLT 2
9 MY-100145 CALIPER COVER 1
KNORR SETS > SN6/SN7/SK/NA7/ST7 TYPE > ACTROS BPW SET (OLD MODEL) MYCALIPER Number >> MY-100137-4
- -
02 08
11111111 06
m MYCALIPER NR DESCRIPTIONS QryY
1 MY-100103 CALIPER GUIDES & SEALS REPAIR KIT 1
2 MY-100142 CALIPER BRIDGE ASSEMBLY 1
3 MY-100227 PISTONS & SEALS REPAIR KIT (69 mm) 1
4 MY-100129 CALIPER ADJUSTING MECHANISM 1
5 MY-100130 CALIPER ADJUSTING SHAFT (WITH SPRING) 1
6  My-100131 CALIPER CHAIN (29 LINKS) 1
7 MY-100269 CALIPER ROLLER BEARINGS 1
8  MY-100108 CALIPER CALIBRATION BOLT 2
9 MY-100145 CALIPER COVER 1

www.mycaliper.com "I



KNORR SERIES
KNORR SETS

KNORR SETS > SN6/SN7/SK/NA7/ST7 TYPE > AXOR SET (NEW MODEL) MYCALIPER Number >> MY-100137-5

(%2l
—
[NE)
v
occ
oc
o
=
=

(=
(=4
(=)
p—
==

L o 5
S——
res————

08
01 E E 04 07
03 06
m MYCALIPER NR DESCRIPTIONS
1  MY-100140 CALIPER GUIDES & SEALS REPAIR KIT 1
2 MY-100129 CALIPER ADJUSTING MECHANISM 1
3 MY-100130 CALIPER ADJUSTING SHAFT (WITH SPRING) 1
4  MY-100141 CALIPER BRIDGE ASSEMBLY 1
5  MY-100131 CALIPER CHAIN (29 LINKS) 1
6  MY-100105 CALIPER ROLLER BEARINGS 1
7  MY-100108 CALIPER CALIBRATION BOLT 2
8  MY-100116 PISTONS & SEALS REPAIR KIT (074 mm) 1
KNORR SETS > SN6/SN7/SK/NA7/ST7 TYPE > ST7 REPAIR SET MYCALIPER Number >> MY-200120

k:
11111111 09

m MYCALIPER NR DESCRIPTIONS .

1 MY-100108 CALIPER CALIBRATION BOLT

2 MY-100129 CALIPER ADJUSTING MECHANISM 1

3 MY-100131 CALIPER CHAIN (29 LINKS) 1

4 MY-100139-1 CALIPER GUIDES & SEALS REPAIR KIT 1

5 MY-100142 CALIPER BRIDGE ASSEMBLY 1

6 MY-100145 CALIPER COVER 1

7 MY-100120  CALIPERADJUSTING SHAFT (WITHOUTSPRING) 1

8 MY-100227-1 PISTONS & SEALS REPAIR KIT (869 mm) 1

9 MY-100269 CALIPER ROLLER BEARINGS 1

I" www.mycaliper.com



KNORR SERIES

KNORR SETS
ec
KNORR SETS > SM7 TYPE > AXOR SET (NEW MODEL) MYCALIPER Number >> MY-100857 g e
=3
[reses—
054 mm
— .
~as
07 02 G- 06! 03 i
m MYCALIPER NR DESCRIPTIONS
1 MY-100168 CALIPER CALIRATION BOLT 2
2 MY-100129 CALIPER ADJUSTING MECHANISM 1
3 MY-100131 CALIPER CHAIN (29 LINKS) 1
4 MY-100140 CALIPER GUIDES & SEALS REPAIR KIT 1
5 MY-100142 CALIPER BRIDGE ASSEMBLY 1
6  MY-100119 CALIPER COVER 1
7 MY-100120 CALIPER ADJUSTING SHAFT (WITHOUT SPRING) 1
8 MY-100161 PISTON & SEAL REPAIR KIT (669 mm) 1
9 MY-100809 CALIPER BEARINGS 1
KNORR SETS > AXOR SET (OLD MODEL) MYCALIPER Number >> MY-100137
- -
08 /oy
@ 4
o
@ @
05 02

06 04
laouran | s Tan

1 MY-100227 PISTON & SEALS REPAIR KIT (669 mm)

2 MY-100105 CALIPER ROLLER BEARINGS

3 MY-100136 CALIPER LEVER (ANGLE 12° - 123 mm)

4 MY-100131 CALIPER CHAIN (29 LINKS)

5 MY-100130 CALIPER ADJUSTING SHAFT (WITH SPRING)

6 MY-100129 CALIPER ADJUSTING MECHANISM

7 MY-100108 CALIPER CALIBRATION BOLT

8 MY-100132 CALIPER BRIDGE ASSEMBLY

-_ N e e e e e e

www.mycaliper.com "I



KNORR SERIES

KNORR SETS
ec i
l=°= i KNORR SETS > ACTROS SET (OLD MODEL) MYCALIPER Number >> MY-100137-1
=35
< - -
) . e
01
08 07
05 06 04 02
I T I
1 MY-100116 PISTON & SEALS REPAIR KIT (@ 74 mm) 1
2 MY-100105 CALIPER ROLLER BEARINGS 1
3 MY-100143 CALIPER LEVER (ANGLE 0°-126 mm) 1
4  MY-100131 CALIPER CHAIN (29 LINKS) 1
5  MY-100130 CALIPER ADJUSTING SHAFT (WITH SPRING) 1
6 MY-100129 CALIPER ADJUSTING MECHANISM 1
7 MY-100108 CALIPER CALIBRATION BOLT 2
8  MY-100141 CALIPER BRIDGE ASSEMBLY 1
KNORR SETS > ACTROS SET (NEW MODEL) MYCALIPER Number >> MY-100137-6
TV
08
05 02

06 04
laura| s

1  MY-100227 PISTON & SEALS REPAIR KIT (669 mm)

2 MY-100105 CALIPER ROLLER BEARINGS

3 MY-100143 CALIPER LEVER (ANGLE 0° - 126 mm)

4  MY-100131 CALIPER CHAIN (29 LINKS)

5 MY-100130 CALIPER ADJUSTING SHAFT (WITH SPRING)

6  MY-100129 CALIPER ADJUSTING MECHANISM

7  MY-100108 CALIPER CALIBRATION BOLT

8  MY-100141 CALIPER BRIDGE ASSEMBLY

B R N T )

I" www.mycaliper.com



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30
	Page 31
	Page 32
	Page 33
	Page 34
	Page 35
	Page 36
	Page 37
	Page 38
	Page 39
	Page 40
	Page 41
	Page 42
	Page 43
	Page 44
	Page 45
	Page 46
	Page 47
	Page 48
	Page 49
	Page 50
	Page 51
	Page 52
	Page 53
	Page 54
	Page 55
	Page 56
	Page 57
	Page 58
	Page 59
	Page 60
	Page 61
	Page 62
	Page 63
	Page 64
	Page 65
	Page 66
	Page 67
	Page 68
	Page 69
	Page 70
	Page 71
	Page 72
	Page 73
	Page 74
	Page 75
	Page 76
	Page 77
	Page 78
	Page 79
	Page 80
	Page 81
	Page 82
	Page 83
	Page 84
	Page 85
	Page 86
	Page 87
	Page 88
	Page 89
	Page 90
	Page 91
	Page 92
	Page 93
	Page 94
	Page 95
	Page 96
	Page 97
	Page 98
	Page 99
	Page 100
	Page 101
	Page 102
	Page 103
	Page 104
	Page 105
	Page 106
	Page 107
	Page 108
	Page 109
	Page 110
	Page 111
	Page 112
	Page 113
	Page 114
	Page 115
	Page 116
	Page 117
	Page 118
	Page 119
	Page 120
	Page 121
	Page 122
	Page 123
	Page 124
	Page 125
	Page 126
	Page 127
	Page 128
	Page 129
	Page 130
	Page 131
	Page 132
	Page 133
	Page 134
	Page 135
	Page 136
	Page 137
	Page 138
	Page 139
	Page 140
	Page 141
	Page 142
	Page 143
	Page 144
	Page 145
	Page 146
	Page 147
	Page 148
	Page 149
	Page 150
	Page 151
	Page 152
	Page 153
	Page 154
	Page 155
	Page 156
	Page 157
	Page 158

